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PREEAGE

Until the last few decades, playing games was restricted to man’s mind
or to the use of crude machines. Today, however, with the rapid
growth in the development and use of the computer, electronic games
have grown in popularity. Programming digital computers has made it
possible for us to enjoy complicated problem-solving activities as well
as many games that formerly, and in reality, required great skill and
many years of practice.

Computer game playing is commonly practiced in business, the aca-
demic field, and in homes throughout the world. The invention of mini-
computers and/or microcomputers has enabled many thousands of
people to enjoy the wonders of the digital computer. Playing computer
games helps you to learn the computer language, and it also gives you
more confidence in the use of the computer terminal.

Electronic teletype terminals and/or CRT screen units are used to
communicate with the computer. A programming language is used
along with the terminal. One such terminal language is BASIC. BASIC
was originally created at Dartmouth College in order to help students
use the computer. Today, BASIC is the most widely used time-sharing
language. This particular programming language is also very easy to
learn, and therefore it is well suited for computer games. Learning to
play computer games in the BASIC Language is a relatively simple
task, and programming into the computer can be accomplished without
any difficulty.

We believe that these computer games in the BASIC language will
be enjoyed by more and more people in the near future. The availability
of personal computers to businesses, schools, and homes is now here—
and at relatively inexpensive prices that seem to get lower all the time.
Our book, Computer Games for Business, School, and Home, fills a
need Victor and | knew existed, a need for a reference book containing
an excellent selection of popular and new, exciting games, as well as a
guide to BASIC programming. The games and sample runs were
authored by Victor, and the book was compiled and edited by myself.
We blended our talents to produce a book that we hope will bring you
hours of entertaining fun for many years to come.

William S. Hodges
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Description

Dr. James A. Naismith, an instructor at the International Young Men'’s
Christian Association Training School (now Springfield College) in
Springfield, Massachusetts, invented the game of basketball in 1891.
Dr. Naismith created the game, using two empty peach baskets as goals
and a soccer ball, in order to maintain the training school’s athletic
attendance in the winter months. Today basketball is enjoyed world-
wide by both men and women and boys and girls playing at many dif-
ferent levels of skill.

The following program is for a game of basketball between two
players using professional (American) rules. One player is from Los
Angeles and the other from Boston. The game is divided into 2 halves
of 24 minutes each with 12-minute quarters (periods). There are 10



offensive options and 3 movement options. The 10 offensive options
include: pass, dribble, spin, between the legs, jump shot, hook shot,
stuff shot, lay up, corner shot, and long bomb. The 3 movement op-
tions are: backward direction, no direction, and forward direction. The
game is won or lost by using the offensive and movement options stra-
tegically against the opponent. A time clock is used in the action of

the game to force the players to shoot within 24 seconds as done in pro-
fessional basketball.

Variable list

C = Boston’s variable rating

D = Los Angeles’s variable rating
E = Boston’s points

F = Los Angeles’s points

H = Minutes passed in quarter

I = Probability of making shot

)} = Number of turnovers

K =1 for Boston’s ball
2 for Los Angeles’s ball

P9 = Period of play
X = Option of move

Y = Direction of move
Z9 = Position of ball

Sample run
THIS IS5 A RASKETEALL GAME.,

OFTIONS?

1 Fagss

2 ORIRERLE

3 SPIN

4 RETWEEN THE LEGS
9 JUMF SHOT

é HOOK SHOT

7 STUFF SHOT

8 LAY UF

9 CORNER &SHOT

10 LONG ROME

TO TYFE IN OFTION, USE THE THE FOLLOWING FORMAT:
T XY

WHERE X IS THE OFTION NUMEER AND
Y STANDS FOR THE FOLLOWING!:

=1 FOR RACKWARD DIRECTION

O FOR NO LIRECTION
1 FOR FORWARD DIRECTION

2



LOS ANGELES S BaALL

CLOCK 22 BECSE.

Tiyl

BEaLL NEAR THEIR TOF OF KEY
CLOCK 9 SECS.

Tlsl

BALL NEAR THEIR TAKE 0OUT LINE
CLOCK 16 SECS.

TRyl

YOu MISSED

BFOSTONS RALL

CLOCK 3 SECS.
SN

BALL NEAR YOUR TOF OF KEY
CLOCK 9 SECS.

?1vil

EALL NEAR THEIR TOF OF KEY
CLOCK 13 SECS.

Pyl

BALL NEAR THEIR FOUL LINE
CLLOCK 15 SECS.

Ty 1

TWO FOINTS

FERIOD: 1
TIME: 1 ¢ 1

GCORE?  ROSTON - 2 LOS ANGELES - 0
.05 ANGELES'S RALL

CLOCK 3 SECS.

Tivl

BALL NEAR THE CENTER OF THE COURT
CLOCK 8 SECS.

Plyl

pALL NEAR THEIR FOUL LINE

CLOCK 10 S5ECS.

Pyl

TWO FOINTS

FERIOD: 1
TIME: 13 21

SCORE:  BOSTON - 2 LOS ANGELES - 2
BOSTON'S BALL

CLOCK & BECS.

Tlel

Ball NEAR THE CENTER OF THE COURT
CLOCK 13 B3ECS.

Tlrel

BALL NEAR THEIR FOUL LINE

CLOCK 19 SECS.

Phyl

TWO FOINTS

FERIOD: 1
TIinE: R A

SCORE:  EROSTON — 4 1.0S ANGELES - 2

.08 ANGELES‘S EALL




CLOCK & SECS.

Fdvl

Eal.l NEAR YOUR TOF OF KEY

CLOCK 12 SBECS.,

Tl

Ball NEAR THE CENTER OF THE COURT
CLOCK 19 SECS.

PRyl

Ball. NEAR THEIR TOF OF KEY
CLOCK 21 SECS.

TRl

Ball NEAR THEIR FOUL LINE
CLOCK 28 SECS.

BOSTON'S EBALL

CLOCK § SECS.

Tlyl

OUT OF BOUNDS

LOS ANGELES’S RALL

CLOCK 4 SECS.
Phel

FOULy TWO SHOTS
IT 8 RAD

ITes GOOn

FERTOIG 1
TIME: 3% 13

SCORES  ROSTON - 4 LOS ANGELES

ROSTON'S RALL

CLOCK 4 SECS.

T2yl

Bald. NEAR YOUR TOF OF KEY

CLOCK 10 SECS.

?10v1

HAVINY TOO MUCH TO DRINK?T TRY AGAIN
CLOCK 10 SECS.

P10

BALL NEAR THE CENTER OF THE COURT
CLOCK 16 SECS.

Tl

BaLL NEAR THEIR TOP OF KEY

CLOCK 23 SECS.

P10 1

YOU MISSED

1.OS ANGELES’S BalL

CLOCK & SECS.

T2yl

EBALL NEAR YOUR FOUL LINE

CLOCK 9 SECS.

Flel

Ball. NEAR THE CENTER OF THE COURT
CLOCK 12 8ECS.

?10v1

HAVINY TOOD MUCH TO DRINKT? TRY AGAIN
CLOCK 12 SECS.

Tilvl

Fall., NEAR THEIR FOUL LINE

CLOCK 16 SECS.

PGl

TWO FDINTS



FERIOD: 1
TIME: 4 © 31

SCORES  BOSTON -~ 4 LOS ANGELES - 3
ROSTON’S BALL

CLOCK & SECS.
7

o Y - - - -

Program listing

98 CLG

1@ PRINT:PRINT

11@ PRINT "THIS I8 A BASKETBALL GAME. ":PRINT

128 I=-1

3P PRINT "OPTIONS:":PRINT

147 PRINT 1, "PASS":PRINT Z, "DRIBBLE":PRINT Z, "SPIN®
150 PRINT 4. "BETWEEN THE LEGS":PRINT S, "JUMP SHOT":PRINT &, "HOOK SHOTY
1ER PRINT 7, "STUFF SHOT":PRINT &, "LAY UP":PRINT 3, "CORNER SHOT"
17® PRINT 1@."LONG BOMB"

120 PRINT:PRINT "HIT ENTER TO CONTINUE"::® INPUT A
i85 CLS

19@ PRINT “TO TYPE IN OPTION USE THE FOLLOWING FORMAT:":PRINT
0@ PRINT "2 X, Y":PRINT:PRINT "WHERE X IS THE OPTION NUMEER AND"
21@ PRINT "Y STANDS FOR THE FOLLOWING:":PRINT

3@ PRINT “—1 FOR BACKWARD DIRECTIONY

3@ PRINT “@ FOR NO DIRECTION®

4@ PRINT "1 FOR FORWARD DIRECTION®

5@ PRINT:PRINT

255 PRINT “HIT —ENTER- TO START"::INPUT A

257 COLS

TE@ C=(2+RNDCD) ¥ +2Z:D=C(2+RND (@) 3 +2

270 PRINT:PRINT:H=0

2580 K=INT(Z+(RND(B)I+1)

790 IF G=0 THEN Z00

295 H=H+ (G2 /BD) 1 G=0

@B IF K=1 THEN 310

IS K=1:060T0O 220

310 K=2Z

kY IF K=1 THEN 330

PRINT "LOS ANGELES’S BALL":GOTO 240

PRINT "BOSTON'S BALL"

PRINT

IF H{1Z THEN 408

P9=P9+1

IF P3=1 THEN 370

. IF P9=2 THEN 3E0

3 IF P9=3 THEN 390

IE7 GOTO 1498

I7@ PRINT:PRINT "FIRST QUARTER IS OVER!'":GOTO 270
ZE@ PRINT:PRINT "HALF TIME!":GOTO =70

Z9® PRINT:PRINT "THIRD QUARTER IS OVER!":GOTO =270
400 REM MAIN SEQ.

418 C=G+INT (E+RNDCDI I +2

470 PRINT "CLOCK "3Gs" SECS. ":IF G(24 THEN 425

42% GOTO 290

425 INPUT X Y




IF X=INT(X) THEN 435
» GOTO 610
IF Y=INTC(Y) THEN 440
437 GOTO 619
44@ IF X{(1 THEN E10
445 IF Y<{-1 THEN £10
438 IF X> 18 THEN &1@
455 IF Y>1 THEN &10
4E@ ON X GOTO 43@.490,518, 510, 530, 550, 570, 5908, 5508
4980 IF RNDCB) (. Q25 THEN &30
S@@ GOTD 930
51@ IF RNDC(B) K. P25 THEN EID
S2@ G0To =68
D30 IF RNDC@I (.1 THEN 1110
4@ GOTD 1270
550 IF RNDC@X{1/15 THEN 1110
SE@ GOTD 548
7@ IF RNDCBX .2 THEN 1110
580 GOTO 548
538 IF RNDB> (1/25 THEN 1118
0@ GOTD S48
E1@ PRINT "WHAT DO YOU THINK YOU ARE, A GLOBETROTTER OR SOMETHING?"
£20 GOTO 420
EIQ IF X=1 THEN E£E7@
35 IF X=4 THEN E70
E4@ IF RNDC@3{1/7 THEN 31@
ES@ IF RNDC@(1/15 THEN 2590
EE@ IF RMDCB){(.1 THEN 270
6780 PRINT "FOUL. ONE SHOT":I=X
680 IF K=1 THEN 700
690 N=D/35:0607T0 7.@
708 N=C/5
710 IF RNDC@I)N THEN 220
728 PRINT "IT'S GDODM
7I8 IF K=1 THEN 75@
748 F=F+1:607T0 760
758 E=E+1
760 H=H+ (G2 /EDY :G=B: IF HY 12 THEN 7E5
7ET GOTD 770

763 H=12

778 PRINT:MO=INTC(H) :89=INT ((H~MI)+E0)

78@ PRINT "PERIOD: "sPO+1:PRINT "TIME: "3M3;":";59

790 PRINT:PRINT “SCORE:  BOSTON ——— "3E, "L05 ANGELES ~-— "3iF
S0 PRINT

218 I=-1

28 GOTO 299

S3@ PRINT "NO GCOD™

o4 IF RNDC@IY .5 THEN B&E8

2580 I=3:G60T0 960

260 I=-2:G0TO =30

S70 PRINT "OFFENSIVE FOUL":J=J+1
580 GOTO 7e@

S598 PRINT "CARRYING PENALTY":J=J+1
300 GOTOo 780

918 PRINT "TRAVELING PENALTY":J=J+1
320 GOTO 760

3I0 I=I+80NCY}

340 IF X=1 THEN 945

34% GOTO SEO

89435 I=I+1:IF SGN(Y)=—1 THEN 950
947 GOTD S0

358 I=I-1

Q6@ IF I<(-3 THEN 1012

963 IF IDT THEN 1012

978 PRINT “BALL NEAR "3

380 I9=I+4

990 ON ZI9 GOTO 1040, 1050, 100, 1070, 1020, 1030, 1100



PRINT “0OUT OF BOUNDS":J=J+1

I=1

GOTO 298

PRINT "YOUR TAKE QUT LINE":GOTO 410
PRINT "YDOUR FDUL LINE":G0DTO 410
PRINT “YDUR TOP OF KEY":G0TO 410
PRINT "THE CENTER OF THE COURT":GOTO 410
PRINT "THEIR TOP OF KEY":GOTO 410
PRINT “THEIR FOUL LINE":G60TO 410
PRINT "THEIR TAKE OUT LINE":GOTO 410
IF RNDC@3Y.EBE7 THEN 1130

I=%:G0T0 1140

I=2

PRINT “FDUL. TWO SHOTS"

FOR P=1 TO 2

IF K=1 THEN 1180

N=D/S5:G0T0O 1198

N=C/5

I RNDC@)>N THEN 1280

PRINT *1IT’S5 GOOD"

IF K=1 THEN 1230

F=F+1:G0T0 1240

E=E+1

NEXT P

GOTD 760

PRINT "IT’S BAD":GOTO 1240

P=23

IF 141 THEN 1283

. GOTO 1290

IF 12-H)1 THEN 1370
IF X=1 THE 1295

. GOTO 1200

5 Q=¢(IHRNDC@Y )+23/5:60T0 1390

IF X=E THEN 1305

L GOTO 1310

D= I+RND (@) +2) /636070 1390
IF X=7 THEN 1313

. GOTO 1328

O=CI+RND (@Y +22 /2:60T0 1390

IF X=8 THEN 1325

GOTO 134@

IF I=1 THEN 1ZZ0
O=INT¢I+RNDC@Y+22 /4:G0TO 1390
O=RND(®) :G0T0O 1390

IF X=9 BOTO 1345

. GOTO 1360
; IF I=2 THEN 1358

f=0:60T0 1390

D= (Z+RND (@3 /3:60TO 1330

Q= I+RNDCBY+23 /7:60T0 13390

PRINT "HAVIN' TOO MUCH TO DRINK?", "TRY AGAIN..."
GOTO 42@

IF RND(B2 (8 THEN 1478

PRINT "YOU MISSED"

IF RND(@>» (.75 THEN 14&£0

PRINT "YOU GDT THE REROUND BRCK!"
I=P:IF K=1 THEN 1440

K=1:060T0 14358

K=2

GOTO 290

I=-P:GOTO 256

PRINT "TWO POINTS":GOTD 157@
I=—-P:GOTO0D 290

PRINT:PRINT:PRINT:PRINT "THE GAME IS5 OVER ! ! !'":PRINT
PRINT “FINAL SCORE: ROSTON —-—— "3E. " LOS ANGELES --— "iF
PRINT

IF FYE THEN 1550



1525 IF F{E THEN 1242

15Z@ PRINT "OVERTIME! V:H=7:00T0 2BQ

1540 PRINT "BOSTON WONP":GOTO 1SE2

1558 PRINT "LOS ANGELES WON'®

iSED PRINT:PRINT “NUMBER OF TURNOVERS IN THE GAME WAS ":1J3END
1978 IF R=1 THEN 1388

1575 F=F+1:G070 1598

1588 E=E+1

L5982 G0TO 730

608 £ND
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Physical cycle
———— Sensitive (emotional) cycle
------- Cognitive {intellectual) cycle

Description

This program describes your daily biorhythmic behavioral patterns
throughout the year.

Biorhythm is the rhythmic course of the life process of organisms.
There are indications that the life of an individual moves in physical
phases of 23 days that include basic bodily functions and the sense of
physical fitness; in sensitive (emotional) phases of 28 days that include
mental health, creativity, and mood; and in cognitive (intellectual)
phases of 33 days that regulate alertness, memory, and receptivity to
knowledge. In other words, everyone biologically has periods of high
and low peaks in their everyday experiences.

The median (zero) line of the graph is when you have the most acci-
dents. The high ( + ) periods are when you have the most energy, and
the low ( - ) periods are regarded as periods when you should recu-
perate.

The program also is geared so that you may choose the number of
days you want to know your biorhythmic patterns. And as an added
feature, the day you were born is printed along with the number of
days that have passed to the present date.

Program notes

You should note that line 1040 jumps to itself. This is done so that you
can roll up the paper and tear it accordingly in order to make individual
copies of your biorhythmic pattern.

Variable list

A( ) = Cumulative number of days at the end of the month
C5 = Location to cognitive cycle



D9 = Number of days to graph
D( ) = Number of days in each month
J1 = Current day that’s printing
M1, D1, Y2 = Birthdate (month, day, year)
M2, D2, Y3 = Today’s date (month, day, year)
M9 = Current month that’s printing
N( ) = Person’s name
P5 = Location to print physical cycle
S5 = Location to print sensitivity cycle
V = Number of days since birthdate
Y9 = Current year that’s printing

Sample run

ENTER TODAY'S UATE? (MMyDDsYYYY)P4r191978
ENTER BIRTHOATE? (MMsLDyYYYY)7?4y12y1954
ENTER NAME?T JOHN G. DOE

HOW MANY DAYS TO GRAPHT C(ALIGN PAPER. HIT ENTER} P13
THE MEDIAN LINE (0) I8 YOUR CRITICAL FOINT AND IS
WHEN MOST ACCIDENTS OCCUR. THE HIGH PERIODS (+) ARE

WHEN YOU HAVE THE MOST ENERGY AND THE LOW FERIODS ()
ARE REGARDED AS RECUFERATIVE FERIODS.

GRAFH GYMEOLS:

It MEDIAN LINE 0 LINE)
3  FHYSICAL CYCLE (23-0AY)
81 SENSITIVITY CYCLE  (28-DAY)
¢ COGNITIVE CYCLE (33-DAY)

YOUR BIRTHOAY IS APRIL 12 1904
IT WAS A MONDAY AND QCCURRED 8755 DAYS ( 23.98 YEARS) AGO.

HERE IS THE GRAFH FOR JOHN G. DOE STARTING AT AFRIL 1 1978
AND ENDING AT AFRIL 135 1978

ODATE =) o))
SAT AFR 1 1978 § F I
SGUN aAPFR 2 1978 SF I c
MON AFR 3 1978 sk I c
TUE AFR 4 1978 F I C
WEDN AFR 5 1978 SF I C
THU AFR & 1978 SF I C
FRI AFR 7 1978 S5 F Ic
SAT AFR B 1978 5 F C1
SUN AFR 9 1978 s F
MON  AFR 10 1978 G 8 5
TUE AFR 11 1978 C I 8 F

10



WED
THLU
FRI
SaT

Xk HAPPY 24 BIRTHRAY XX

AFR 12 1978 G I 5 f

AR 13 1978 ( I ] F
AalRR 14 1978 G I S F
AFR 1% 1978 G I sk

- - -

Program listing

RIORYT

30 CLS

100
11@
128
10
140
150
160
160

S

REM  JUN-2/10/76-VER 1.9
DIM AC12). D012, NC2S)

FOR I=1 TO 1Z:READ ACIJIINEXT I

FOR I=1 TO 1Z:READ DC(I):NEXT I

DATA @, 31, 59, 9@, 120, 151, 181, 212, 243, 273, 304, 374
DATA 31,28, 31,30, 31,30, 31, 31, 30, 31, 3@, 31
P=E. 28318

PRINT "ENTER TODAY’S DATE... (MM,DD,YYYY) “3:INPUT M,D,Y
M2=M: DZ=D:YI=Y

Y5=

GOSUE 00

Z=T

PRINT "ENTER EIRTHDATE... (MM, DD, YYYY) “35:INPUT M,D,Y
Mi=M:D1=D2YZ2=Y

GOSUE 200

y=T-7

V=AES (V)

PRINT "ENTER NAME"3:INPUT W

GOTO 4E@

Yi=Y-1200

PI=INTCY1/4)

O2=INT(R1/25)

EI=INT((Y1+200) /400)

K=0

IF Qiw4=Y1 THEN 360

GOTO 390

IF Q2#10@=Y1 THEN 370

GOTD 390

IF Q3I+4P@-200=Y1 THEN 380

GOTO 390

K=1

T=IESHY 1 +01-RE+RT-K

T=T+A(M)+D-1

IF M(I THEN 430

T=T+K

IF INT(Y1/4)=Y1/4 THEN 440

GOTO 4E@

IF M)Z THEN 460

T=T-1

J=T-7#INT(T/7)

RETURN

N(X) =0

PRINT : PRINT

PRINT "HOW MANY DAYS TO GRAPH? CARLIGN PAPER, HIT ENTERX "3

11



310
328
927
330
340
350

12

INPUT DY:PRINT:PRINT

CLs

PRINT "THE MEDIAN LINE (@) IS YDUR CRITICAL POINT AND IS"
PRINT "WHEN MOST ACCIDENTS OCCUR. THE HIGH PERIODS (+3 ARE"
PRINT “"WHEN YOU HAVE THE MOST ENERGY AND THE LOW PERIODS (-2°
PRINT "ARE REGARDED AS RECUPERATIVE PERIODS. ™

PRINT:PRINT

PRINT "GRAPHIC SYMBOLS:"::PRINT

PRINT "I: MEDIAN LINE (@ LINE2"

PRINT "P: PHYSICAL CYCLE C23-DRYI™

PRINT "S: SENSITIVITY CYCLE CZ2B-DAYXM ’

PRINT "C: COGNITIVE CYCLE CIE-DAYI"
PRINT:PRINT:PRINT "HIT ~ENTER~ TO CONTINUE..."s5:INPUT W
CLS

PRINT "YDUR BIRTHDAY IS *3;:A3=M1:G0SUEB 1@50:PRINT DIsYZ
PRINT "IT WAS A "3;:B9=J+1:0G0SUR 117@

PRINT " AND DCCURRED:V:" DAYS ("3 INTOV/ZES #1003 /1085" YEARS)
PRINT

PRINT "HERE IS THE GRAPH FOR "3W$

PRINT "START AT "3 :09=MIZ:G0SUE 1@85@0:PRINT DIsY3
PRINT "AND ENDED AT "3

MO=M2:DE=DZ+DS8~-1:Y9=YZ

IF M3 12 THEN 715

GOTO 720

MO=1:Y9=Y3+1

IF M3=2 THEN 738

GOTO 740

IF INTCY3/743=¥Y3/74 THEN 735

GOT0 740

W=1

IF DE)DCMIN+K THEN 750

GOTO 770

DE=DE~-(DIMII+KI iMI=MI+1 1 K=0

GOTO 718

A9=M3:GOSUR 1@05@:PRINT DE3YS

PRINT:PRINT:zPRINT "HIT —ENTER- TO START GRAPH..."s:INPUT W
cLe

PRINT TRBC7313"DATE";TARCZE) s (1" 3TRARBC4AZ) 3" (@I "5
PRINT TRECELI ;" (+3"

PRINT

JI=V+J: J1=J1-7+INTCJ1 /73 :DE=DE~-1: J1=J1~1:V=V-11K=0
FOR I=1 TO D9:V=V+1:D2=Dx+1:J1=J1+1:IF Mz=2 THEN 540
GOTO =50

IF INTCYZ/40=YZ/4 THEN B45

GOTo 85

K=1

IF DZXDCMEI+K THEN BE2

GOTD 870

Mz=MZ+1:D2=

IF Ji1«(7 THEN 588

Ji=0

IF M2>12 THEN €30

GOTD S0.

PRINT:PRINT TAB(IZ) 3 "4+ HAPPY NEW YEAR ##" iPRINT:MZ=1:1Y3I=YI+1
IF Ji1+1=3 THEN 905

GOTD Sz0

IF Dz=13 THEN 208

GOTO 3z0

PRINT:PRINT TRB(2233

PRINT "s## BEWARE ' ! FRIDAY THE THIRTEENTH #:#":iPRINT
IF Mz=Mi THEN 925

GOTOD 240

IF D2=D1 THEN 3Z@

GOTO 240

PRINT*PRINT TABCIZE) ;s HAPPY"iABS(YI~YZ) s "BIRTHDAY ##" :PRINT
E9=J1+1:608UB 1368
PRINT " "5:C39=MZ:GOSBUR 1Z4B:PRINT DZ3Y3s

AGO. M



X=2Z:G0SUR 1430:PS=X:X=28:0608UR 143Z0:85=X:X=2Z2:0505UB 1438:C5=X

N=@:FOR L=19 TO &5:PRINT TABCL);
IF PS=L THEN 983

. GOTD 990

PRINT "P":;:G0TO 1020
IF 85=L THEN 383
GOTO 1020

PRINT "S§%3:00T0 1028
IF CS=L THEN 1283

. GOTO 1810

PRINT *C"3:G0T0O 1028
IF 44=L THEN 1815

w GOTO 1930

PRINT "I";
N=N+13:IF M=4 THEN 1025

'z GOTO 1030

L=10@

NEXT LiPRINTINEXT I

GOTO 1040

IF A9=1 THEN PRINT "JANUARY"j;:RETURN
IF A9=2 THEN PRINT "FEBRUARY"3 :RETURN
IF A9=3 THEN PRINT "MARCH"j;:RETURN

IF AY9=4 THEN PRINT “APRIL"$:RETURN

IF A9=5 THEN PRINT "MAY"35:RETURN

IF A9=K THEN PRINT "JUNE"3;:RETURN

IF A9=7 THEN PRINT "JULY"3;:RETURN

IF AS=2 THEN PRINT "AUGBUST"j;:RETURN
IF A9=9 THEN PRINT "SEPTEMBER"j;:RETURN
IF A9=1@ THEN PRINT "OCTOBRER"::RETURN
IF A9=11 THEN PRINT "NOVEMEBER" ::RETURN
PRINT "DECEMBER": :RETURN

IF B3=1 THENM PRINT "WEDNESDAY"::RETURN
IF EBE9=2 THEM PRINT “THURSDAY":; :RETURN
IF B9=3 THEN PRINT "“FRIDAY'"::RETURN
IF B9=4 THEN PRINT "SATURDAY"; :RETURN
IF E9=5 THEN PRINT "SUNDAY"s:RETURN
IF B9=& THEN PRINT “MONDAY":;:RETURN
FRINT "TUESDAY"::RETURN

C9=1 THEN PRINT “JAN"3::RETURN

C9=2 THEN PRINT "FER"3:RETURN

C9=7 THEN PRINT "MAR"3;:RETURN

C9=4 THEN PRINT "APR"3:RETURN

C9=5 THEN PRINT "MAY"3:RETURN

CO=E THEN PRINT “JUN"3:RETURN

C9=7 THEN PRINT "JUL"3::RETURN

C9=8 THEN PRINT "AUG"3:RETURN

C9=9 THEN PRINT "SEP"3;:RETURN
C9=10 THEN PRINT “0CT"3:RETURN
C9=11 THEN PRINT "NOV"3:RETURN
PRINT “DEC"3:RETURN

IF E3=1 THEN PRINT "WED"::RETURN

IF E9=2 THEN PRINT "THU"3 :RETURN

IF ES=3 THEN PRINT "FRI"3;:RETURN

IF E9=4 THEN PRINT "SAT"::RETURM

IF E9=3 THEN PRINT "SUN"3;:RETURN

IF E9=E THENM PRINT “MOM"j;:RETURN
PRINT “TUE"::RETURN
X=INT(SINCOV/X-INT (/X0 3Pyl Er+44
RETURN

END
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Description

Try testing “Lady Luck’ with this game! This program simulates a Las
Vegas version of the card game of Blackjack. As many as 4 people can
play Blackjack against a casino dealer (the computer). You each can bet
what you want. All rules of Las Vegas Blackjack are programmed into
this game. For example, the dealer deals 2 cards to each player. The
first card is dealt face down; the second card is dealt face up. Finally
the dealer deals 2 cards to himself in the same fashion. The cards dealt
face down are called hole cards. These cards should never be seen by
the opposition (the dealer and the other players).

A hand consisting of 2 cards, one of which is an Ace and the other
a Ten, is a Blackjack (or a Natural). Face cards (King, Queen, and Jack)
also count as 10 and can be used to obtain a Blackjack with an Ace.
The ace counts as either a 1 or an 11. Obviously, a Blackjack has a
numerical value of 21.

When the dealer’s up card is an Ace or a Ten, he immediately must
inspect his hole card. If the value of his hand is 21, then he turns his
hole card up. If the dealer’s hand is 17 or more, then he is required by
the rules of the game to stand. The dealer has to draw a card (called a
hit) if his hand totals 16 or less.

A player may decide to double down. Double downing occurs when



the initial bet is doubled by adding an equal amount which is placed to
the left or right of the initial bet. The hole card is placed on the table in
front of the bet, face up. You then get 1 more card, face down; there-
fore, you create a 3-card hand. The next move is to compare the total
of your hand with the value of the dealer’s hand. A player should not
double on any hand (total cards) whose value exceeds 11. A card hand
totaling 11 is a good hand to double down on.

When a player sp/its a hand, he has been dealt his first 2 cards of the
same count (value). He turns both face up. One card is dealt, face down,
on each of the 2 cards. The player now has 2 card hands to play and
bet on. The hand on the player’s right should be played first. You can-
not double down on splits, and if you split Aces you are allowed only 1
card per hand.

The dealer will ask for an insurance bet when he shows an Ace. It
should be ¥ of your original bet. Insurance pays 1 to 1 if you win. If
you get Blackjack then insurance pays 1-1/2 to 1.

Blackjack probability table

Total
2-card number of Odds
total Combinations combinations % (hands)

21 Ace + 10 64 4.8 1in 21

20 10+ 10 136 10.2 1in 10
9 + Ace

19 10+9 80 6.0 1in17
Ace + 8

18 10 +8 86 6.5 Tin15
9+9
Ace +7

17 10+7 96 7.2 Tin14
9+38
Ace + 6

16 10+6 86 6.5 1in15
9+7
8§+8

15 10+5 96 7.2 1in 13
9+6
8+7

14 10+4 102 7.7 1in13
9+5
8§+6
7+7

13 10+ 3 112 8.4 Tin12
9+4
8+5
7+6
12 10+2 118 8.9 1in11
9+3
8§ +4
7+5
6+6

15
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Blackjack probability table {continued)

Total
2-card number of Odd's
total Combinations combinations % (hands)
11 9+2 64 4.8 Tin 21
8§ +3
7+4
6+5
10 8+2 54 4.1 1in 25
7+3
6+4
5+5
9 7+2 48 3.7 1in 27
6+3
5+4
8 6 +2 38 2.9 1in 35
5+3
4 +4
7 5+2 32 24 1in 41
4+3
6 Ace + 5 38 2.9 1in 35
4 +2
3+3
5 Ace + 4 32 2.4 1in 41
342
4 Ace + 3 22 1.7 1in 60
2+2
Ace + 2 16 1.2 1in 83
2 Ace + Ace 6 5 1in 221
Variable list

A() = Amount of aces in hand
A(T1,) = Regular hand
A(2,) = Split hand

B( ) = Bet for each hand
B(1, ) = Regular hand
B(2, ) = Split hand

K() = 0 = Person can’t split
1 = Person can split

M( } = Amount of money owned by each person

Q = Number of player’s
S = Hand being used

S(S,C) = 0 = Card hasn’t been used

1 = Card has been used
Where S is suit number
C is card number



T( ) = Total points in each person’s hand

T(1,) = Regular hand
T(2,) = Split hand

Sample run

THIS IS & FOUR PLAYER BLACKJACK GAME.
HOW MANY WISH TO FLAYT4

FERSON 1 HAS
FERSON 2 HAS
FERSON 3 HAS
FERSON 4 HAS

@ B BB
OO

CARDS ARE RESHUFFLED.

FERSON 1 WHAT 18 YOUR BET7T10
FERSON 2 WHAT IS5 YOUR BETT14
FERSON 3 WHAT IS YOUR ERETTYH
FERSON 4 WHAT IS YOUR BET7?17
kK FERSON 1

FIRST CARD IS 3 OF DIAMONDS
SECOND CARD IS QUEEN OF CLUES

*k%x PERSON 2

FIRST CARD IS5 ACE OF SFADES
SECOND CaRD I3 3 OF SFADES

X%k FERSON 3

FIRST CARD I8 ACE OF DIAMONDS
SECOND CARD IS QUEEN OF DIAMONDS

¥k FERSON 4

FIRST CARD IS & OF SFADES
GECOND CARD IS 4 OF DIAMONDS

*kkkk DEALER SHOWS 5 OF SFADES

*kk FPERSON 1

YOUR TOTAL IS 13
OOUBLE~DOWNT (1 FOR YES)7TO
HIT?® (1 FOR YES)7?)

YOU FICKED THE 2 OF SPADES
YOUR TOTAL I8 15

HIT?® (1 FOR YESITO

YOUR TOTAL IS5 15

17



kX FPERSON 2

YOUR TOTAL IS 14

LDOUBLE-DOWNT (1 FOR YES)?PO
HIT? (1 FOR YES)7?1

YOU FICKED THE & OF DIAMONDS
YOUR TOTAL IS 20

HIT? (1 FOR YES)?O

YOUR TOTAL IS 20

¥k PERSON 3

YOUR TOTAL IS 21

kK YOU HAVE RLACKJACK! XXX

3kk FERSON 4

YOUR TOTAL IS 10

DOUBLE-DOWN? (1 FOR YES)TL

YOUR DOUBLE-DOWN CARD IS 5 OF HEARTS
YOUR TOTAL IS 15

DEALER HAD & 2 OF CLURS IN THE HOLE.
LDEALER FICKED A 8 OF HEARTS
DEALER FICKED A 2 OF DIAMONDS

THE DEALERS TOTAL IS 24

FERGON 1 WON % 10
FERSON 2 WON ¢ 14
FERSON 3 WON ¢ 12
FERSON 4 WON $ 34

ANOTHER GaAME?T (1 FOR YES)TO

FERGON WINNINGS

1 $ 10

2 ¢ 14

3 $ 12

4 34
DEALER $-70
REAIY .

Lo O O T O o O L

Program listing

BLACK.)

100 DIM SC4, 130, KA, TR, 51, ACZ, 5), B2, 43, MC4D
185 CLS
118 PRINT:PRINT

18



128 PRINT ®"THIS I A FOUR PLAYER BLACKJACK GAME. "

1720 C=5Z2:PRINT "HOW MANY WISH TO PLAY";:INPUT &

PRINT:PRINT

CLS

FOR I=1 TO Q:PRINT "PERSBON "3I:" HAS $"sMCIX:NEXT I
PRINT:IF C{S1-C(Q+12+5) THEN 178 ELSE GOSUER 1298

FOR I=1 TO 5:FO0OR 5=1 TO 2

T(S, I1=0:ACE, I3=0B:NEXT S:NEXT I

S§=1:FOR I=1 TO Q&

PRINT "PERSON ":Is" WHAT IS YOUR BET":;:INPUT BC1,I3

BCZ, Td=0:NEXT I:F0OR W=1 TO 730:NEXT W:CLS

FOR I=1 TO @

PRINT "s#sox PERSOMN “5I:PRINT

PRINT "FIRST CARD IS ";:0GOSUEB 1120

GOSUE 11406:0508UR 1130: PRINT

Yi=Y:G0OS5UR 1270

PRINT "SECOND CARD IS ";:00SUB 11320

GOSUR 114B:05605UB 1130:PRINT:PRINT:PRINT "HIT —ENTER- TO CONTINUE"::INPUT W
S5 CLS

K(I»=0:1IF Yi=Y THEN K{(I)=1 ELSE Z2@

GOSUB 12Z@::NEXT I

GOSUR 1120:=X2=X:Yz=Y:I=5:008UR 1238

PRINT fehshopy "3

GOSUE 112@:PRINT "DEALER SHOWS "::G0SUB 1148

GOSUR 1190:G0SURB 1Z2ZB8:PRINT:=PRINT

IF vy=11 THEN ZE@

IF T¢i,5»=21 THEN 418 ELSE 470

PRINT "INSURANCE? (1 FOR YESI"3:INPUT B:IF B=0 THEN 400
PRINT "PERSON NUMBER? (B TO STOP)"3:sINPUT B

IF B=0 THEN 408 ELSE PRINT "PERSON "3B3", HOW MUCH DD YOU BET"S
INPUT B(Z,B):IF BCZ,RBI(D THEN ZBQ ELBE Z70

IF TC1,5r=21 THEN PRINT ELSE 458

PRINT "s#«#¢ DEALER HAS BLACKJIACK! #ekw" 3 PRINT

PRINT:FOR I=1 TO @:IF B(Z,I32=0 THEN 440

470 BCL, I3=BC1, I3—(BCZ, T1+2)

440 NEXT 1:0G07TD 2RO

450 PRINT:PRINT “DEALER DOESN’T HAVE BLACKJIACK. ":PRINT

460 FOR I=1 TO QeMCId=MCId»-BCZ, TOSNEXT I

470 B=@Q:D=0:FOR I=1 TO G:PRINT:PRINT ‘s PERSON "351I

480 PRINT:L39=1

49@ IF K(Iy=@ THENM £18 ELSE PRINT "DO YDU WANT TO SPLIT? (1 FOR YES)»";
S0 INPUT LE:IF LE=@ THEN 1@ ELSE B(Z, Ii=RB(1, I

51i@ IF T(1,Ix=12 THEN 3515 ELSE 550

515 IF ACl,I»=0 THEN 550

S20 TCl,I0=11:TcC2, Ta=11

530 FOR S8=1 TO Z:PRINT:GOSUBR 112@:PRINT “"HAND "3&sY" PICKED A "3
5S40 GOSUR 1140:005UF 119@:PRINT:G05UR 1230:NEXT S:PRINT:GOTO 770
550 TCl,I3=TC1, I3/2:T(2,13=TC1l,12:FOR S=1 TO 2

S0 GOSUEB 112@:PRINT "HAND "3&3" PICKED A "3:0605UB 1148:0G05UR 11908
570 GOSUB 1Z2ZQ:PRINT ¢ TOTAL IS "3T(S, I3:IF T(5, 1320 THEN B0
580 IF D9=1 THEN EQQ@ ELSE PRINT "HIT? <1 FOR YES)"3

590 INPUT LE:IF LE=1 THEN StB

EQ@ PRINT:NEXT 5:050T0 770

E1® S=1:PRINT "YDOUR TOTAL I5 "sT(l,I3:IF L9=1 THEN 620 ELSE 700
EZ0 IF T(S, Iy»=21 THEN PRINT ELSE &S0

B30 PRINT "#e YOU HAVE BLACKJACK! ##"1PRINT

B4D EBCS, [1=B(5, I3+(B(S, I3 /23:T(5, I3=—1:0G0TO 778

E5@ PRINT "DOUBLE-DOWN? (1 FOR YEGS)»Y:

EE@ INPUT LE:IF LE=1 THEN PRINT ELSE 700

&78 PRINT "YOUR DOUBLE DOWM CARD IS5 "3

&80 GOSUR 1120:G0OS5UR 1148:G0SUB 119B:0608UB 1230

E90 PRINT:BCZ, I)=R(S5, I222:G60T0 750

708 PRINT "HIT? (1 FOR YES>X>"3:INPUT L7

71@ IF L7=1 THEN PRINT ELSE 75@

728 GODSUR 1120:PRINT "YOU PICKED THE "3:0G08SUBR 1140

7I0 GOSUR 1130:GOSUBR 1270:L5=0

748 PRINT:IF T(S, I»<{2i THEN E18

7350 PRINT:PRINT “YOUR TOTARL IS "s3T(i.1I2

19



76@ IF T(85, I){2k THEN 77@ ELSE B=B+1

77@ PRINT:PRINT "HIT —~ENTER- TO CONTINUE"S:INPUT W
775 CLB:NEXT I:PRINT

780 X=X2:Y=YZ:PRINT "DEALER HRAD A "3

738 GOSUE 114@:GOSUR 1198:PRINT * IN THE HOLE."
800 S5=1:1=5:1IF T(S, I3 1E THEN 850
8180 IF D+GE=RE THEN 850
=20 GOSUR 112@:PRINT “DEALER PICKED A "3
830 GOSUR 1148:G0SUER 1190:GOSUE 1270
S4B PRINT:GOTO =00
850 PRINT:PRINT “THE DEALERS TOTAL IS "sT(5,I)
SEl PRINT:PRINT

78 FOR I=1 TO Q:FOR S=1 TO 2

260 IF T(S, [r=—1 THEN 930

598 IF T(S,1)>=@ THEN 1210

308 IF TCS,I3)Z1 THEN S9@

318 IF T(1,33)21 THEN 938

S20 IF TCS, I T(1.5) THEN 930 ELSE S&0

230 PRINT “PERSON "sIt" WON $"3B(S, I

40 MCII=MCII+B(S, 1

350 G070 1210

IF T(5, 12=Td1,3) THEN 37@ ELSE 390
PRINT “PERSON “3135" HAD A DRAW WITH THE DEALER."
GOT0 1901@

PRINT "PERSON “3Is" LOST $"3B(S, 13
MCTI=MCIX-BCS, I

NEXT S:NEXT I

PRINT:PRINT::PRINT

PRINT "ANOTHER GAME? (1 FOR YES)"3
INPUT B:PRINT:IF B=1 THEN 1435
CLS

PRINT "PERSON", "WINNINGS"

B=@:FOR I=1 70 @

PRINT " "5I,"$"3MCI)

B=B-MCI):NEXT I

PRINT "“DEALER","$"3R
FRINT:PRINT:PRINT:GOTO 1Z1@
X=INTC4*RND (@) 3+1 :Y=INT(1Z+RND (B3> +1
IF SdX,Yi=1 THEN 1128 ELSE S(X,Y)=1:C=C+1:RETURN
IF Yy=1 THEN 1145 ELSE 1150

PRINT "ACE "35:RETURN

IF y=11 THEN 1155 ELSE 1180

S PRINT "JACK "3::RETURN

IF ¥Y=12 THEN 1185 ELSE 1170

PRINT "QUEEN *“3:RETURN

IF Y=13 THEN 1175 ELSE 1180

PRINT "KING "3 :RETURN

PRINT Y35 :RETURN

IF X=1 THEN 1195 ELSE 1200

PRINT "OF SPADES "3 :RETURN

IF X=& THEN 1205 ELSE 1210

PRINT "OF CLUBS "3 :RETURN

IF X=2 THEN 1215 ELSE 1ZZ0

PRINT "OF HEARTS "3 :RETURN

PRINT "OF DIAMONDS "3 :RETURN

IF Y{i1l THEN 1240 ELSE Y=10

IF Y=1 THEN 1245 ELSE 1250

Y=11:A(S, I)=R(5, I1+1]

T(5, ID=T(5, I)+Y

IF T(5,I3>21 THEN 1285 ELSE 1280

IF ACS, I3=0 THEN 1ZZ50

ACS, I=ACS, T3~1:T¢(5, 1D=T(5, [1~10
RETURN

FOR X=1 TO 4:F0OR Y=1 TO 13:8(X, Y3=0:NEXT YINEXT X:C=0
PRINT:PRINT "CARDS ARE RESHUFFLED. “:PRINT:RETURN
END
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number
guessing
guime

Description

This game is one of logic. You try to guess the number (0-5555) the
computer has selected based on clues given to you by the computer. A
clue is given to you after each of your guesses.

The clues will be “Black™ and/or “White.” If the computer says
“Black,” then that means that one of the digits is correct but not in the
right order. If the computer says “White,”” then you have a correct digit
in the correct order. It is up to you to figure what number is correct.

There are two versions of this game. The beginner’s version will not
have the same digit used twice in the number. The expert’s, on the
other hand, can have as many as 4 of the digits the same.

One to 10 people can play. Try to see who can do the best. You
will be graded on the total number of guesses it takes to obtain the
number. Grades range from excellent to poor depending on a predeter-
mined average.

21



Variable list

C( ) = Flag to make sure two same digits aren’t used in the number
(beginner’s version)
G = Person’s guess
K() = Flag to determine if digit in guessed number has been processed

Q = Number of player’s
S( ) = Flag to determine if digit in picked number has been processed
[The program analyzes your number randomly. It would be easy
to guess the number if the program sequentially told you what

digits are correct.|

T() = Total guesses for each player, all games

Z() = Digits in number
Z(1,A) = Position A of digit in number picked
Z(2,A) = Position A of digit in number guessed

Sample run

THIS I8 THE GAME OF MIND BOGGLER.

DO YOU WANT THE INSTRUCTIONS? (1=YES)T1

I AM GOING TO FICK A NUMBER RETWEEN 0000 - 333535,
YOU ARE TO TRY TO GET THAT NUMBER IN THE MINIMAL
AMOUNT OF GUESSES.

EVERY TIME YOU GUESS A NUMEBER I WILL GIVE YOU CLUES A8 TO

HOW CLOSE YOU ARE TO THE NUMBER I GUESSED. THE CLUES WILL

RE ‘BLACK’ AND/OR ‘WHITE‘., IF I SAY ‘RBLACK’s THEN THAT MEANS THAT
ONE OF THE DIGITS IS CORRECT EUT NOT IN THE RIGHT OROER. IF I SAY
‘WHITE’ THEN YOU HAVE & CORRECT DIGIT IN THE CORRECT ORDER. IT

IS UF TO YOU TO LOGICALLY FIGURE WHAT NUMBRERS ARE CORRECT.

FOR EXAMFLE!R THE NUMBER I8 5210
YOU GUESS: 2413

YOU WOULD GET A ‘RLACK’ RECAUSE THE NUMEBER 2 IS CORRECT RUT IN THE
WRONG ORDER ANI A ‘WHITE RBECAUSE vOU GUESSED THE NUMBER 1 WHICH WAS
THE CORRECT NUMBER IN THE CORRECT ORDER.

THERE ARE TWO VERSIONS OF THIS GAME. THE BEGINNERS VERSION

WILL NOT HAVE THE SAME DIGIT USED TWICE IN THE NUMBER. THE

EXPERTS ON THE OTHER HAND CaN HAVE A5 MANY AS FOUR OF THE

NIGITS THE SaAME.

ONE TO TEN PEOFLE CAN FLAY. TRY TO SEE WHO CAN DO THE BEST.

¥AckRckooolok GOOD LUCK okoksokorkoskokk

ARE YOU AN EXFERT (TYFE 1) OR A RBEGINNER (TYPE 2572

HOW MANY WISH TO FLAYT2

22



ATTENTION FERSON 1 » I AM FPICKING

WHAT IS5 YOUR GUESST1Z34
WHITE BLACK WHITE

WHAT IS8 YOUR GUESST0123
BLACK BLACK

WHAT I8 YOUR GUESSTLZE
ELACK BLACK WHITE

WHAT 18 YOUR GUESST1245

VERY GO0, YOU GOT THE NUMBER

THE NUMBER.

IN 4 GUESSES.

ATTENTION FERSON 2 » I AM FICKING THE NUMBER.

WHAT I8 YOUR GUESST1234
EBLACK BLACK BLACK

WHAT IS YOUR GUESS712405
WHITE EBLACK BLACK BLACK
WHAT IS YOUR GUESSTI124
RLACK EBLACK BLACK BLACK
WHAT I8 YOUR GUESST2413

VERY GDODy YOU GOT THE NUMBER IN 4 GUESSES.

AT THE ENI OF ROUND 1

FERSON TOTAL
1 4
2 4

ANOTHER ROUND?T (1=YES)7?0

READY .

AVERAGE CATEGORY

EXCELLENT
EXCELLENT

L O O o (o O L o G D

Program listing

ROGGLE

100 DIM T(i@), 54, LB, ZC2, 40, K(4)

118 CLSs

12@ PRINT "THIS IS THE GAME OF MIND BOGGLER. ":PRINT:PRINT
130 PRINT “DO YOU WANT INSTRUCTIONS “;5:INPUT A%
135 IF A$="YES" THEN PRINT:GO0TO 1435

140 PRINT:IF As="Y" THEN 145 ELSE

60

23



145
158
168
170
180
198
200
205
210
228
240
250
260
2ES

270

1@
320

BARAT

Ioe
A=t

CcLs

PFRINT "I AM GOIING TO PICK A NUMBER BETWEEN 2088 - 5555."

PRINT "YOU ARE TO TRY TO GET THAT NUMBER IN THE MINIMAL"

PRINT "AMOUNT OF GUESSES. ":PRINT

PRINT "EVERY TIME YOU GUESS A NUMBER I WILL GIVE YOU CLUES A5 TO"
PRINT “HOW CLOSE YOU ARE TO THE NUMBER I GUESSED. THE CLUES WILL®
PRINT "BE T'BLACK* AND/OR 7“WHITE'.™

PRINT “IF I SAY ’BLACK’, THEN THAT MEANS THAT ONE OF THE DIGITS"
PRINT "IS INCORRECT BUT NOT IN THE RIGHT ORDER. IF I SRY"

PRINT ""WHITE® THEN YOU HAVE A CORRECT DIGIT IN THE CORRECT ORDER.
PRINY “IS UP TO YOU TO LOGICALLY FIGURE WHAT NUMBERS ARE CORRECT. "
PRINT:PRINT "HIT —~ENTER- TO CONTINUE..."3:INPUT W

CLS

PRINT:PRINT "FOR EXAMPLE: THE NUMBER IS SZ1@":PRINT

PRINT "YDU GUESS: Z413":PRINT

PRINT "YOU WOULD GET & *BLACK? BECAUSE THE NUMEBER"

PRINT "2 IS CORRECT BUT IN THE WRONG ORDER AND"

PRINT "A ’“WHITE® BECAUSE YOU GUESSED THE NUMBER 1 WHICH WAS®
PRINT "THE CORRECT NUMBER IN THE CORRECT ORDER."

PRINT:PRINT "HIT -ENTER- TO CONMTINUE..."3:=:INPUT W

CLS

PRINT “THERE ARE TWO VERSIONS TO THIS GAME. THE BEGINNERS VERSION®
PRINT "WILL NOT HAVE THE SAME DIGIT USED TWICE IN THE NUMBER. THE"
PRINT "EXPERTS ON THE OTHER HAND CAN HAVE AS MANY AS FOUR OF THE"Y
PRINT "DIGITS THE SAME. ":PRINT

PRINT "ONE OF TEN PEOPLE CAN PLAY. TRY TO SEE WHD CAN DO THE BEST. "
PRINT : PRINT "sopksborasbasber GOOD LUCK kbbbt

PRINT:PRINT "ARE YOU AN EXPERT (TYPE E> DR A BEGINNER (TYPE B)'":
INPUT AS$:PRINT:PRINT

PRINT:PRINT “HOW MANY WISH TO PLAY"3;:INPUT @

IF 218 THEN 380 ELSE IF @{(1 THEN B0

FOR P=1 TO @

PRINT:PRINT

PRINT "ATTENTION PERSON“P", I AM PICKING A NUMBER. ":PRINT

FOR I=1 7O &:C(I)=0Q:NEXT I

N=@:FOR I=1 TO 4

N1=INT(S5+RND(@))+1:IF A9%="E" THEN 470

IF CONi+13=1 THEN 450 ELSE C(Ni+i)=1

N=N+ NI+ CI@+CI-10 ) 2NEXT I

Ni=N:T3=0

Ti=INT(N/1888) sN=N-T1+1000

HI=INT(N/1B8> :N=N-Hi+100

E1=INT(N/1@) sN=N-E1+10

N=INTC(N) sN1I=INT(N1>

ZC1,10=T1eZ0(1,23=H1:ZC1,3)=E12ZC1,4)=N

PRINT:IF TS5=25 THEN PRINT ELSE 550

PRINT "TOO MANY TRIES, THE NUMBER IS "Ni:GOTO 720

PRINT "WHART IS YOUR GUESS"3;:INPUT G

To=T5+1:G1=06

FOR I=1 TO 4:5(I)=0:K(I)=B:NEXT I:Xi=0

T=INT(G/10800) :G=06~T*1000

H=INT(G/ 1003 :G=0~-H+100

E=INT(G/1@) :G=0-E+10

O a=T2ZC2, 20=HZ(2, 3)=E:Z2(2, 43=0

IF Gi=N1 THEN 710

X=INT CA+RND(@I »+1:IF SCX)=1 THEN B30 ELSE. S(X1=1i

FOR L=1 TO 4:IF Z¢2,X)=Z(1,L» THEN €50 ELSE 700

IF KiL)=1 THEN 700

IFX=L THEN EB70 ELSE &B20

PRINT "WHITE "3;:607T0 &390

PRINT "BLACK "3

REM

NEXT LiXi=Xi+1:IF Xi=4 THEN 530 ELSE &30

PRINT:PRINT “VERY GOOD. YDU GOT THE NUMBER IN"TS“GUESSES. "
PRINT:PRINT:TC(PI=T(P)+THINEXT P:R=R+1

PRINT:PRINT "AT THE END OF ROUND"R:PRINT

IT"



740
750
76@
778
780
7590
2800
28es
210
g2

283

840
850
Sed
270
880
oS30
200
29108

PRINT “PERSON","TOTAL"."AVERAGE", "CATEGORY"
PRINT=FOR I=1 7O &

PRINT I, TCI3: sTS=INTC(TCL)/Ry+100/100: PRINT T3,
GOsuUB 870

NEXT 1

PRINT:PRINT:PRINT

PRINT "ANOTHER ROUMD"3:INPUT M%

IF M$="YES" THEN 400

PRINT:PRINT :IF M&="Y" THEN 4080

PRINT:GOTO 91@

REM

IF TS5 THEN PRINT "EXPERT":RETURN

IF T5<(9 THEN PRINT "EXCELLENT":RETURN

IF TS{1Z THEN PRINT "GOOD":RETURN

IF TS{i& THEN PRINT “FAIR":RETURN

IF TS<21 THEN PRINT “POOR":RETURN

IF TS<(Z5 THEN PRINT "BAD" :RETURN

PRINT “KEEP PRACTICING":RETURN

END

25



Russinn (7=
moleie &

Description

In this game of chance up to 5 persons can be involved. Each person
takes a turn as a revolver chamber clicks off. If a bullet goes off with a
Bang!!, the unlucky person is eliminated. The game ends when only 1
person is left!

Variable list

A( ) = If this flag is 1, then that person has been previously shot
D = Number of people shot
E = Round number
| = Person’s number being processed
Y = Probability of not being shot

Z = Probability of being shot (based upon how many people have
previously pulled the trigger in the current round)

Sample run

THIS I8 A RUSSIAN ROULETTE GAME.

GAME WILL END WHEN ONLY ONE FERSON IS LEFT!

GOOnD LUCK!I!IIL  (YOU‘LL NEED ITH
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HOW MANY WISH TO FLAY?3

NUMEBER YOURSELVES FROM 1 TO 3 .

ROUND 1

FERSON 1
FERSON 2
FERSON 3
ROUND 2

FERSON 1
FERSON 1

THE REST

ROUND 1

FERSON 2
FERSON 3

ROUNDN 2

FERSON 2
FERSON 3

ROUND 3

FERSON

r3

FERSON 2

FERSON 3
ALIVE AND

READY . -

GAME 1
CLICK
CLICK
CLICK
GAME 1

BRANG! 1!

YOU ARE DEAD!

OF YOU WILL CONTINUE!

GAME 2

CLICK
CLICK

GAME 2

CLICK
CLICK

GAME 2

RANG! 1!

YOU ARE DEAD!
YOU HAVE WON AND MAY WALK AUWAY

(AL LALA LA LA LA LI LI

Program listing

RULLET

90 CLS

100
110
120
130
148
158
160
170

PRINTzPRINT
DIM AC1B@>
PRINT “THIS
PRINT

PRINT "GAME
PRINT2PRINT
PRINT sPRINT
PRINT:PRINT

IS A RUSSIAN ROULETTE GAME, ":PRINT

WILL END WHEN ONLY ONE PERSON IS LEFT!™
“GO0D LUCK!!'!'! (YOU'LL NEED IT!')»"

"HOW MANY WISH TO PLAY"::INPUT A

"NUMBER YDURSELVES FROM 1 TO"As".":PRINT

FPRINT
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E

175

180
150

28

INPUT "HIT ENTER WHEN READY..."3iM$
FOR F=1TOSOQB:NEXT F

CLS

PRINT :G=1:D=0

E=1

CLS

PRINT:PRINT "ROUND"E, "GAME"G:PRINT
FOR I=1T7T0D A

IF ACId)=1 THEN 250

PRINT "PERSON"3I,

Z=A-D+1:IF Z)=E THEN 250:7=t

P=INT (Z+RND(X33+1
Y=C1/T)+#RND(X)2:IF Y<{(1/& THEN 270:Y=1/&
IF (1/Px+Y<{=E/Z THEN =285

PRINT “CLICK"

FOR F=1TO SOB:NEXT F

NEXT I:E=E+1:0607T0 185

S FOR F=1TOSQ@:NEXT F

PRINT "EANG'!!*:PRINT:PRINT "PERSON"I"YOU ARz DEAD!":PRINT
ACI)=1

D=D+1:IF D)=A-1 THEN 340

PRINT “THE REST OF YDU WILL CONTINUE!":G=G+1:PRINT
FOR F=1TO10@08: NEXT F

GOTO 190

FOR X=1 TO A:IF A(X)=@ THEN 250

NEXT X

PRINT "PERSON"X"YDU HAVE WON AND MAY WALK AWAY"
PRINT “ALIVE AND FREE ' ¢ !“":iPRINT:PRINT

sT0P

END



Biprhythmic
sompatinility
if

W0

people

Description

By using the biorhythmic cycle theory (see BIORHYTHM game), this
program takes the birthdays of two individuals and calculates when
they are compatible during their lifetime. It also gives the average com-
patibility percentage. For example, the computer adds the physical
cycle compatibility (23-day) percentage, the sensitivity cycle compat-
ibility (28-day) percentage, and finally the cognitive cycle compatibility
(33-day) percentage in order to give a total percentage of the 3 bio-
rhythmic compatibility cycles. Then, to obtain an average of this, the
total is divided by 3.

Two individuals will have an average compatibility of 100% only if
they were born on the same day or if they were born 21,252 days apart
or 59.86 years. Couples, therefore, should not feel insulted if their aver-
age is not 100%.

Variable list

A() = Number of days past in year up to month
A1( ) = Name of person one
B1() = Name of person two
C3 = Remainder of P2/33 (cognitive)
D3 = Remainder of P2/23 (physical)
E1, F1, G1 = Person one’s birthday (month, day, year)
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E2, D2, G2 = Person two’s birthday (month, day, year)

P2 = Difference of days between person one’s birthday and
person two’s birthday

S3 = Remainder of P2/28 (sensitivity)

Sample run

WHAT IS THE NAME OF PERSON ONE? JOHN H. DOE
WHAT IS FERSON ONE’S BIRTHDAYT (MM DD, YYYY) TS 151954

WHAT IS THE NAME OF FERSON TWO? MARY I's DOE
WHAT IS FERSON TWO'S EBIRTHDAY? (MMsDD,YYYY)?P12s2151935

COMFATARILITY ANALYSIS

COMFATARILITY ANALYSIS OF JOHN H. DOE AND MARY D, DOE.

JOHN H, DDE WAS BORN ON MAY 1 » 1954 . IT WAS A SATURDAY.

MARY D', DOE WAS ERORN ON DECEMBER 21 » 1955 . IT WAS A WEDNESDAY.

FHYSICAL CYCLE COMFATABILITY (23-DAY) IS 100 %
SENSITIVITY CYCLE COMFATABILITY (28-DAY) IS 28.571 %
COGNITIVE CYCLE COMFATABILITY (33-DAY) IS 69.696 %
AVERAGE COMPATARBILITY IS 66.089 %
READY .

I - -
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Program listing

COMFAT

10@ DIM Q1¢301,BL(ZMD

118 DIM AC1Z:

128 FOR I=1 TO 1Z:READ ACLIINEXT I

12780 DATA @, 71,59, 90, 128, 151, 181, 212, 347, 2773, 204, 334
140 Y=@

150 Y=vY+1

155
190
=00
210
220
230
240
=50
10
ZZ0
240
50
ZEQ
ZED
85
390
400
41@
4z
450
47@
480
490
500
510

530

240

CLS:PRINT "WHAT IS THE NAME OF PERSON ONE"“;:INPUT W$

PRINT :PRINT "WHAT IS PERSON ONE’S BIRTHDAY? (MM, DD, YYYY) "3
INPUT M. Dy Y

Ei=M:Fi1=DiG1l=Y

GOSUR 77@

12=T:Ki=J+1

PRINT

PRINT "WHAT IS THE NAME OF PERSON TWO"3::INPUT X$
PRINT:PRINT "WHAT IS PERSON TWO'S EIRTHDAY?  (MM.DD, YYYY2";
INPUT M. Dy Y

E2=M:DZ=DiGZ=Y

GOSUB 770
P2=ABS(ZZ-T}

(2=J+1

FOR I=1 TO E:PRINT:INEXT I

CLS

PRINT "COMPATABILITY ANALYSIS"

PRINT "=——— oo "

PRINT

PRINT “COMPATABILITY ANALYSIS OF "iW$:" AND "3X$3"."
PRINT

PRINT W$s" WAS BORN ON "s;:M=E1:GOSUE 350
PRINT F1s", "3;G1s". IT WAS A "3:J=K1

GOSUE 1080
PRINT *."
PRINT

PRINT X%3;" WAS BORN ON ";:M=E2:G05UB 950
PRINT D2s3", "sG&s5". IT WAS A "j5:J=K2

GOSUE 1050
PRINT ". "
PRINT

=P

Z=ABSCINTCCCZ/ 2T 2
I=ARSCINT CCCZ/28)—INTC(Z/28) )%28) )

CIZ=ABS (INTCCCZ/333—INTCZ/3Z0 043300

PS=ABS (10@—C (Z+PID+(10B/23) 2

S5=ABS (100 (28T {10@/283))

C5=ABS (100~ ((2+CIH+(10B/ 33312

PRINT “PHYSICAL CYCLE COMPATABILITY (Z3E-DAY) IS "
PRINT INT(PS+1000)/1000;"%"

PRINT “"SENSITIVITY CYCLE COMPATARILITY (2E-DRY) IS "3
PRINT INT(SS+100@03/1000:"%"

PRINT “COGNITIVE CYCLE COMPATABILITY (IZZ~-DAY) IS "3
PRINT INT(CS+100@) /10005 "%L"

PRINT 445 '—mmmme e "

PRINT "AVERAGE COMPATARILITY IS",." "3

AS=(P5+55+C5) /3

PRINT INT(AS+1000>/1000@;" %"

GOTO 760

Yi=Y-1800

Gi=INTCY1/42

Q2=INT (1 /25)

QI=INT¢(YL1+2003 /7400)

K=

IF @i+4 O Y1l THEN E&@

IF 2*10@8 Y1 THEN B&0

IF QZ+400-220<Y1 THEN E&Q
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850 K=1

860 T=Z6S%YI1+R1-R2+07-K

870
o8B0
290
906
916
20
83e
948
952
=11
370
p=1o7)
930
1000
1212
1020
1030
1240
1250
1266
1070
1080
12906
1100
lii@
1120
1130
1140

32

"JANUARY "3 tRETURN
RETURN
"MARCH" 3 : RETURN
"APRIL"; :RETURN

.- u
F

"JUNE" 3 : RETURN
"JULY" 5 s RETURN
"AUGUST" 3 : RETURN
"SEPTEMERER" 5 : RETURN
"OCTOBER" 3 : RETURN
“NOVEMBER" 5 s RETURN

5 2 RETURN
“THURSDAY" 3 : RETURN
"FRIDAY" ;5 :RETURN
"SATURDAY" 3 : RETURN
"SUNDAY" 5 : RETURN
"MONDAY' 5 : RETURN

T=T+A (M3 +D—1

IF M<{3 THEN S00

T=T+K

IF INTCY1/43O0Y1/74 THEN 3220
IF M2 THEN 928

T=T-1
J=T-7+INTCT/7)

RETURN

IF M=1 THEN PRINT

IF M= THEN PRINT "FEBRUARY"
IF M=3 THEN PRINT

IF M=4 THEN PRINT

IF M=5 THEN PRINT "MAY"3$:RETURN
IF M=& THEN PRINT

IF M=7 THEN PRINT

IF M= THEN PRINT

IF M=3 THEN PRINT

IF M=1@ THEN PRINT

IF M=11 THEN PRINT

PRINT “DECEMBER" 3 :RETURN

IF J=1 THEN PRINT "“WEDNESDAY"
IF J=2 THEN PRINT

IF J=3 THEN PRINT

IF J=4 THEN PRINT

IF J=5 THEN PRINT

IF J=E THEN PRINT

PRINT "“TUESDAY"3 :RETURN
END



sulenda 984
daie MARAH
salenlation .., L23%

1Z 13 4 6171%

1920 21 Z223 2% 25

2627 7% 29 30 3| \
Description

Enter today’s date and another date. The computer will automatically
tell you the day of the week that date fell on and the days apart from
the day you are running it.

Variable list

D( ) = Days in each month
) = Day number of date picked
N( ) = Cumulative days past till current month

T = Number of days difference between entered date and January 1,
1800

V = Difference of days between entered date and today’s date
Y1 = Current year minus year 1800

Z = Number of days difference between today’s date and january 1,
1800

Sample run

DAY FREDICTION FROGRAM!

ENTER A DATE AND THE COMFUTER WILL TELL YOU
WHAT DAY IT WAS. ENTER A 00,0 TO STOF,
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ENTER TODAY’'S DATE? (MM DD YYYY)P2,2951978
FROGRAM CANNOT ACCEFT GIVEN DATE. RE-ENTER
ENTER TODAY’S DATE? (MM DD YYYY) P29 191978

ENTER DATET (MMsDDsYYYY)?2,»1,1978

FERRUARY 1 » 1978 1S TODAY» WHICH IS A WELONESDAY.

ENTER DATE? (MM DDOyYYYY)T12,5,1935

DECEMBRER 5 » 1955 OCCURRED 8094 DAYS AGO» ¢ 22.16 YEARS)
AND WAS A MONDAY.

ENTER DATET (MMsDDsYYYY)T050,0

READY .

I T - -

Program listing

DATE BASIC—-69%

10@ DIM NC12),DC12)

11@ CLS:PRINT "DAY PREDICTION PROGRAM!":PRINT

120 PRINT "ENTER A DATE AND THE COMPUTER WILL TELL YOU®
1Z@ PRINT "WHAT DAY IT WAS. ENTER A 3.@.8 TO STOP. ":PRINT
140 PRINT:PRINT:PRINT

15@ FOR I=1 TO 12

1E6@ RERD NCIJ

178 READ D(I}

1880 NEXT I

138 DRTA B@,731, 31, 28,59, 31, 9@, %@, 120, 31, 151, 38, 181

2@@ DATA 31,2132, 31,2473, 30, 273,31, 384, 30, 334,31
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210

44@
450
460
470
480
498
bt}
510
520
530
S48
St}
S68
570
580
590
&00
e1@
&2

A
540
£S0
&E0
&78
€80
£90
708
710
720
70
748
758
768
77@
780
758
200
gie
2z0

T
o

840
850
o1t
870

DATA B, 31,59, 90, 120, 151, 181, 212, 247, 273, 304, 334
PRINT "ENTER TDDAY'S DATE (MM, DD, YYYY) "3

INPUT Mo Dy Y

W=

GOSUB &B2

Z=T

PRINT

PRINT "“ENTER DATE (MM. DD, YYYY) "3
INPUT Mo DY

IF MOB THEN 320 ELSE IF DO@ THEN 320 ELSE IF YOO THEN 220
STOP

W=1

GOsSUB &E0

V=T-Z

PRINT:PRINT

GOSUBR 94@:PRINT Ds","Ys
Q=\/3ES, 2425

R=INT (ABS(C+108+.5) /100
IF v<(@ THEN 4&@

IF V=00 THEN 520

PRINT “WILL OCCUR"3V:i"DAYS FROM TODARY, ('3
PRINT G3" YEARS)"

PRINT “AND WILL BE";

GOTO 490

PRINT “OCCURRED":;~V3"DAYS AGD, ("3
PRINT Q3i“"YEARRS)"

PRINT “AND WAS":

PRINT " A “3s:G0SUB 1060
PRINT

GOTO 200

PRINT "I8 TODAY. WHICH IS":
GOTO 480

Yi=Y-1500

Q1=INTCY1/4)

Qz=INT(E1 /25
GI=INT{(Y1+200) /400

K=@

IF Ri+4 Y1 THEN &30

IF @2+100 0O Y1 THEN &2D

IF E3+420-200 Y1 THEN EIZQ
K=1

T=Eg5+Y 1 +01 -02+Q75~K
T=T+N (M) +D—1

IF M{Z THEN 3228

T=T+K

GOTO eo.

GOsUB 8z .

IF E=1 THEN 7708

IF DK@ THEN 772

IF DY E1 THEN 770

IF Y100 THEN 740

Y=Y+1 300

IF Y{1800 THEN 77@

IF Y)4999 THEN 770

G0OTO S40 |

PRINT:PRINT "PROGRAM CANNDOT ACCERT BIVEN DATE.
IF W=@ THEN Zz@

GOTo 270

J=T-7+INT(T/7)

RETURN

E=1

IF M{1 THEN ES@

IF My 12 THEN 290

K=@:IF Y/4 O INTCY/4) THEN B70
R=1

IF DYDiM»+K THEN 292

RE-ENTER..."
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280
850
200
8330
240
256
SE0
970
280
996
1082
1210
1020
10Z0
1040
1850
1360
1878
188w
1@33@
1120
111@
1120
1121

36

"JANUARY " 5 s RETURN
"FEBRURARY" 5 tRETURN
"MARCH" 3 s RETURN
"APRIL": :RETURN
"MAYY 5 RETURN
"JUNE" s tRETURN
“JULY'" s s RETURN
"AUGUST" 5 s RETURN
"SEPTEMBER" 3 : RETURN

IF M=10@ THEN PRINT “OCTORER";:RETURN
IF M=i1 THEN PRINT “NOVEMBER"3 :RETURN

"WEDNESDAY. "3 : RETURN
"THURSDAY. "5 1 RETURN
"FRIDAY. "5 tRETURN
"CATURDAY. "3 tRETURN
"SUNDAY. "5 s RETURN
"MONDAY. "5 B RETURN

E=0

RETURN

PRINT

GOTO 27@

IF M=1 THEN PRINT
IF M=2 THEN PRINT
IF M=% THEN PRINT
IF M=4 THEN PRINT
IF M=35 THEN PRINT
IF M=E THEN PRINT
IF M=7 THEN PRINT
IF M=8 THEN PRINT
IF M=9 THEN PRINT
PRINT "DECEMBER"3;:RETURN
IF J=0 THEN PRINT
IF J=1 THEN PRINT
IF J=2 THEN PRINT
IF J=3 THEN PRINT
IF J=4 THEN PRINT
IF J=5 THEN PRINT
PRINT "TUESDAY. "3 :RETURN
END



ROCE
gome

Description

This program simulates a dog race game. The prior racing experience of
each dog (won/loss record) helps to determine the outcome of the race.
From start to finish the dogs move up a little bit each as the game pro-
gresses. All odds are calculated based on the amount of dollars bet on
each dog. It is interesting to note that if you went to the track, the
same odds would show up given the amounts bet on each dog. Good
fuck!

Description of bets

Win—Dog comes in first.

Place—Dog comes in first or second.

Show—Dog comes in first, second, or third.

Perfecta—Pick the dog to come in first and a dog to come in second.
If they finish in the order you picked them, you win.

Note

At normal parimutuel dog tracks, the track takes out 17% of the pool
(total bets placed by the participants) for state taxes and track ex-
penses. In the parimutuel betting system, those backing winners divide,
in proportion to their wagers, the total amount bet, minus the percent-
age for the track and taxes. The only time the track would lose money
would be if the betting participants continuously placed heavy bets on
the favorite and the favorite kept on winning. The computer game
DOGS also takes out 17% when it calculates the odds for each race.

Variable list

A1 = Maximum wins for each dog in current race
A2 = Maximum wins picked for each dog
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AT() = Amount of money bet on each dog (for odds)
B1 = Total amount bet in pool
B2 = Maximum losses for each dog in current race
B3 = Maximum losses picked for each dog
B1() =Odds for each dog
B9({) = Amount of money for each player
C8 = Maximum lengths for each race
C9 = Length to travel in race
C() = Maximum number of lengths each dog can travel
= Total lengths traveled by each dog in race
Win, place, or show for dog picked by each player

H

)

)
C9() = First dog in perfecta for each player

1 = Total amount bet in perfecta pool
D9{ ) = Second dog in perfecta for each player
E9() = Perfecta bet for each player

(
2(
(
D
(
(
F

9 = Accuracy of decimal in percentage
] = Winning amount
N( ) = Dog number picked by each player
P9 = Amount winning a perfecta
S1() = Bet by each player
W() = W(1) is winning dog
W(2) is placed dog
W(3) is show dog

Sample run
WELCOME TO ROOK-A-DAY RACE TRACK!!
RACE 1 18 LENGTHS
noG WINS LOSSES FERCENTAGE
1 2 1 1566
2 4 1 8
3 3 1 V]
4 G 1 833
5 9 1 7
& 7 1 875
7 8 1 + 888
8 9 1 9
4 2 1 1666
10 3 1 V75

THIS IS A DOG RACE GAME.

FLEASE FLACE YOUR RETS.
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ENTER A ONE FOR WIN»
A TWO FOR FLACE>»
OR A THREE FOR SHOW.

HOW MANY WISH TO BET?2

FERGON 1 ENTER YOUR DOGT?7

WIN, FLACEy OR SHOWTL

YOUR BET?TS0

HERE ARE YOUR 25 TICKETS.

FIRSTy SECOND DOG IN FERFECTATZ.8
AND THE BRET?T20

FERSON 2 ENTER YOUR [0G?8

WINy FLACEy OR SHOW?TIL

YOUR BET?100

HERE ARE YOUR 50 TICKETS.

FIRSTy SECOND DOG IN PERFECTATSs7
ANDI' THE BET7?100

AlLL BETS ARE CLOSED.

0opns BASED ON BETS.

noG onos
1 25 ¢ 1
2 35 ¢ 1
3 22 3 1
4 30 ¢ 1
3 15 ¢ 1
[ 35 11
7 7 1
8 311
9 8 ¢ 1
10 13 ¢ 1
123456782910 AND THEY‘RE OFF11!!
XXXXXXXXSTARTXXXXXXXX
1 6 7 8 i0
4 5 4
3
2

XXXXXXXFINISHXXXXXXXX
XXXXXXXXSTARTXXXXXXXX

1 &
4 10

n

r
5]
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XXXXXXXFINISHXXXXXXXX
XXXXXXXXSTARTXXXXXXXX

10

XXXXXXXFINISHXXXXXXXX
XXXXXXXXSTARTXXXXXXXX

8 10

3
2

XXXXXXXF INISHXXXXXXXX
XXXXXXXXSTARTXXXXXXXX

r
g

XXXXXXXFINISHXXXXXXXX
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XXXXXXXXSTARTXXXXXXXX

6 7 10

XXXXXXXFINISHXXXXXXXX
XXXXXXXXSTARTXXXXXXXX

7 8
& 10
XXXXXXXFINISHXXXXXXXX
RKAOKKAKAOK KKK IR AR KOKK K

FAYOFFS BASED ON ONE TICKET.

0oG WIN FLACE
9 18 13,5
2 54

3

FERFECTA ¢ » 2 PAYS & 182

ANOTHER RACE?7? (1 FOR YES)?FO

PERSON AMOUNT
1 ~70

2 ~200
COMF 270
READY .

SHOW

3é
23

AL LALIALALALILILD



Program listing

100 DIM R1C1@3,.CC1@

110 DIM NC12),81¢123, B9C123,09¢12), DICIZY,EQCL)

120 DIM C1C1@3,C2C120, A1 1@, WL

13@ Ce=25

140 Az=7:R3I=

158 F9=1008@:CLS

16@ PRINT TAR(1S) 3 "WELCOME TO RDOK-A-DAY RACE TRACK!!'"

1780 REM

180 AL=INT(AZHRND (XD )+Z:BE=INT (BI#RND (XD 3 +1

198 C9=13

200 M9=M3+1

21@ PRINT "RACE"3iM3,, 93 "LENGTHS"

220 PRINT:PRINT "DOG". "WINS", "LOSSES", "PERCENTAGE"

2Z@ FOR I=1 TO i@

240 A9=INTCAI4RNDCX) 3 +1 :B9=INT(B2:RND (X 3 +1

238 CCD)=INTC((AD/ (AS+BDI+FI) -, 51 /100: IF C(I)<(C9/5 THEN 26@ ELSE C(I»=C9/5
ZB@ PRINT I,A9,B9, INT((A9/(A9+E9) 1+F33/F9

270 NEXT I:PRINT:PRINT "HIT ~ENTER- TO CONTINUE..."3:INPUT Z
280 IF U9=1 THEN 4020

290 CLS

@@ PRINT “THIS IS A DOG RACE GAME. ":PRINT

318 PRINT "PLEASE PLACE YOUR BETS. “:PRINT

22@ PRINT:PRINT "ENTER A ONE FOR WIN."

3@ PRINT "A TWO FOR PLACE,"

348 PRINT “"OR A THREE FOR SHOW. "

5@ PRINT

3E@ PRINT:PRINT "HOW MANY WISH TO BET"::INPUT @

370 IF @<{=13% THEN 390

8@ PRINT "NO MORE THAN 13.":G0TO ZEQ

2980 Us=i

408 FOR I=1 TO @

410 PRINT "PERSON “;Is" ENTER YDUR DOG"$:INPUT NCID

428 PRINT "WIN (TYPE W), PLACE (TYPE P), DR SHOW (TYPE S)"3:INPUT K%
425 IF Ke="W" THEN C2(I)=1 ELSE IF K$="P" THEN C2(I)=2 ELSE IF K$="8" THEN C2(I)

3@ PRINT "YOUR BET"j;:INPUT S1<I
440 PRINT "HERE ARE YOUR"3S1(I)/Z3“TICKETS."
430 PRINT "FIRST, SECOND, DOG IN PERFECTA"::INPUT C9¢I),D9cI)
4E@ PRINT “"AND THE BETY3;:INPUT ESCI)
470 PRINT:NEXT I
480 D1=10@:Bi=200
490 FOR I=1 TO Q:FOR Iil=1 TO 1@:IF NCIYOI1 THEN 510
SO0 ALCILI=AL(I12+S1CI2+CE(ID
510 NEXT I1sNEXT I
520 FOR I=1 TO @Q:B1=RI1+S51(I):Di=DI+ED(II :NEXT I
930 FOR I=1 TO 1@:IF AICI)>@ THEN SEO
540 Bl (I)=INTC(BL/1@y*RND(X)3+1
5@ GOTO 570
S6@ Bl C(I)=INTC(BLI-AL I/ CALCI»~C. 17+A1CI220)
S7@ IF Bl<I))>=2 THEN SE@:Ei(I)=2
o980 NEXT I
590 PRINT:PRINT “ALL BETS ARE CLOSED. "
&80 FOR Zi=1 TO 4B@:NEXT Z1:CLS
£1@ PRINT "0DDS BASED ON BETS. "
EZ@ PRINT:PRINT "DOG"." 0ODDS"
£330 FOR I=1 TO 1@
E4@ PRINT I.B1cCId"avy
&E5@ NEXT I
EE@ PRINT:PRINT “"HIT —ENTER- TO START GAME..."3::INPUT Z:CLS
&7@ PRINT TRAB(Z)s3" 1 2 32 4 5 & 7 8 3 10", "AND THEY'RE OFF!i!"
&90 FOR R=1 TO 10
700 W=0
710 CL1CR)=CCCRI*RNDCX)+13+C1(R)
20 NEXT R
730 PRINT " XXXXXXX START XXXXXXX"
742 FOR P=1 TO C9



750 FOR R=1 TO 10

76D IF INTC(C1i<R33 ()P THEN 790

770 PRINT TABCR#*Z) 3RS

790 NEXT R:PRINT:NEXT P

200 PRINT " XXXXXX FINISH XXXXXXX"

21i@ FOR P=1 TO 1i@:IF C1(P){(=C39 THEN 2820 ELSE W=W+1
22D NEXT P

825 FOR Zi=1 TO SBO:MNEXT Z1

230 IF W3 THEN CLS:60TO 650

2480 PRINT * sfods optobobs b oh: she ot b bt s ook o bk o oo

850 FOR R=1 T0 3:H=-1

86@® FOR P=1 TO 10

878 IF Ci(P3>H THEN 230

880 NEXT P:C1{T)=-2:W(R)=J:NEXT R:GOTC 908

290 J=P:H=C1 (P> :G0OTO0 CEO

3PP PRINT:PRINT “PAYOFFS BASED ON- ONE TICKET."

310 PRINT

g2@ PRINT "DOGY, "WIN", "PLACE". "SHOW"

920 FOR I=1 TO 10:Bi<(I>=Bi (I3*2+21NEXT I

4@ PRINT WC1)BLEWCII D, BLCWCLI D~ CBLCWCII /43, BLCWCLD 2~ (BLCWCLD) Y /72
958 PRINT W(2), " "B WCZY I C(BLCWCRI /4. BLIWCRII-CBLIW(Z) Y /2D
960 PRINT W3, " " Yo BLCWCE) 3~ (BLCWI3X /23
978 PRINT:PRINT

980 PRINT:PRINT “PERFECTA "sWC1d3", "sW(2)3" PAYS "3
590 DE=0

1000 FOR I=1 TO @

1@12 IF C9¢Iy OWdly THEN 1040

1020 IF D9CI) OWCZy» THEN 10408

1@3@ DE=D&+1

1R4@ NEXT I:IF DEOO@ THEN 105@ ELSE De=1

1@5@ PO=INTC(D1*,.BZ)/DED

iBE@ PRINT P9

18070 PRINT:PRINT

108@ FOR I=1 TO Q:FOR Ii=1 TO =

10908 IF NCID OWCIL1) THEN 1120 ELSE IF Cz2cIx»=I1 THEN 1200
1108 NEXT Il

1110 B9¢I)=BS(I3~81(I3:NEXT I

1128 PRINT

11230 FOR I=1 TO Q:IF C9¢IY OWCLlr THEN 1170

1140 IF DI9CI)» OWC2Y THEN 1170

1150 PRINT "MR."I"HAS WON THE PERFECTA. HE WING $"3
11E@ PRINT P9-E9CI)»:BI(I»=B9(I+PI9-ES(I)

1170 B9C¢I»=R9CI~E9Q(I2:60T0O 1180

1188 NEXT I

1190 GOTO 1270

1208 PRINT "CONGRATULATIONS MR. "I"YOU'VE WON %"3
1210 IF C2¢Iy=1 THEN 122@ ELSE IF C2(Ix)=2 THEN 123@ ELSE K9=2:060TO 1248
1220 J=(S1C¢I»/23*+B1(WCI12):60TO 1250

1238 K9=4

1240 J=(81¢I3 /23 (B1CWCI1D ) ~CBICWCTI133/KS )

1250 PRINT J-81CI)

1268 S1(I)=—¢(J-81CI>3:G07T0 1110

1270 FOR I=1 TO 10:81¢1)=@:C1(I)=0:NEXT I

1280 Wil)=0:W(21=0:W(3)=0:B1=0:D1=0

1300 PRINT “ANOTHER RACE";:INPUT JE$

1318 IF JE4="YES" THEN 1708 ELSE IF JE%="Y" THEN 170
1215 CLS

1320 PRINT:PRINT:PRINT "PERSON". "AMDUNT"

1Z30 FOR I=1 TO &

1340 PRINT I,B9¢ID

1350 G9=G9~-B9(I)

1260 NEXT I

1370 PRINT "COMPY.(G9

1375 PRINT

1280 END



Easten
daie
calculagion

Description

This program, when given any year, will find the date on which Easter
will fall. Pass this one on to the Easter Bunny so he’ll never be late!

Variable list

The variables used in this program are just the elements of a function
used to determine the day Easter falls on.

J = Year that was entered
F = Day on which Easter falls

Sample run

THIS FROGRAM WHEN GIVEN A YEARy WILL FIND
THE DATE ON WHICH EASTER WILL FALL.

INFUT THE YEARY70

EASTER FALLS ON MARCH 29 » 1970

ANOTHER DATE? (1=YES)71
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INFUT THE YEART19735
EASTER FALLS ON MARCH 30 » 1975

ANOTHER DATE? (i1=YES)?1

INFUT THE YEART1980

EASTER FALLS ON AFRIL 6 » 1980

ANOTHER DATE? (1=YES)70

Y - - -

Program listing
EASTER.  BASIC-49

18@ PRINT

14@ PRINT "THIS PROGRAM, WHEN GIVEN A YEAR, WILL FIND®
12@ PRINT "THE DATE ON WHICH EASTER WILL FALL."
1@ PRINT:PRINT "INPUT THE YERR":

148 INPUT T

159 IF D29 THEN 178

160 J=J+1300

17@ PRINT:PRINT:PRINT

180 RA=J~INT(J/13)=*19

180 B=J-INTCJ/43+4

200 C=J-INTC(J/72%7

210 T=19+A+24

220 D=T-INT(T/3Z01+20

PID T=I+B+440+ExD+T

240 E=T-INTCT/ 737

250 F=D+E~-3

ZE@ IF F(@ THEN 230

7@ IF Fy©@ THEN Zz@7

28 GOTO 1E8@

=90 F=F+Z1 -

IEE PRINT “EASTER FALLS ON MARCH"F","J
1@ GDTO 41@

2@ IF F=2E8 THEN 370

IF FO25 THEN 50

I IF D=2 THEN 398

I5@ PRINT “EASTER FALLS DN APRIL"F","J
&0 GOTO 410

7@ PRINT “"EASTER FALLS ON APRIL 13, "J
T80 6O0TO 41@

TO@ PRINT "EASTER FALLS ON APRIL 18, "J
40@ GDTO 410

410 PRINT:PRINT:PRINT

470 PRINT "ANDTHER DATE? (1=YES)':

470 INPUT A

44@ IF A=1 THEN 130

450 END
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Description

The computer game positions you, the player, against 5 enemy at-
tackers. The object of the game is to destroy your attackers before you
are destroyed.

The attackers can be destroyed if they hit a mine or a tank. The
tank is a sixth attacker. It works both for you and the enemy attacker.
The tank destroys everything it touches. It can eliminate mines, the at-
tackers, and you! The tank should be used to your advantage and
maneuvered into your attackers. Be careful: If it touches you, you lose
the battle.

You, as the player, are given 10 directions to move in the mined
area. Moves 1 through 8 lead you in the directions displayed in the
sample run. A move of “0" leaves you where you are in the area, and
a move of 9 puts you randomly anywhere in the mined field, even on a
mine. A move of 9 should only be used when you feel an absolute hit
on an attacker is imminent. Remember, you can only use move 9 twice
and you can be destroyed by hitting any mine (X) in the field, as well
as in the perimeter.

Note

If 2 attackers move into each other, they are put somewhere else ran-
domly in the mine field. Also, once a mine is destroyed it cannot ap-

pear again.



Variable list

A8 = Vertical board size
A9 = Horizontal board size

A() = Position of board layout
A() =5 represents the mines
A() = 10 represents player
A() =15 represents the attackers
A () = 20 represents nothing in that spot (spaces)
A() = 25 represents the tank

B( ) = Represents coordinates of the attacks
B( ,1) = coordinates of tank
B( ,2-5) = coordinates of attacks

H = Random vertical position
| = Random horizontal position

} = Current vertical position of player

K = Current horizontal position of player

M = Horizontal position of an object
N2 = Number of times option nine may be used by player
N3 = Number of attacks destroyed

V = Vertical position of an object

W = Horizontal position of an object

X = New vertical position of attacker

Y = Move option of player

Sample run
YOU ARE THE ¢(’%’). THE ATTACKERS ARE THE (’%7),
THE MINES ARE (’X’). THE TANK I8 ('&7).
MOVES ARE? 49352
WER S 1
49798
A MOVE OF ‘97 WILL PUT YOU ANYWHERE. (2 CHANCES).
XXX XEXXXXXKXXXX XX XXX XXXXXXX XXX
X X X
X X #X X &X
X X X X
X % $ X X
X X X X X
X X X X
X X
X X X X
X X X
X X
X $ X X X X
X X
X X% X
EXXXXXXAKXKXKXXEXKXXXXXXXKX XXX XXX
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YOUR MOVE?TS

XXXXXXKXXXXKXLXXXXRXXXXXKXKXXXX XX

X X X
X X X X X
X X $ X & X
X X X
X X % $ X X
X ¥ X X X
X X
X X X X
X X X
X % X
X X X X X
X $ X
X X X
XXXXXXXXXXXX XX XX XXX XXX XX KXXXXX

YOUR MOVE?S

AXXXXXXXKXAXXXXXKX XXX XXX AKXXKXX

X X X
X X X X X
X X X X
X $ X § X
X X X X
X $ X ¢ X X
X X X
X X X X
X X % X
X X
X $ X X X X
X X
X X X
XXXXXXXXXXXXKXKXXXXK XX XX XXX KXX

YOUR MOVE?T9

XXXXXXXXXXXKXXXXXXXX XX XXX XXX XXX

X X X
X X X X X X
X X $ X & X
X X X
X X $ $ X X
X X X X
X X
X $ X X X
X X X
X % X
X X X X X
X X
X X X
XEXXXXXXXXXXXXAXKXX XXX XXX XX XXK XX

YOUR MOVE?4

KXkxk ZARP !} 0 -~ YOU RKILLED
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XXXXXXXXKXKXXXAXLXKXXXXXXX XX XXX

X 3 X X
X X X & X
X X X X
X $ % X X
X X X X
X X X X
X $ X
X X X X
X X $ X
X X
X X X X X
X X
X X X
XXXXXXXXKXXXKXXXKXXKXXKXXXKXXXXXKX

YOUR MOVE?Y

XXXXXXXXXXKXXXXXXXXKXLXXXXKXXXXXX

X X X
X X X X& X
X X $ $ X X
X X X
X X X X
X $ X X X
X X
X $X X X
X X X
X X
X X X X X
X X
X X X
XXXXXXXXXXXKXRXXXXXKXXXXXKXXX XK XXX

YOUR MOVE?TA4
TWO ATTACKERS HAVE COLLIDED.

XXXXXXKXKAXXXXXXXKXX AKX XXX XXX

X X X & X
X X + X X
X X X X
X X X
X X $ X X
X X X X
X $ X
X X X X
X X X
X X
X X X X X
X $ X
X X X
XXXXX XK XA KX XX XX XX XA X XXX XK XKXXX

YOUR MOVE?T?
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XAXXXXXXKXKXEXXKXKAXXXXXXXXXXX XXX

X X X
X X &X X
X X $ X X
X X X
X X X X
X $X X X
X X
X $X X X
X X X
X X
X X X X X
X X
X X X $ X
XXXXXXXXKAXKXKXKXXXKXXX XXX XX XXX XX

YOUR MOVET1

XXXXXXXKXXXXXXXXXXKXXKXXKXKXAKX XXX

X X X
X X X X
X X X & X
X $ X X
X X X X
X X X X
X % X
X X X X
X X $ X
X X
X X X X X
X X
X X X $ X
XXXAXXKXXXXXXKXXXKXX XX XXX XXX XXX

YOUR MOVETO

XXXXXXXXXXXXXXXXXRKXXXXKXXX XXX X

X X X
X X X X
X X X X
X & X X
X X $ X X
X X X X
X X
X $ X X X
X X X
X $ X
X X X X X
X X
X X X % X
XXXXXXXXXXXXXXXXXXXX XX XX XX XXKX

YOUR MOVET3
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XXXX&XXXXXXXXXXXXXXXXXXXXXXXXX

X X X
X X X X
X X X X
X X X
X X b2 X
X X * X X
X X
X X X X
X X % X
X X
X X% X X X
X X $ X
X X X
XUXXXX XXX X XXX XX XXX XXXXKXXXX XXX

YOUR MOVE?S

XXX XXX XXXXX XXX XXX XXX XXXKXXXXXX

X X X
X X X X
X X X X
X X X
X X X
X X % X X
X + X
X X X X
X X X
X $ X
X X X X X
X % X
X X X 4 X
XXXXXXXAXXXXXX XXX XXX XX XXXXXKXX

YOUR MOVE?O

XXXk ZaF !t -——  YOU KILLED ONE.
KEKKKX ZAF !t ———  YOU KILLED ONE.
*XX YOU’VE BEEN DESTROYED RY A LUCKY COMFUTER Aok X

READY »

" o - -

Program listing

102 DIM ACLS, 3@2.BCL E)

110 AB=15:A9=30

120 CLS

1I@ PRINT "YOU ARE THE (’'#'). THE ATTACKERS ARE THE ("#7)."
148 PRINT "THE MINES ARE THE (*X'). THE TANK IS (7 &'>."

150 PRINT:PRINT "MOVES ARE:", "4, 5. 2"

160 PRINT "S5, % 1":PRINT ,"E.,7,8" tPRINT

17@ PRINT "A MOVE OF '9° WILL PUT YDU ANYWHERE. (2 CHANCES)."
180 FOR B=1 TO AS:FOR C=1 TO AY:A(B,C)=Z@:X=INT (AS+RND(@))
190 IF X{)5 THEN 288 ELSE A(B,C)=5

200 NEXT C:NEXT BiNZI=0

=1@ NZ=2:REM THIS IS THE NUMBER OF TIMES MOVE 9 CAN BE USED
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220 FOR D=1 TO A9:AC1.D»=5:ACAB, D)=5:NEXT D

2@ FOR D=1 TO AS:ACD, 12=5:A(D, A93=5:NEXT D

240 GOTO 27@

250 H=INT(AS+RND(@) )+1:I=INT(AS+RNDC@) 2 +1

268 IF ACH, I) 20 THEN 258 ELSE RETURN

2780 FOR D=1 TO 7:050sUB 250

275 ACH, I3=15:IF D{>7 THEN =290

280 ACH, I3=1@:J=H:K=1:060T0 210

299 IF D1 THEN 7ZD@ ELSE A(H, I3=25

Z00 B(1,Di=H:B(Z. DI)=I

Z10 NEXT D

2@ PRINT:FOR D2=1 TO AS:FOR Bz=1 TO A8

30 IF ACDE, B23=1@ THEN 3780 ELSE IF A(D2, B2)=15 THEN ZE0
T4l IF ACDE, B2)=5 THEN 360 ELSE IF ACDZ, B2)=25 THEN 390
ISO PRINT * ";:G0T0 400

IE0 PRINT "X"3:060T0O 482

70 PRINT "sv3:G0TO 400

IO PRINT "$"3:060T0 400

I90 PRINT “&"3

400 NEXT BZ:PRINT:NEXT DZ

41i@ PRINT "YOUR MOVE"3s:INPUT Y:CLS:IF Y=0 THEN S0

420 V=JiW=K:IF Y<{9 THEN 440 ELSE IF NZ Q@ THEN 4908

430 PRINT "ILLEGAL MOVE. ":GOTO 418

440 IF YO 1 THEN 450 ELSE J=0:G0T0 4EQ

450 J=S0NY-35)

4E@ IF Yy THEN 480 ELSE IF Y=3 THEN 470 ELSE K=1: GOTO 5i@
470 K=0:G0T0 S10@

488 K=SG6NCY-73:G0TO 510

490 GDSUR 25@

485 AT, KI=z0:AlH, I1)>=108

500 J=HiRK=I:NZ=NZ-1:60T0 520

S0 K=RK+W:JI=J+V

520 PRINT:IF ACJT,K)=5 THEN 758 ELSE A{V,W)=20

SI0 ACT.RY=10:060T0 700

540 IF X<>99 THEN 3558 ELSE RETURN

550 V=X:M=Y:X=86M(J~X1 1 Y=80N (K=Y} : X=X+ Y=Y+M

560 IF ACX,Yi=1@ THEN E80 ELSE IF ACX,Y)»=20 THEN EBO
570 IF AV, MY=25 THEN E40

580 IF ROX.YI (O 1S THEN £10 ELSE GOSUR 250

585 X=Il:Y=M

590 PRINT "TWO ATTACKERS HAVE COLLIDED. ™

E08 AV, MI=28:ACX, Y =19 RETURN

EiB AV, MI=ZB:IF ACX, Y =25 THEN &£20 ELSE A(X.Yi=z0

£20 GDSUB BZ0

£25 X=939:RETURN

30 PRINT "stsbsok ZAP ' ! ——— YOU KILLED ONE. " :NZ=NZ+1:RETURN
4@ IF ACX, Y)Y ()15 THEN £80 ELSE MI=2

ES® IF BC1,M3) (OX THEN BE@ ELSE IF B(Z,M3)=Y THEN E70
EE0 MI9=MI+1:060T0 E50

670 B(1.M9»=99:G05UF &20

E80 A, YIiI=AMV, M) 1AV, M)=20:RETURN

£330 PRINT "+ YDU'VE BEEN DESTROYED BY A LUCKY COMPUTER #++":G0TO 770
700 FOR D=1 TO E:X=B(i.,D):Y=B(2,D):GOSUB 540

718 B(L,Dy=XsB{Z,D)=YINEXT D

720 IF NZOS THEN 320

730 PRINT:PRINT "YOU'VE DESTROYED ALL YOUR OPPONENTS — YOU WIN M
740 GOTO 770

758 PRINT:PRINT “YOU TOUCHED A MINE tHiiiiae

TED PRINT "dobuekd ZAP #sokdor YOU' RE DEAD P10

778 END
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Description

This game is based on the card game of Fish. You play against the com-
puter 1 on 1. The object in play is to form books. A book is any 4-of-a-
kind set of cards, such as 4 Kings, Queens, Jacks, etc. On getting the
fourth card of a book, the player shows all 4, announces he has a book,
lays the book down, and plays again. Cards are obtained by asking the
computer for certain cards by name; in turn the computer asks you for
cards. If you do not have the cards asked for by the computer or if the
computer does not have the cards you ask for, then you must go FISH.
If the card you pick up from the deck is the card you asked for, then
you get to continue with another turn. The game ends when the owner-
ship of all 13 books (52 cards) has been decided. The one with the most
books wins.

Be careful—the computer is too smart for cheaters!

Variable list

A() = Flags the cards that the player has asked for so the computer
can ask for those cards when it gets them

B = Number of books that player has
B1 = Number of books that computer has
C = Number of cards in player’s hand
C1 = Number of cards in computer’s hand
C2 = Number of times player has cheated
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C() = Cards in player’s hand
C1( ) = Cards in computer’s hand
D = Number of cards picked from deck
D( ) = Contains shuffled deck
N() = Number of cards player has of each kind
N1() = Number of cards computer has of each kind
R( ) = Number of times the computer has asked for a particular card

V = Card number picked

Sample run

THIS IS A CARDI GAME OF FISH. FLAY AS YOU WOULD
NORMALLYy AS NO CHEATING I8 ALLOWED!! NUMBERS
ARE TO RE ENTERED WHEN SFECIFIED FOR INFUTS.

ENTER A 1 FOR AN ACE,» A 11 FOR A JACK
A 12 FOR A QUEEN» AND A 13 FOR A KING.

GOOn LUCK1!

DO YOU WANT TO GO FIRST (1=YES)T0

THIS IS YOUR HAND ¢ &6 7 JACK 5 8
DO YOU HAVE ANY KINGS? (0=FISHy 1=YES)T?O

YOUR TURN,

WHAT CARD (RY NUMEER) ARE YOU LOOKING FOR7?6
I HAVE 1 OF THEM.

YOUR TURN.

THIS IS YOUR HAND ¢ &6 7 JACK S 8 6
WHAT CARD (RY NUMERER) ARE YOU LOOKING FOR?Y

GO FISH.
YOU FISHED A 3 .

THIS IS YOUR HAND ! &6 7 JACK S 8 6 3
D0 YOU HAVE ANY 8 87 (0=FISHs 1=YES)TI1
HOW MANYT1

THIS IS YOUR HAND ¢! 6 7 JACK 5 &6 3
DO YOU HAVE ANY @ 87 (0=FISH» 1=YES)TO

YOUR TURN.
WHAT CARDN (BY NUMEER) ARE YOU LOOKING FOR?TY

FLEASE DON'T CHEAT», IT‘S NOT POLITE!
WHAT CARD' (BY NUMEBER) ARE YOU LOOKING FOR7?é
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GO FISH.
YOU FISHED A ACE.

THIS IS YOUR HAND ¢ 6 7 JACK 5§ &6 3 AC
00 YOU HAVE ANY 10 §7 (0=FISHy 1=YES)70

YOUR TURN.,
WHAT CARD (RY NUMERER) ARE YOU LOOKING FOR?8

STOF CHEATING.
WHAT CARD (BY NUMBER) ARE YOU LOOKING FOR??

CHEATING AGAIN?? THREE TIMES IS BALD LUCK»
WHAT CARD (EY NUMERER) ARE YOU LOOKING FORT6

GO FISH.
YOU FISHED WHAT YOU ASKED FOR!

YOUR TURN.

THIS IS YOUR HAND ¢ 6 7 JACK S 6 3 AC
WHAT CARD (EY NUMBER) ARE YOU LOOKING FOR?3

GO FISH.,
YOU FISHED A 10 .

THIS IS YOUR HAND ¢ 6 7 JACK & 6 3 AC
[0 YOU HAVE ANY 2 87 (0=FI8Hr 1=YES)7TO

YOUR TURN,

WHAT CARD (RBY NUMBER) ARE YOU LOOKING FORT3

GO FISH.
YOU FISHED A ACE.

E

WATCH IT!
E &
E 6 10

THIS IS YOUR HANDN ¢ &6 7 JACK 5 6 3 ACE 6 10 ACE

00 YOU HAVE ANY 4 57 (0=FISH, 1=YES)TO

YOUR TURN.,

WHAT CARD (RY NUMEER) ARE YOU LOOKING FORT3

GO FISH.
YOU FISHED A 7 .

THIS I8 YOUR HANDI ¢ & 7 JACK S &6 3 AC
0o YOU HAVE ANY JACKS? (0=FISHy 1=YES)TO

T- CAUGHT YOU A FOURTH TIME., ONCE MORE AND
0o YOU HAVE ANY JACKST (0=FISH, 1=YES)T1
HOW MANYT1

THIS IS YOUR HAND ¢ &6 7 & & 3 ACE 6

00 YOU HAVE ANY 2 87 (0=FISHs 1=YES)7TI1
ENOUGHy ALREADY! FIVE TIMES IS TOO MUCH!!

(Y - -

E 6 10 ACE

YOU’RE QUT!

10 ACE 7

7
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Program listing

FISH

100 CLS
118 PRINT "THIS IB A CARD GAME OF FISH., PLAY AS YDU WOULD“
128 PRINT "NORMALLY. AS NO CHEATING IS ALLOWED!! NUMBERS"
13@ PRINT "ARE TO BE ENTERED WHEN SPECIFIED FOR INPUTS. ":PRINT
148 DIM C(IZ53,C1C35), NCI2), NL (122, DCS13, RC1IZ, ACLED
158 PRINT“ENTER A ONE FOR AN ACE, R 1! FDR A JACK":PRINT "A 12 FOR A"
160 PRINT " QUEEN. AND A 13 FOR A KING. ":PRINT:PRINT"G0OOD LUCK! v
170 PRINTEPRINT
188 FOR V=@ TO 1Z:FOR I=0 70 3
1398 X=INT(RND(@I#S523:1IF D(X)> @ THEN 138 ELSE D{Xi=V
2088 NEXT I:NEXT V:PRINT "DO YOU WANT TO GO FIRST (1=YES)":
218 INPUT A: PRINT:PRINT
220 FOR I=1 TO S5:G0OSUB- EBB:GOSUER EZ@:NEXT I
230 IF A=1 THEN 450
248 IF C1O@ THEN 278 ELSE PRINT "I RAN OUT OF CARDS, "3
23@ IF D=52 THEN Z6@ ELSE PRINT “"AND PICKED UP ONE":G0OSUR EZ@:GOTO 270
Z6@ PRINT "BUT “;:0C08UEB EZD:G0T0O4S0
270 FOR N=3 TO I1STEP-1sFORV=DTO1Z:IF N1CVI ON THEN 290
280 IF AV OO0 THEN 241
230 NEXT VINEXT M:L=9939:F0R I=0 TO 12:IF NiC(I)=0 THEN i@
B0 IF RCIX>=L THEN Z1@® ELSE L=R(I)
1@ NEXT I:FOR N=Z TO 1 STEP-1:FOR V=8 TO iz
2@ TFNLCVY ON THEN 338 ELSE  IF ROV) OL THEN 330 ELSE GOTO 74D
30 NEXT VENEXT N
240 Vi=V:GDOSUB 97@: Vv=Vi: R(VI=R(Vi+]
Z5@ PRINT "DO YDU HAVE ANY";:GOSUEB S4Q:PRINT “'S (@=FISH 1=YES)";
60 IMPUT A:IF A=0 THEN 420
7@ IF N(CVI=@ THEN 398
88 PRINT "HOW MANY" 3 :INPUT N:IFN=N(V) THEN 400
398 GOSUR B90:G0TO 350
400 FOR I=1 TO N:iCLCCL)=ViINLI(VI=NL(VI+1:C1i=C1l+1:NEXT I
410 GOSUR 7E0:GOSUE ESB: GOTD 240
428 IF NV OB THEN 390
430 Vi=V: GOSUB £2@0: IF D=S2 THEN 450 ELSEIF D(D-12 OVI THEN 450
44@ PRINT "I FISHED WHAT I ASKED FOR!":G0OTO 240
458 PRINT:PRINT “YOUR TURN."
460 IF COQ@ THEN 50@ ELSE PRINT "YOU RAN OUT OF CARDS, 3
470 IF D=0 THEN 4S@ ELSE PRINT "AND PICKED A"::GOSUBEGO
480 V=D(D-1):608UB 240:G0T0 SO0
430 PRINT "BUT “;:GOSUB EBD: GDTD 240
@08 GOSUE 970
510 PRINT "WHAT CARD ¢ BY NUMBER » ARE LOOKING FOR";:INPUT V
5280 PRINT
958 IF V{1 THEN S1@
S48 IF VO 1 THEN S50 ELSE v=12: GOTO 1822
S5@ IF VO 1@ THEN SEB ELSE v=B8: GOTO 10z0
SED IF V(i1 THEN 578 ELSE V=9: GOTO 1020
570 IF VO 12 THEN 588 ELSE V=18: GDTO 1020
58@ IF VO 13 THEN 590 ELSE V=11: GOTO 18:0
9598 Vv=V-2: GOTO 1020
E@2 IF D=5z THEN E4@ ELSE C(C)=D(D):D=D+1:F=@
E1@ NCCCCII=N(C(C)+1:C=C+1:1G0SUB E50:RETURN
2@ IF D=52 THEN &48 ELSE C1¢Ci=D(D):D=D+1
630 N1CCL(CL)i=N1(C1(Ci3)+1:C1=C1+1:G0SUR &50: RETURN
548 PRINT “THERE RRE NO MORE CARDS LEFT TO PICK":RETURN
E3@ FOR V=0 TO 1Z2:IF N(VI 4 THEN 670 ELSE GOSUR 760
E6@ PRINT "YOU HAVE A BOOK OF"3:GOSUEB B4@:PRINT "'S.":B=E+1
&70 NEXT V:GOTO 710
&80 FORV=QTO1Z:IFN1(V) )4 THEN 700 ELSE GOSUE 200
£9@ PRINT "I HAVE A BOOK OF"3;:GOSUB B4B:PRINT "’G.":Bi=Bil+l
708 NEXT V
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718
720
70
748
758
760
765
778
788
73@
oo
05
210
820
a0
840
o258
ocl
870
260
538
200
310
20
930
948
950
960
970
9806
390
1000
1012
1020
1020
1840
1850
120
1878
1228
1280
1180

IF D=352 THEN 720 ELSE RETURN

IF C+Ci=0 THEN 732 ELSE RETURN

PRINT:PRINT "GAME’S OVER' !":IF B(Bi THEN 750

PRINT "YDU WON, ":B"TO"BLl:G0TO 1126

PRINT "I WON"B1"TO"R ::5TQOP

IF C{1 THEN 7908

FOR I=08 TO C-1:IFCCI) OV THEN 720

FOR J=1 TO C-2:C{J3=CCJ+1):NEXT J:C=C~1: GOTD 7@

NEXT I

NWVI=B:AVI=0:F=0! RETURN

IF C1<{1 THEN 838

FOR I=@ TO Ci-—-1:21IF Ci1<I) OV THEN 820

FOR J=I TO C1-2:C1(J=CL (J+1) sNEXTJI:C1=Ci-1:50T0800

NEXT I

N1 ¢VI=0: RETURN

IFVYE THEN 558 ELSE PRINT V+235 iRETURN

IF V3 THEN BEB ELSE PRINT " JACK"; :RETURN

IF V) 1@ THEN B70 ELSE PRINT " QUEEN"::RETURN

IF V11 THEN 288 ELSE PRINT " KING"3:RETURN

PRINT " ACE":; :RETURN

Ce=Cz+13IF CZ=1 THEN 91@ ELSE IF CZ=Z THEN 9B ELSE IFCZ=3 THEN 930
IF C&=4 THEN 240 ELSE IF CZ=3 THEN 2958

PRINT "PLERSE DON'T CHEAT IT'S5 NOT POLITE!":RETURN

PRINT "STOP CHEATING. " :RETURN

PRINT "CHEATING AGAIN?? THREE TIMES IS BAD LUCK, WATCH IT!":RETURN
PRINT "I CAUGHT YOU A FORTH TIME. ONCE MORE AND YOU' RE QUT " :RETURN
PRINT “"ENOUGH ALREADY! FIVE TIMES IS TOO MUCH! v
GOTO 368

IF F=0 THEN 9280 ELSE PRINT:RETURN

PRINT :PRINT "THIS IS YDOUR HAND "j:fF=1

IF CO8 THEN 1000 ELSE PRINT "EMPTY"3:PRINT: RETURN

PRINT "z "5:FOR I=0 T0 C-1:V=C(I):G0SUR S4B:NEXT I

PRINT :RETURN

IFNCV OB THEN 1020 ELSE GOSUR 890:G0T0 51@

ACVIr=12IF N1¢V)=0 THEN 10ED® ELSE PRINT "I HAVE"NIC(V2"0OF THEM. ®
FOR I=1 TO NidV::CCCr=ViC=0+1aNIVI=NIVOI+1INEXT I

F=0:0G05UF CBO:GOSUR &5B:G0TO 450

PRINT "GO FISH.":V1=V:GOSUR EB@: IF D=5 THEN Z40
IF DCD-1=V1 THEN 1@80 ELSE PRINT "YOU FISHED A":
V=D(D-13:GOSUE 24@: PRINT ".":PRINT: GOTO 24@
PRINT "YOU FISHED WHAT YOU ASKED FOR'":GOTO 4506
END
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Description

You play assisted by the computer in this simulated golf game.

Every hole on a golf course falls into one of 3 categories: par 3,
par 4, or par 5. With an allowance being made for 2 strokes (swing of
the golf club) on each putting green (where the golf hole is located),
par is the score that a top-notch golfer would be expected to make on
each of the holes located throughout the golf course. Therefore, on a
par 3 hole you are expected to hit the putting green in a single stroke
off the tee (where the golf ball is initially hit) and take 2 putts. Ona
par 4 you are expected to reach the putting green in 2 strokes. And on
a par 5, you should reach the green in 3 strokes.

The total of all the different pars adds up to par for the entire course.
Most courses have a total par of 72 consisting of 10 par 4s, 4 par 55,
and 4 par 3s.

Some of the scoring terms used in golf and in this computer pro- .
gram are as follows:

“Birdie’’—1 stroke less than par.

“Eagle”’—2 strokes less than par.

“Double Eagle”’—3 strokes less than par.

“Ace’”’ or “Hole in One”—1 stroke into the hole.

“Bogey 1 stroke over par.

“Double Bogey''—2 strokes over par.

“Handicap”—The number of strokes over par in which your average
game is played. For example, if your average is 85 over a par 72 course,
then your handicap is 85 - 72 or /3. Thus, 13 strokes will be deleted
from your total score in competition stroke-play.



Some of the terms used in golf and in the computer program are as
follows:

“Pin”’—Golf hole.

“Fairway”’—The lane of grass between the tee and the green. Usu-
ally the fairway will have obstacles such as water hazards, trees, rough,
and sand traps.

“Rough”—High grass.

“Sand Trap/Bunker”—A shallow pit of sand.

“Water Hazard”"—A pond of water,

Before the computer game starts, the length of each hole and par
are given to you at the start of each hole. The clubs are chosen accord-
ing to the yardage desired. Your putting stroke is measured by a putt
potency given by the computer. Be cautious—there are trees, rough,
sand traps, and water hazards. The computer is nice to you, however;
it gives you your handicap!

Program notes

Line 1290-1310 has a set of DATA statements. The numbers in the
DATA statement are in groups of 4, each group describing the terrain
and description for its respective hole. For example:

1290 DATA A,B,C,D,AB,CD,....

where A is distance,
B is par for the course,
C is the description of the terrain to the right, and
D is the description of the terrain to the left.
The descriptions are as follows. If the values of C or D are:

THEN THE COMPUTER PRINTS “FAIRWAY”

THEN THE COMPUTER PRINTS “ROUGH”

THEN THE COMPUTER PRINTS “TREES”

THEN THE COMPUTER PRINTS “ADJACENT FAIRWAY”
THEN THE COMPUTER PRINTS “TRAP”

THEN THE COMPUTER PRINTS “WATER”

.O\Lh-bu)l\)-—-\

Variable list

C = Club number picked by player

D = Distance from tee to hole
D1 = Yards ball traveled
D2 = Distance of ball from cup

F = Current hole number
G1T = Number of holes for current game
G2 = Total shots for course by player
G3 = Total par for course

H = Handicap of player

] = Number of penalty strokes assessed
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L() = Contains location of obstructions for current hole

N = Percent of a shot being dubbed in a trap

O = Number of yards ball is out of line with hole
P = Par for hole

Q = Percentage of shot going bad

S1 = Number of shots on current hole

S2 = Number of shots on hole

W = Percent of swing for clubs 23-29

Z9 = Putt potency number

Sample run

GOLF GAME.
WHAT IS YOUR HANDICAF?10

0=HOOKy 1=SLICEs 2=DISTANCE, 4=TRAF SHOTS, S=FUTTING
WHICH ONE IS YOUR WORST74

SELECTION OF CLURS?

YARDAGE DESIRED SUGGESTED CLUES
O TO 100 29 1O 23

100 TO 200 19 TO 13

200 TO 280 4 70 1

FERCENT OF SWING ON CLUERS 23 TO 29 ARE .01 TO .99
CHOOSE FUTT FOTENCY RBY DISTANCE TO HOLE.
YOUR FUTT FOTENCY MUST BE RETWEEN 1 AND 25

YOU ARE AT HOLE 1 s DISTANCE 361 YARDS, FAR 4
ON YOUR RIGHT IS ADJACENT FAIRWAY

ON YOUR LEFT IS ROUGH

FICK A CLUR?TZ

YOU SLICEL-~ RADLY.

SHOT WENT 238 YARDS. 1775 132 YARDS FROM THE CUF.
BALL IS5 48 YARDS OFF LINE...IN ADJACENT FAIRWAY
FICK A CLURTLE

ON THE GREEN 346 FEET FROM THE FIN.
FUTT FOTENCY NUMBER?20
YOu HOLED IT.

SCORE ON HOLE 1 WAS 3
TOTAL FAR FOR 1 HOLES IS 4 . YOUR TOTAL IS 3 .
A RIRDIE.

YOU ARE AT HOLE 2 , DISTANCE 389 YARDSs FAR 4
ON YOUR RIGHT IS TREES

ON YOUR LEFT IS TREES

FICK A CLUERTL
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YOU SLICEI- SHOT WENT 230 YARDOS, IT’8S 162 YARDS FROM THE

BalLL I8 33 YARDS OFF LINE...IN TREES
FICK A CLUB7I1S

ON THE GREEN 42 FEET FROM THE FIN.
FUTT FOTENCY NUMBER?20

FASSED BY CUF.

ON THE GREEN % FEET FROM THE FIN,
FUTT FOTENCY NUMBER?2

YOU HOLED IT.

SCORE ON HOLE 2 WAS 4

TOTAL FPAR FOR 2 HOLES IS 8 . YOUR TOTAL IS 7 .
A FAR. NICE GOING.

YOU ARE AT HOLE 3 » DISTANCE 206 YARDS, FAR 3
ON YOUR RIGHT IS ADJACENT FAIRWAY

ON YOUR LEFT IS ROUGH

FICK A CLURBR?4

EALL HIT TREE ~ EROUNCED INTO ROUGH 131 YARDS FROM HOLE.
FICK A CLUR?16

YOU DURRED IT.

GHOT WENT 35 YARDS., IT’8 96 YARDS FROM THE CUF.
FALL IS 4 YARDS OFF LINE...IN FAIRWAY

FICK A CLUR?P1?

BALL HIT TREE - ROUNCED INTO ROUGH 21 YARDS FROM HOLE.
FICK A& CLUB?T29?

FERCENT FULL SWING?T.Z2

ON THE GREEN 3 FEET FROM THE FIN.
FUTT FOTENCY NUMBER?Z
YOu HOLED IT.

SCORE ON HOLE 3 WAS 3

TOTAL FAR FOR 3 HOLES IS 11 . YOUR TOTAL IS5 12 .

YOU ARE AT HOLE 4 » DISTANCE 500 YARDS, FAR O
ON YOUR RIGHT IS 0OUT OF BOUNDS

ON YOUR LEFT IS ROUGH

FICK A CLUB?L

YOU SLICED- SHOT WENT QUT OF BOUNDS.
FENALTY STROKE ASSESSED.
FICK A CLUE?L

SHOT WENT 235 YARDS., IT’'S 265 YARDS FROM THE CUF.
BALL IS 4 YARDS OFF LINE...IN FAIRWAY
FICK A CLUR?L

SHOT WENT 238 YARDG, IT'§ 52 YARDS FROM THE CUF.
RALL IS 44 YARDS OFF LINE...IN FAIRWAY
FICK A CLUB?28

FERCENT FULIL SWING?.4
ON THE GREEN 9 FEET FROM THE FIN.

FUTT FOTENCY NUMBERTO
YOU HOLED IT.

CUF,
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SCORE ON HOLE 4 WAS 6

TOTAL FAR

YOU ARE AT HOLE & »

FOR 4 HOLES IS 16 . YOUR TOTAL IS 18 .

DISTANCE 408 YARDS», PAR 4

ON YOUR RIGHT IS ROUGH
ON YOUR LEFT IS ADJACENT FAIRWAY
FICK A& CLURY

(3 O O O L L L T L B

Program listing

100 CLS:PRINT

11@ DIM L ¢
128 PRINT

"GOLF GAME. "IPRINT
12 :6100=18:62=0: G3=0: A=0:N=. 8: 5z=0:F=1
"WHAT IS YOUR HANDICAP";: INPUT H

130 IF H) 3@ THEN 47@:IF H@ THEN 470

148 PRINT
158 PRINT

1EQ IF T="H"
THEN T=4 ELSE IF T$="p"

$=I|Tl|
165 CLS

"H=HOOK. S=S5LICE. D=DISTANCE. T=TRAFP SHOT.
"WHICH ONE IS YOUR WORST"s: INPUT T%

THEN T=0 ELSE IF T#="G"
THEN T=3

178 Z9=INT(Z@+RND (B> »+1S5: IF TS5 THEN 180 ELSE 19=I9-5

180 PRINT
198 PRINT
200 PRINT
218 PRINT
220 PRINT
238 PRINT
248 PRINT:
258 PRINT
260 PRINT

280 Li@i=0:T=0:0=0:52=
=90 IF F=1 THEN

I@@ PRINT
Zie IF 81

IE@ PRINT
T40 PRINT
5@ PRINT

TED IF P=3 THEN

78 PRINT

@ IF Si=

"SELECTION OF CLUBS:":iPRINT
"YARDAGE DESIRED"TAB(IS) "SUGGESTED CLUBSY

YR TO 10@'TABC4ABY "29 TO 23"
"1@00 TO ZR@"TRRC4R"1IS TO 13V
“I2@P TO 2eBtTARG4@YY 4 TO LM
PRINT "PERCENT OF SWING ON CLURBS 27 TO 29 ARE .01

"CHOOSE PUTT POTENCY BY DISTANCE TO HOLE.™
“YOUR PUTT POTENCY MUST BE BETWEEN 1 AND"I3
2+1iK=0

]
P e}

"SCORE ON HOLE"F-1"WAS"S1:GOTO 1320

P+2 THEN 220 ELSE IF S1=P THEN I40

P—1 THEN Z5@ ELSE IF S1=P-2 THEN JEB ELSE 80
"KEEP YOUR HEAD DOWN. *:GOTO 286

"A PAR. NICE GOING. ":(G0TO ZE0

"A BIRDIE. ":G0OTO ZE@

I7Q:PRINT "A GREAT BIG EAGLE. ":GOTO 8@
"A HOLE IN ONE™

T80 IF F=19 THEN 1710 ELSE 51=0

598 IF 51=8 THEN
408 IF L3 {1 THEN 3970 ELSE X=0:

41@ PRINT
428 PRINT

1228

IF LC@335 THEN 28@8H

“SHOT WENT"D1YARDS. IT’S"DZ"YARDE FROM THE CUP."
"BEALL ISY3INTCOX3"YARDS OFF LINE...IN "3

470 GOSUER 440:G0T0 S40

4408 ON LOXD

46D PRINT
478 PRINT
488 PRINT
4308 PRINT
S@@ PRINT
5180 PRINT
S2@8 PRINT
SE@ PRINT

62

GOTO 48@, 4390, 500,510, 528, 530
"OUT OF BOUNDS":RETURN
“PGA RULES HANDICAR =
"FAIRWAY" : RETURN
"ROUGH" : RETURN
"TREES" s RETURN
“ADJACENT FAIRWAY" :RETURN
"TRAP" s RETURN
"WATER" t RETURN

@ TO I@v:GOT0 120

THEN T=1 ELSE IF T&="D"

P=PUTTING"

10 939"

THEN T=2 ELSE IF T



370

382

350

1088
1@1@
1820
10308
1048
1850
1060
1070
1280
1852
1180
1118
1120
1138
1140
1158
1ie@
117@
118
1192
1200

A=1:PRINT “PICK A CLUB"3:INPUT C:PRINT

IF €41

THEN 580 ELSE IF O)29 THEN 38@ ELSE IF O)4 THEN 590

IF LC@y<S THEN 680 ELSE IF 007 THEN 800 ELSE SE@

S1=61~—

PRINT

1
"THAT CLUB IS5 NOT IN BAG. ":PRINT:=GOTO 548

IF C{12 THEN 568 ELSE C=C-t:007T0 =68
Sl=G1+1:W=1:1IF CY13 THEN 212

IF INT(F/Za=F/3 THEN 770

IF C{(4 THEN &30 ELSE 648

IF Le@r=2 THEN 7008

IF 51>

Di=INT

7 THEN 710
COCED-HI+2, 5+187 - CCEQ-HIy s, 25+1 500/ 20 +25+RND (B 5

Dl=INT(Disi3 2 IF T=2 THEN 3980

O=CRND (@) /. B2+ (ZxH+1Ey+ABS (TAN(D1:+Z, SDBDBRE-@3) )
DE=INT(BRRCO+Z+ABS(D-Di3+22 1

IF D-Di{@ THEN 7208 ELSE 740

PRINT

"YU DUBBED IT.*:Di=35:0C0T0 &70

IF D(z@® THEN 1058 ELSE &50

IF DZK
PRINT

B=D:D=

20 THEN 740
"TOOD MUCH CLUB. PAST THE HOLE. ™
Dz

IF DZ»27 THEN BBD ELSE IF D20 THEN 838 ELSE IF DZX.5 THEN 962
Le@r»=9:60T0 1198

IF S2+Q+ (1@« (F—13 /7183 ((F—13#(T72+(CH+13 /. 85332718 THEN 798

GOTO &2@

O=0G+1

IF S1/2<4 INTCSL/2) THEN 350 ELSE 720

PRINT
IF Wi
iF L@

"PERCENT FULL SWING";: INPUT W:PRINT
THEN 5708
¥=5 THEN 1040

IF C=14 THEN &40 ELSE C=U-18:50TC &48
IF D<9S THEN 700

PRINT
D=D-75

"BALL HIT TREE -~ BOUNCED INTO ROUGH"D-753" YARDS FROM HOLE."
:G0TO 548

IF 0<Z@ THEN 37@ ELSE IF N@ THEN 970 ELSE IF T)@ THEN 920
S9=(8z+13 /15 IF INT(S853=83 THEN 9308

PRINT

"YU HODKED— “s:L (@=L 2

IF D45 THEN 3480 ELSE GOTO Z9@
S9=(G2+113/13:IF INT(S33=59 THEN S22

PRINT
PRINT
Le@y=5
L{@y=8
LeBi=1
Di=INT
IF L{B
PRINT

"¥YOou SLICED- "s5:L(@=L<13:607T0 312
“BADLY. ":6OTO0 398

:GOTO 90

tDE=INT(D2+3Z) :GOTO 1290

:GO0TO Z50

C.85+D12:607T0 6782

1YE THEN 1030

“SHOT WENT INTO WATER. “

5i=851+1

PRINT
PRINT

"PENALTY STROKE ASBGESSED. ":J=J+1:L(@)=1:D=B:60T0 5408
"SHOT WENT DUT OF EBOUNDS. ":GOTO 1218

IF T=Z THEN 1QE8

D=1+

(ZHINTCCB@B/ CAD-HI 2+ CRND (B 220 :60TO 1896

IF ReRND(@Y N THEN 1080 ELSE N=N#+, 2

PRINT

"SHOT DUBBED. STILL IN TRAP. ":G0TO S40

=, 2:G0T0 1050

PRINT
PRINT

"ON THE GREEN, "D2"FEET FROM PIN. "
“PUTT POTENCY NUMBER"; :INPUT I:IF IX>ZS THEN 1128

Si=Gi+1:IF DI THEN 1142 ELSE 1130

PRINT

"MUST BE BETWEEN 1 ANDU"ZS:6070 11009

IF S1+1-P)y (H», B720+2 THEN 1138

IF Si>7 THEN 113@ ELSE IF T=3 THEN 121@
PO=INT ( (I=RNDCRY+Z3+10

IF D2/29<¢ 4 THEN 11780 ELSE PS=P3+INTC((I/188)+Dx}
DZ=D2-P3

IF D&
PRINT
PRINT

(~Z THEN 1220 ELSE IF DZYZ THEN 12082
"YOU HOLED IT. ":PRINT:F=F+1:G07T0 ZE@
"PUTT SHORT. ":DE=INT(D2):GOTO 168908
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1210
1220
1230
1240
1250
1260
1278
1280
1290
1300
1210
1720

3
o ]

1340

64

DE=D2-CCI+RNDC@3 3 :6G0TO 1150

PRINT “PASSED BY CUP.":D2=-DZ:GOT0O 1290

READ D, P, L €13, LC2) EPRINT

PRINT "YOU ARE AT HOLE"F", DISTANCE"D"YARDS, PAR"P

GE=G3I+P

PRINT "ON YOUR RIGHT IS "3:iX=1:0G0SUB 440

PRINT "ON YOUR LEFT IS "3:X=2:GDS5UR 44D:G0TO 340

RETURN

pDaTA 21,4, 4, 2 389, 4y 50 3, 206, 35 45 2. 508, 5, 75 2, 408, 4, 25 4, 209, 4.6 4
DATA 424,64, 4, 2, 288, 4, 44 4,196, 5, 7, 2, 400, 4, 7, 2, 560, 5, 7, 2, 122, 5 20 &
DATA 357, 4, 4y 4, 284, 43 24 4+ 675, 5, 2, 5 375 45 4, 2, 186, 3, 6, 2,550, 5, 8,4 8
PRINT:G2=62+51

PRINT “TOTAL PAR FOR"F-1"HOLES IS"GIZ". YOUR TOTAL I1s"Gz".*"

IF GLIOF-1 THEN 318 ELSE END




B =
=
@

field
anhilleny
cannon

Description

This program allows you to vector in on a stationary target. You give
orders for angle of fire, and the computer either tells you if the target
is destroyed or how far you missed in yards. The artillery piece you are
firing has a range of 0 to 90 degrees. Don’t waste your ammo. You only
have 10 shells to play with!

Variable list

A = Angle for shot
B = Angle picked by player
G = Total number of shots in game
H = Total number of targets destroyed -
| = Total number of direct hits
L = Number of yards shot traveled based on player’s angle
P = Shells expended in current round
Q = Number of objects shot at
S = Number of yards away from object
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T1 = Total number of targets in game
T9 = Percentage of shots hit
Z = Variable used in determining number of yards to object

Sample run

THIS IS A GUNNERY GAME

INSTRUCTIONS? (1 FOR YES)71
WELCOME TO BUNKER 7. YOU ARE LOCATED ONLY A FEW
HUNDRED YARDS FROM THE ENEMY TRENCHES. YOU ARE NOW
THE GUNNERY COMMANDER. IT IS YOUR DUTY TO DETERMINE
THE ANGLE OF TROJECTORY AT WHICH TO FIRE YOUR
ARTILARY, HOWEVER, THESE ARE HARD TIMES AND YOU WILL BE
LIMITED TO 10 SHELLS FER TARGET. NOTE-~-THE GUN HAS
A RANGE OF 0 TO 90 DEGREES. 600D LUCK !H!

SIRy THERE IS A MACHINE GUN AT 845 YARDS.

L I I I I I e A A A A 2 N A IR AR AR AR I BRI R O A B A I A A

WHAT ARE YOUR ORDERS FOR THE ANGLE OF FIRE?Z23
A MISS RY 464 YARDS, TRY AGAIN.

ANGLE~-%27
EANGy TARGET DESTROYED ! 11

2 SHELL(S) EXFENDED.

WE HAVE SIGHTED ANOTHER TARGET.
SHALL WE FIRE? (1=YES)71

SIRy LOOK ANOTHER MACHINE GUNs AT 708 YARDS,

D A I I I I e R N A A 2 2 O 2R B R 2 B

WHAT ARE YOUR ORDERS FOR THE ANGLE OF FIRET23
A MISS BY 26 YARDS»y TRY AGAIN.

ANGLE~-722
BANGs TARGET DESTROYED 1!

2 SHELL(S) EXFENDED.

WE HAVE SIGHTED ANOTHER TARGET.
SHALL WE FIRE? (1=YES)7?I

THEY ARE CHARGING» NOW ONLY 758 YARDS AWAY.

D A A I I I e I I N A R R RS A

WHAT ARE YOUR ORDERS FOR THE ANGLE OF FIRE?24
EANGs TARGET DESTROYED M}

1 SHELL(S) EXPENDED,

WE HAVE SIGHTED ANOTHER TARGET.
BHALL WE FIRE? (1=YES)7?1

THERE» A TANK AT 932 YARDS.

L A A A A SR AR AR A A I I 2 IR A N
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WHAT ARE YOUR ORIERS FOR THE ANGLE OF FIRE?32
A MISS BY 1% YARDSy TRY AGAIN.

ANGLE-~733
BANG» TARGET DESTROYED 1+ 11

2 SHELL(S) EXFENDED.

WE HAVE SIGHTED ANOTHER TARGET.
SHALL WE FIRET (1=YES)7?1

THEY ARE RUSHING US, 447 YARDS HERE.

PO R O I A I I R N 2 IR AR

WHAT ARE YOUR ORDERS FOR THE ANGLE OF FIRET13.2
BRANG» TARGET DESTROYED 1!}

1 SHELL(S) EXPENDED.

WE HAVE SIGHTED ANOTHER TARGET.
SHALL WE FIRE? (1=YES)?1

THERE IS A SUFFORT TRENCHs 348 YARDS AWAY.

P N A A I I I I A A e N R R R R

WHAT ARE YQUR ORDERS FOR THE ANGLE OF FIRET10
ROOM» DIRECT HIT tHP1I

1 SHELL(8) EXFENDEID.

WE HAVE SIGHTED ANOTHER TARGET.
SHALL WE FIRET (1=YES)7TO

A TOTAL OF 9 SHOTS FIRED OUT OF 6 TARGETS,
THAT 18 AN AVERAGE OF 1.5 SHOTS FER TARGET.
A TOTAL OF & TARGET(S) DESTROYED.

1 OF THEM BEING DIRECT HITS.
FINFE WORK MEN, MY RATING WAS 20 X

YOU ARE RATED AS A GENERAL!

READY .

L O o Lo D T L L L

Program listing

1@ CLS:PRINT "THIES IE A CUNNERY GOME":PRINT
118 PRINT "INSTRUCDTIONS? (¥Y=YEG)':
128 INPUT A%:IE A%="Y" THEN 130 ELBE 2080

170 CLE:PRINT “WELCOME TO BUNKER 7. YOU ARE LOCATED ONLY A FEWS
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PRINT “HUNDRED YARDS FROM ENEMY TRENCHES. YOU ARE NOW

PRINT "THE GUNMNERY COMMANDER. .IT IS5 VYOUR DUTY TO DETERMINE"
PRINT “THE ANGLE OF TRAJECTORY AT WHICH TO FIRE YOUR®

PRINT "ARTILLERY. HOWEVER, THESE ARE HARD TIMES AND YOU WILL BEF
PRINT "LIMITED TO 18 SHELLS PER TARGET. NOTE--THE GUN HASY
PRINT "A RANGE OF ® TC 98 DEGREES. GUOOD LUCKPI!Y

PRINT:PRINT "HIT -ENTER- TO BEGIN..."3:INPUT A

A=INT COB+RND (@) 2 : Z=R: V=100 I=Z+(Z. 141571803 :F=(GINCZI 14V

S=((ZHF I (SERC (V)= (F+23333 /3. 8:8=INT(S) ¢t IF Q08 THEN 320
PRINT "SIR, THERE IS A MACHINE GUN AT"S"YARDG."

PRINT i it atisenannssnnununsnnsnssnssnesnnnnnns "

PRINT

PRINT "WHAT ARE YOUR ORDERS FOR THE ANGLE OF FIRE";:
P=1:INPUT RB:GOTO 210

PRINT:P=P+1:IF P=11 THEN 478 ELSE PRINT “"ANGLE--"3;:INPUT B
IF BYSB THEN 378 ELSE IF BB THEN Z708

IF B=98 THEN =88

E=RrE=E+ (3. 1415/180) :0=8INCE 4V L= {2+D) + (BARC V2~ (0+23 2133 /9. 8
L=INT (L) :M=ABS(S-L>

IF B=0 THEN 390 ELSE C=R+1:D=fR-1:IF B)=D THEN Z4@8 ELSE 358
IF B{(=UC THEN 400

IF P=1i@ THEN 45@ ELSE IF A=R THEN 4P8@ ELSE IF M=0 THEN 4008
PRINT "A MISE BY'"M"YARDS, TRY AGAIN. ":50TO 280

PRINT "THAT ORDER IS5 0OUT OF RANGE. TRY AGARIN. ":P=P-1:G0T0 ZC0@
PRINT “CONGRATULATIONS. YOU HAVE JUST BLOWN UP YOURSELF!":G0OTO Z80
PRINT "YOU HAVE JUST BLOWN UP YOUR OWN LINES!":G0TO 280
He=H+1

IF B=A THEN 42@ ELSE PRINT “BANG., TARGET DESTROYED! !!":GOTO 430
I=I+1:PRINT "RBOOM, DIRECT HITI!i!@!®

PRINT ‘

PRINT PYSHELL (8 EXPENDED. ":G0OTO 478

PRINT A MISS BY"M"YARDS BUT. THOSE ARE ALL YDUR SHELLEB. Y
PRINT "THE CORRECT ANGLE OF FIRE WRS"A:PRINT

PRINT:PRINT "WE HAVE SIGHTED ANMOTHER TARGET."

Ti=Ti+1

PRINT "SHALL WE FIRE? (Y=YES)"3:INPUT R$

G=G+P:P=90: IFf R$="Y" THEN 510 ELSE 650

518 PRINT:PRINT :Q=0R+1:00T0 Z2@

20 ON & GOTO 5S40, 570, 608, &0, 60

SI0 B=@:60T0 230

S4@ PRINT "SIR, LDOK ANOTHER MACHINE GUN, AT"S"YARDS. "

OOl PRINT M i in i inncwansnnnssssunanennnansnanssnannnnas "

SE@ PRINT:=GOTD 260

578 PRINT "THEY ARE CHRRGING. NOW ONLY"SYYARDS AWAY. "

GED PRINT Muiiiieerasccensasnnasmnsassanansnnnnansnnns "

598 PRINT:GOTO Z6@

&2@ PRINT "THERE, A TANK AT"S"YARDS. "

BI0 PRINT "iuiininnenaanrnnnannnnnanuns "

£20 PRINT:607T0 Ze@

6@ PRINT "“THEY ARE RUSHING US. "S"YARDE AWAY. "

BB PRINT M uienieninncmnanmennnnmnannnnsnnssnan

&350 PRINT:GOTO ZeB

BED PRINT "THERE IS A SUPPORT TRENCH, "S"YARDS AWAY. "

E70 PRINT e uuunawmnemsssnoassasnnunnnosannansnnansnnx "

580 PRINT:GOTD 260

£90 PRINT:PRINT:PRINT

70@ PRINT "A TOTAL DOF"G"SHOTES WERE FIRED OQUT OF"TLI"TARGETS."

710 TO9=INTCG/T1x+1085 /100

720 PRINT "THAT IS5 AN AVERAGE OF"T9"GHOTS PER TARGET. ™

7@ PRINT "A TOTAL OF"H"TARGET(5) WERE DESTROYED.®

740 PRINT I5"OF THEM WERE DIRECT HITS. "

750 PRINT “FINE WORK MEN. MY RATING WAB":

7EB TO=(C11-(3/T12)=-T9x=+1@:TO=INT (T9+108) /100 PRINT TI"%" A
778 PRINTEPRINT:IF T9<Z@ THEN Be@ ELSE PRINT "YOU ARE RATED A5 A "3
@ IF 7998 THEN PRINT ""GENERAL!'"I1END

790 IF T9 B0 THEN PRINT “COLONEL!":END

SBB IF TS 70 THEN PRINT "CAPTAIM!":END




210
Cuz

a50
240
58
oed
o708

IF T2 ER THEN
IF 79)5@8 THEN
IF 79 4@ THEN
IF T I8 THEN
IF T9y2B THEN

PRINT
PRINT
PRINT
PRINT
PRINT

"LIEUTENANT !V 1END
"CERGEANMT ! M tEND
“"CORPORAL M IEND

"PRIVATE FIRST CLASS!":END
YPRIVATE! " :2ND

PRINT "Y0OU HAVE NO RATING! YOU WERE S0 HOPELESS!!!"

END
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Description

The object of this game is to beat the other players by having 1 of your
12 horses finish before 1 of the other player’s 12 horses finishes (win).
Each player throws a pair of dice. The player then decides which of his
12 horses to advance based on the dice that were thrown. The player
can either combine (add) the dice and move the horse with that number
1 length, or he can advance 2 horses 1 length. In the latter situation
each horse number would be one of the dice thrown.

For example, let’s say that the player throws a 5 and a 3. Then he
can advance the 8 horse (5 + 3) 1 length or advance the 5 horse and the
3 horse 1 length each.

Note

Because some numbers are easier to throw than others, the amount of
lengths each horse must travel differs according to the probability of
throwing that number (see NOTONE probability table.)

Variable list

D = Contents of die one
D1 = Contents of die two

N() = Number of lengths each horse has actually traveled for each
player
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P = Number played by player
Q = Number of players

T( ) = Number of lengths each horse number needs to travel in order
to win

Sample run

THIS IS A HORSE RACE GAME.
00 YOU WANT THE INSTRUCTIONS? (1 FOR YES)T1

THIS IS A HORSE RACE GAME. THE OBJECT OF THE GAME IS TO BEAT
THE OTHER FLAYER ERY HAVING ONE OF YOUR TWELVE HORSES FINISH
BEFORE THE OTHER PERSON‘S HORSE FINISHES.

THIS IS DONE EY EACH PERSON THROWING A PAIR OF DICE.

AFTER THE DICE ARE THROWN, THAT FLAYER THEN DECIDES WHICH HORSE
TO ADVANCE BASEI ON THE DICE THAT WERE THROWN. YOU CAN EITHER
COMEINE (ADD) THE DICE AND MOVE THAT HORSE ONE LENGTHs OR YOU
CAN ADVANCE TWO HORSES ONE LLENGTH, EACH HORSE RBEING

ONE OF THE DICE THROWN.

LET’S SaY THAT YOU THROW A 5 AND A 3. THEN YOU CAN ADVANCE
THE 8 HORSE (5 + 3) ONE LENGTH OR ADVANCE THE § HORSE AND THE

3 HORSE ONE LENGTH.

RECAUSE SOME NUMEERS ARE EASIER TO THROW THAN OTHERS,» THE AMOUNT
OF LENGTHS EACH HORSE MUST TRAVEL DIFFERS ACCORDING TO THE
FROBARILITY OF THROWING THAT NUMEER.

GOOD LUCK.

HOW MANY FLAYERST2
FRINT A& TARLE? (1 FOR YES)>71
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11 - ¢ )¢ )

12 - ¢ )

FLAYER 1 ‘S TURN.

YOU THREW A 2 AND
WHAT NUMBER DO YOU

FLAYER 2 ‘8 TURN.

YOU THREW & 2 AND
WHAT NUMRER DO YOU

FRINT A TARLE? (1 FOR

FERSON 1

i

COC e X

LS SR RO A X
= C Y X Y0 )¢
- {X)C YO ) )¢
300 e )¢
YO 3C )¢ ¢
Y 0 2 ¢
3
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VEOED RO RO
YO X Y0 ¢
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FLAYER 1 ‘S TURN.,

YOU THREW A & AND
WHAT NUMBER IO YOU

FLAYER 2 ‘8 TURN.

YOU THREW A S5 AND
WHAT NUMRER DO YOU

FRINT A TaARLE? (1 FOR
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FLAYER 1 '8 TURN.

YOU THREW A 4 AND
WHAT NUMRBER DO YOU

FLAYER 2 ‘8 TURN.

YOU THREW A 4 AND
WHAT NUMEBER DO YOU

FRINT A TABLE? (1
FLAYER 1 '8 TURN,

YOU THREW A 3 AND
WHAT NUMBER D0 YOU

FLAYER 2 S5 TURN,
YOU THREW A 1 AND
WHAT NUMEER DO YOU
FRINT A TABLET (1
FLAYER 1 8 TURN.

YOU THREW A 5§ AND
WHAT NUMBER DO YOU

FLAYER 2 ‘S TURN,

YOU THREW A 1 AND
WHAT NUMEER DO YOU

FRINT A TARLE? (1

FLAYER 1 ‘S TURN,

YOU THREW A 2 AND
WHAT NUMEER 00 YOU

FLAYER 2 ‘8 TURN.
YOU THREW A 2 AND
WHAT NUMERER 10O YOU
FRINT A TARLE? (1
FLAYER 1 ‘8 TURN.

YOU THREW A & AND
WHAT NUMEBRER DO YOU

FLAYER 2 ‘8 TURN.
YOU THREW A 6 AND
WHAT NUMBER DO YOU
FRINT A TARLE? (1

FLAYER 1 '8 TURN.

a 1
FLAYT4

A S
FLAYT4

FOR YES)TO

A 5

FPLAY?3

A 2
FLAYT3

FOR YES)7TO

A b
FLAYTé

FOR YES)TO

A 4
PLAYT4

A 9
FLAYTS

FOR YES)TO

A 2
FLAYTé

a6 1
FLAYTS

FOR YES)?0
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YOU THREW A 4 AND
WHAT NUMRBER DO YOU

FLAYER 2 8 TURN.

YOU THREW A& 2 AND
WHAT NUMEBER DO YOU

FRINT A& TARLE? (1
FLAYER 1 ’S TURN.

YOU THREW A& 3 AND
WHAT NUMEBER 00 YOU

FLAYER 2 'S TURN.

YOU THREW A& 5 AND
WHAT NUMBRER IO YOU

FRINT A& TARLE? (1
FLAYER 1 ‘S TURN.

YOU THREW A& 2 AND
WHAT NUMRER DO YOU
ILLEGAL MOVE.

WHAT NUMEER DO YOU

FLAYER 2 ‘S TURN.,

YOU THREW A 6 AND
WHAT NUMRER DO YOU

FRINT A TABLE? (1
FLAYER 1 ‘8 TURN.

YOU THREW A 2 AND
WHAT NUMBER DO YOU

FLAYER 2 ‘S TURN.

YOU THREW A 5 AND
WHAT NUMERER DO YQU

FRINT A TARLET (1
FERSON 1

- (kY (kYO ()
LG PEE SES SRE DR
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A 2
FLAYT4

FOR YESI?O

A 3
FLAYT3

A2
FLAY?S

FOR YES)TO

A 6
FLAYTS

FLAYTS

A 1
FLAYTS

FOR YES)TO

A 1
FLAYT3

A 4
FLAY?S

FOR YES)T1
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FERSON 2

1 - (R )

2 - (KRR D0

3 - (R 2 ¥

4 ~- (KOO 2 Y XL
5 - (KO KRR O ) )
6 — K CKY (ORI OR) R D¢ DL
7 - (00D

g8 - (2000

9 ~ (X))

10 -~ ¢ YC X D

11 - ¢ )2

12 - )¢
FLAYER 1 '8 TURN.
YOU THREW A S5 AND A D
WHAT NUMBER DO YOU FLAYTS
FLAYER 2 ‘8 TURN.
YOU THREW A & ANDN A 3
WHAT NUMEBER DO YOU FLAYTS
FRINT A TAEBLE? (1 FOR YES)7O0
FLAYER 1 ‘S TURNM.
YOU THREW A 1 ANDII A 4
WHAT NUMEER DO YOU PLAYT?1
FLAYER 2 'S TURN,
YOU THREW A 5 AND A 3
WHAT NUMEER D0 YOU FPLAYTS
FRINT A TABLE? (1 FOR YES)7TO
FLAYER 1 '8 TURN.
YOU THREW A 3 AND A 3

WHAT NUMEER 00 YOU FLAYT3
FERSON 1

1 = (KKK )

AEN S SXE SNE SNE PR DR
3~ (k) KD CK) (K O OK)

4 - (RO RICRC D K
5o- (KKK D0 0 0L
6 — (RO CKIC YO Y N0 3 (
7 - (020D

8 ~ (YU

9 -~ (2020

10 - ()0 20D

11 - (k)¢ )
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)
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FERSON 2

NON O D G
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FLAYER 1 HAS JUST WON WITH THE 3 HORSE.
XKKKKKCONGRATULATIONS TO FLAYER 1 .

READY .

[ LA L L L L LA L

Program listing

Z@ CL:

10@ DIM Ty, MO8, 122

11@ FOR I=17T0 1Z:READ TCIN:NEXT 1

120 DATA 4.6,6.8,8, 1866, 4,4, 2, 2

1Z@ PRINT:zPRINT “THIS IS A HORSE RACE GAME. " :PRINT

14@ PRINT “DO YDU WANT INSTRUCTIONS? (1=YEGH"3

15@ INPUT A:IF AO 1 THEN 258

155 CLS

1E@ PRINT "THIS IS A HORSE RACE GAME. THE DBJECT OF THE GAME IS TO BEAT®
17@ PRINT "THE OTHER PLAYER BY HAVING ONE OF YDUR TWELVE HORSES FINISH"
18@ PRINT “BEFORE THE OTHER PERSON'S HORSE FINISHES. ™

138 PRINT

@@ PRINMT “THIS IS BY ERCH PERSON THROWING A PAIR OF DICE."

21@ PRINT "AFTER THE DICE ARE THROWN, THAT PLAYER THEN DECIDES WHICH HORSE"
220 PRINT "TO ADVANCE BASED ONM THE DICE THAT WERE THROWN. YOU CAN EITHER®
Z3@ PRINT "COMBINE (ADD? THE DICE AND MOVE THAT HORSE ONE LENGTH. OR YOU"
40 PRINT “CAN ADVANCE TWO HORSES ONE LENGTH. EACH HORSE BEING®

25@ PRINT “ONE OF THE DICE THROWN. " :PRINT

ZE@ PRINT "LET' S SAY THAT YOU THROW A 5 AND A 3. THEN YOU CAN ADVANCE"
7@ PRINT “THE £ HORSE (5 + 3) ONE LENGTH OR ADVANCE THE S5 HORSE AND THE"
ZB@ PRINT "3 HORSE ONE LENGTH."

290 PRINT:PRINT "PRESS ENTER TO CONTINUE "3:INPUT X

235 CLS

IP0 PRINT “BECAUSE SOME NUMBERS ARE EASIER TO THROW THAN OTHERS, THE"

1@ PRINT “AMOUNT OF LENGTHS EACH HORSE MUST TRAVEL DIFFERS ACCORDING TO®
II@ PRINT "THE PROBARILITY OF THROWING THAT NUMBER.

ZE@ PRINT:=PRINT "G O O D L UCK LA
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S0
S0S
5ig
520
538
sS4
S50

55T

{ -4
555

SEB
S7@
SE0
590
&0
ei@
520
EZ0
640
eSS0
EED
EES
&70@

1]
e85

£90

PRINT

PRINT "HOW MANY PLAYERS":;:INPUT @

IF @<¢(=0 THEN 235D

IF @128 THEN 250

PRINT :GOSUB E5Q

PRINT

FOR X=1 70O @

PRINT "PLAYER "3X3"’S TURN. ":PRINT
D=INTCE+RND (@) 3 +1:D1=INTCE+RND (@) 3+1
PRINT "YDU THREW A “sD3" AND A "3Di

PRINT "WHART NUMBER DO YOU WISH TO PLAY"5:INPUT P

IF D+Di=P THEN 4408
GOTO 450

NEX, Py=N(X, P3+1:G0T0 348
IF D=P THEN 4E0

IF Di=P THEN 470
GOTO S:=@

Di=@:G0OTO 4850

D=0

NCXy P3=NOXs Pa+1

IF Di=0 THEN 3520
P=D1

GOTO 440

P=D:G0OTO 44@

PRINT:PRINT "ILLEGAL MOVE.":PRINT:G0TO 420

FOR P=1 TO 1iZ

IF NCX, Pa(T(P) THEN &85
GOTO SEG

NEXT P

PRINT:NEXT X

GOTO =78
PRINT:PRINT:GOSUR &70
PRINT:PRINT

PRINT "PLAYER "3X3" HAS JUST WON WITH THE #";3P;

PRINT “sohaotbd CONGRATULATIONS TO PLAYER
PRINT:PRINT

PRINT:PRINT

GOTO 770

PRINT "PRINT A TABLE? (1 FOR YEGS}"S
INPUT A:IF A=1 THEN &70

RETURN

FOR N=1 TO Q:CLS:PRINT "PERSON "iN:PRINT
FOR K=1 TO 1Z:PRINT K3:IFK)3 THEN &390
PRINT ™ "3

PRINT "— "3

FOR M=1 TO TCKIZPRINT "("3

IF NCN, K3 (M THEN 715

I GOTOo 7208

PRINT " “5:60T0O 730
PRINT "a'j
PRINT "2"35:NEXT MiPRINT

NEXT K
FOR W=1 TO 7S@:NEXT W

NEXT N

5 CLS

PRINT s PRINT:RETURN
END

Hs [ LI ]
1X1 »

Y HORSE. "
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JAGKED

Description

Let’s go to Las Vegas! This game is one of chance. Siot machines are
found in most gambling rooms throughout the world. Most slot ma-
chines are made up of 3, 4, or more vertical reels (wheels) on which
various symbols are marked. The symbols are usually a cherry, orange,
bell, plum, apple, and a bar. A handle is pulled in order to spin the
wheels which stop eventually to produce outcomes. These outcomes
are created when symbols appear on the center line indicator. Different
payoffs are given for winning combinations of symbol outcomes. A
Jackpot pays the highest and usually, as in the case of this computer
game, it is a combination of 3 bar symbols.

In order to “pull the handle” in this computer game, simply hit the
return key on your terminal keyboard. Keep plenty of loose change on
hand—you’ll need it!



Jackpot probability table

Variable list

A() = Object the reel stopped on

M = Amount of money owned by player
R( ) = Contents of objects on each reel

W = Number of dollars won in current spin

Payoff Chance in
Outcomes ($) 8000 plays Probability %

Cherry Anything Anything 3 4% 14X 20=1120 1120/8000 14
Cherry Cherry Anything 5 4 X 6 X 20 =480 480/8000 6
Orange Orange Bar 6 SX4X1=20 20/8000 0.25
Bell Bell Orange 8 4 X 6X7=168 168/8000 2.1
Plum Plum Plum 10 3IX2X4=24 24/8000 0.3
Apple Apple Anything 15 3X 1 X 18=54 54/8000 0.7
Orange Orange Orange 18 5X 4X7=140 140/8000 1.75
Apple Apple Apple 20 3X1X3=9 9/8000 0.1
Bell Bell Bell 30 4 X 6X5=120 120/8000 1.5
Bar Bar Bar 200 1TX1X1=1 1/8000 0.0125

(Jackpot)

Note: A) The term “anything” used in the payoff table and the probability table is to denote any symbol including
cherry, orange, bell, plum, apple, and a bar.

B) The 8000 play combinations figure is derived by recognizing that there are 3 reels on a jackpot machine

and each reel has 20 combinations. Therefore, 20 X 20 X 20 = 8000.

Sample run

JACKFOT GAME.

0o YOU WANT A LIST OF THE FAYOFFST

REEL 1

CHERRY
CHERRY
ORANGE
RELL
PLUM
AFFLE
ORANGE
AFFPLE
BELL
BAR

REEL 2

ANYTHING
CHERRY
ORANGE
BELL
Fl.UM
AFFLE
ORANGE
AFFLE
RELL

RAR

REEL 3

ANYTHING
ANYTHING
RAR
ORANGE
FLUM
ANYTHING
ORANGE
AFFLE
RELL

EAR

{(1=YES) 7?1

PAYDFF

DOLLARS
noLL.ARS
, NOLLARS
DOLLARS
10 DOLLARS
15 DOLLARS
18 DOLLARS
20 DOLLARS
30 DOLLARS
200 IOLLARS

0ol

oo
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YOU HAVE ¢ 15
HIT RETURN TO FULL HANDLE
EAR CHERRY FLUM YOU WIN $ O

AGAINT  (1=YES)T1

YOU HAVE $ 14

HIT RETURN TO FULL HANDLE

AFFLE ORANGE RELL YOU WIN $ O
AGAINT (1=YES)T1

YOU HAVE 4 13

HIT RETURN TO PULL HANDLE

ORANGE CHERRY ORANGE YOU WIN $ 0O
AGAINT (1=YES)71

YOU HAVE ¢ 12
HIT RETURN TO FULL HANDLE
BELL CHERRY BELL YOU WIN ¢ 0O

AGAINT (1=YES)?O

TOO EBADy YOU LOST $ 4

READY .

[ [ [ (3 (3 0 o [ [ [

Program listing

JACKFOT

18@ CLS

110 PRINT "JACKPOT GAME. ":PRINT

120 PRINT "DO YOU WANT A LIST OF PAYOFFS? (Y=YES)";
130 INPUT A%:PRINT:PRINT:IF As="Y" THEN 135 ELSE 2&0
135 CLS

PRINT “REEL 1", "REEL 2","REEL 3", "PAYOFF":PRINT
PRINT "CHERRY", "ANYTHING", "ANYTHING", "% DOLLARS"
PRINT "CHERRY'", "CHERRY", "GNYTHING", "5 DOLLARS"
PRINT "ORANGE™. "ORANGE", "BAR", "& DOLLARS"

PRINT "BELL", "BELL", "ORANGE", "8 DOLLARS"

PRINT “PLUM", "PLUM", “PLUM", "18 DOLLARS"

PRINT "APPLE", "APPLE", "ANYTHING", "15 DOLLARS"
PRINT “ORANGE". "ORANGE", "ORANGE". "18 DOLLARSY
PRINT “APPLE", "APPLE", "APPLE", "20 DOLLARS"

PRINT "BELL"™,“"BELL", "BELL","Z@0 DOLLARS"

PRINT "BAR", "BAR", "BAR", "Z20® DOLLARS"




=5@ PRINT:PRINT "HIT -ENTER- TO START..."::sINPUT A

ZE@ DIM A(Z), RCE: 2

=7@ FOR X=1 TO 20:FOR I=1 TO 3Z:READ RCI, X3 INEXT I:zNEXT X

80 DATA 4225 10452, 2: 560456, 15102

290 DATA 4r2:16:5:4:5:62 1:454:5.35: 5,551,152, 2. 22 4,4, 4:8: 1, 5 2
IPB DATA Fr b r 3 1:4.6:2:9: 1, 4,2,4.6, 4,2, 152

310 M=15

I2@ CLS:PRINT "YDOU HAVE $"3sMIPRINT

II@ PRINT "HIT —ENTER- TO PULL HANDLE"::INPUT A

T4l PRINT:IPRINT

I50 FOR I=i TO F:X=INT(Z@+RND(@)3+13ACI>=R(I.X?

TED GOSUBR EZQINEXT I:W=0

I70 IF BC1) <> 4 THEN 400 ELSE IF ACZ) O4 THEN 520

Zop IF A¢3r=4 THEN 390 ELSE IF ACT) O2 THEN S52@ ELSE W=B:G0TO 520
390 W=I0:G0T0 520

400 IF AC1Y OS5 THEN 420 ELSE IF ACZ) OS5 THEN 520 ELSE IF ACEY OO0 THEN 528
418 W=19:G0TO S20

420 IF Ac1) OF THEN 440 ELSE IF ACZ) O THEN 520 ELSE IF ACZI OF THEN 528
4Z0 W=2@B:G0TOo 3528

44@ IF AC1Y <> 1 THEN 4E@ ELSE IF A(Zr=1 THEN 450 ELSE W=3:G0TO 520
450 W=5:60T0 Sz0

LER IF A1) (2 THEN 490 ELSE IF ACZ) 2 THEN 520 ELSE IF ACZEI=I THEN 438
472 IF ABCSY O 2 THEN 520 ELBE W=18:G0T0 520

480 W=E:G0T0 520

498 IF Ac1) O6 THEN 520 ELSE IF ACZ)E THEN S20 ELSE IF ACZE)=3 THEN 51@
S@@ IF AC3) O E THEN 528 ELSE W=20:CG0T0 5:20

510 W=15:50T0 S2@

520 IF WO 200 THEN 530 ELSE PRINT "ok JACKPOT skttt

53I@ PRINT "YOU WIN &"3WiPRINT

sS40 M=M-1+W:PRINT "AGAIN? (Y=YES)":

55@ INPUT A$IPRINT:IF As="Y" THEN 220 ELSE PRINT

se@ IF M(1S THEN 580 ELSE PRINT “"CONGRATULATIONS. YOU WON %"3iM-15
570 GOTO BE@

o IF M(@ THEN S92 ELSE PRINT “TOO BAD. YOU LOST $"3;15-M:GOTO &80
S9@ PRINT "YOU HAVE 1@ DAYS TO PAY ME $"3;15-M3". AFTER THAT®

E@@ PRINT "IT IS OUT DF MY HANDS AS TO WHAT HAPPENS TO YOu!"

€10 GOTO EEO

E20 IF ACI)=1 THEN PRINT "CHERRY". :RETURNM

£3@ IF Acly»=32 THEN PRINT "“ORANGE", :RETURN

4@ IF ACII=3 THEN PRINT "BAR".:RETURN

ESB IF Acir)=4 THEN PRINT "BELL", s RETURN

EE@ IF ACI)=5 THEN PRINT “PLUM", :RETURN

E7@ PRINT "APPLE". :RETURN

£80 END
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Description

The object of this computer-simulated dice game is to roll a set of dice
3 times to obtain a scoring combination and to achieve the highest total
score for all games (up to 6 games). The game may be played by 2, 3 or
4 persons. It also can be played solitaire by going for the highest possi-
ble score. For the first roll of the dice the player must roll all 5 dice.
For the second and third rolls the player may pick up 1, 2, 3, 4, or even
5 of the dice and roll them again. The player may stop after the first
roll, but if he chooses to roll 3 times, the third and final roll must be
scored.

fn each game there are 15 scoring boxes in a vertical column on a
score sheet. A player must make his own decision about what and where
to score based on his individual strategy.

In the Upper Section (BASIC Section) of the score sheet, there are
“Aces’ (ones), “Deuces” (twos), “Treys” (threes), “Fours,” “Fives,”
and “Sixes.” If a player chooses to score in one of the 6 boxes in the
Upper Section, he counts and adds only the dice with the same number
and enters the total of the dice in the appropriate score box. A bonus
section is included for scoring extra points. If the player scores 63-70
in the Upper Section he adds 35 points to his score; for 71-77 he adds
55 points; and for 78 or over he adds 75 points.

The Lower Section (KISMET Section) of the score sheet is played
as follows:

A) 2 pair same color—total all dice (points)

B) 3 of a kind—total all dice (points)

C) Straight1,2,3,4,50r2,3,4,5,6-30 points
D) Flush (all same color)—35 points

E) Full house—total all dice plus 15 points



F) Full house same color—total all dice plus 20 points
G) 4 of a kind—total all dice plus 25
H) Yarborough—one chance to score total of all dice on a low-scoring
throw of the dice
1) KISMET (5 of a kind)—total all dice plus 50 points

The grand total is obtained by adding the Upper and Lower Section
scores together. Your strategy of rolling the dice and obtaining good
scoring combinations is the key to this game!

Variable list

A = Location number picked by player

B( ) = Amount of points for each player broken down by type
D = Current dice amount

D( ) = Dice amount picked for each die

E = Flag to determine if location placement is legal
E=1error
E = 0 location okay to use

M = Total points for current board
P = Number of points for location picked

P6 = Player number being processed

P9 = Number of players

Q = Working variable that keeps track of dice being processed

R9 = Number of rounds completed (maximum of 15)

X = Location number picked (for subroutine)

X() = Number of times a dice amount has appeared on current throw

Sample run

THIS I5 THE GAME OF KISMET.
HOW MANY WISH TO FLAYTI1

0o YOU WANT A TAEBLE?T (1 FOR YES)7T1

FLAYER 1

1 ~ ACES 1 FOR EACH ACE 0
2 - DEUCES 2 FOR EACH DEUCE 0
3 - TREYS 3 FOR EACH TREY O
4 - FOURS 4 FOR EACH FOUR 0
5 - FIVES 5 FOR EACH FIVE 0
6 ~ SBIXES 6 FOR EACH SIX 0
TOTAL BASIC SECTION 0
7 - 2 PAIR SAME COLOR  TOTAL DICE 0
8 - 3 OF A KIND TOTAL DICE 0
9 - STRAIGHT 30 FOINTS 0
10— FLUSH SAME COLOR 35 FOINTS 0
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11— FULL HOUSE
12—~ FULL HOUSE SaME
13- 4 OF A KIND
14~ YARROROUGH FREE
15— RISHMET S OF

TOTAL GAME TOTAL

FLAYER 1 ‘S TURN.

BICE 1 IS A 2 RED
DICE 2 I8 A 3 GREEN
DICE 3 I8 A & ERLACK
DICE 4 IS & 6 BLACK
DICE 5 I8 A 5 RED

HOW MANY TO REFLACET
ENTER DICE NUMBER?3

YOUR DICE LOOK LIKE
DICE 1 2 RED
DIcCE 2 3 GREEN
LDICE 3 2 RED
nICce 4 6 BLACK
nIceE S S RED

HOW HMANY TO REFLACET?
ENTER DICE NUMBERTZ
ENTER DICE NUMBERTA4

ENTER DICE NUMEBER?S

YOUR DICE LOOK LIKE
nICE 1 2 RED
DIcCeE 2 é BLACK
BICE 3 2 RED
DICE 4 2 RED
DICE 5 1 BLACK

YOUR DICE TOTAL 13

ENTER THE LOCATION NUMEBER?T2

2 — DEUCES
00 YOU WANT A TABLE?

FLAYER 1 “5 TURN,

RICE 1 IS A 1 BLACK
DICE 2 IS A 5 RED
DICE 3 IS A 2 RED
GICE 4 I8 A 6 BLACK
DICE 5 I8 A 1 BLACK

HOW MANY TO REFLACE®T
ENTER DICE NUMEBER?T2
ENTER DICE NUMRER?3
ENTER DICE NUMRERTA4

YOUR DICE LOOK LIKE
DIce 1 1 ELACK
nIice 2 4 GREEN
nICE 3 4 GREEN
nIicE 4 S RED
LDICE 5 BLACK
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TURN
A KIND

(0 TO

THIG:

(0 TO

THIS:

TOTAL DICE + 13
TOTAL DICE + 20
TOTAL DICE + 20
TOTAL DICE

TOTAL DICE + 30

STOF)?1

STOF)?3

2 FOR EACH DEUCE

{1 FOR YES)TO

(0 TO

THIS!

STOF)?3

(o B ¢ el sRe N
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HOW MANY TO REFLACE? (0 TO STOF)7?3
ENTER [ICE NUMBER?I
ENTER UICE NUMEBER7TA4
ENTER [ICE NUMBER?D

YOUR DICE LOOK LIKE THISS

DICE 1 3 GREEN
DICE 2 4 GREEN
nICE 3 4 GREEN
nICE 4 1 BRLACK
nICE 3 2 RED

YOUR DICE TOTAL 14
ENTER THE LOCATION NUMEBER?T1

1 - ACES 1 FOR EACH ACE

0o YOU WANT A TABLE? (1 FOR YES)71

FLAYER 1

1 — ACES 1 FOR EACH ACE
2 - DEUCES 2 FOR EACH DEUCE
3 - TREYS 3 FOR EACH TREY
4 -~ FOURS 4 FOR EACH FOUR
% -~ FIVES % FOR EACH FIVE
6 — SIXES 4 FOR EACH 8IX
TOTAL BASIC SECTION

7 - 2 PAIR SAME COLOR TOTAL DICE

8 - 3 OF A KIND TOTAL DICE

9 - STRAIGHT 30 FOINTS

10- FLUSH SAME COLOR 35 FOINTS

11~ FULL HOUSE TOTAL DICE + 13
12~ FULL HOUSE SAME COLOR TOTAL DICE + 20
13~ 4 OF A KIND TOTAL DICE + 23
14~ YARBOROUGH FREE TURN TOTAL DICE

15~ KISMET 5 OF A KIND TOTAL DICE + 50

TOTAL GAME TOTAL

FLAYER 1 ’8 TURN,

DICE 1 IS A § RED
DICE 2 IS A 3 GREEN
nICE 3 IS8 A 5 RED
DICE 4 IS A 2 RED
DICE 5 IS A 3 GREEN

HOW MANY TO REFLACE? (0 TO STOF)T1
ENTER DICE NUMBERT4

YOUR DICE LOOK LIKE THIS?

DICE 1 S RED
nICE 2 3 GREEN
nIce 3 5 RED
DICE 4 3 GREEN
DICE S 3 GREEN

HOW MANY TO REFLACE? (0 TO STOF)TO

YOUR DICE TOTAL 19
ENTER THE LOCATION NUMBERT11

SO0 O

SCOOCOCOC OO0 ~
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11—~ FULL HOUSE TOTAL DICE + 15
[0 YOU WANT A TABLE?T (1 FOR YES)TO

FLAYER 1 ‘S TURN.

DICE 1 IS A& &6 BLACK
DICE 2 I8 A § RED
DICE 3 I8 A 2 RED
DICE 4 IS A 4 GREEN
DICE S IS A S RED

HOW MANY TO REFLACET (0 TO STOF)T2
ENTER DICE NUMBERT1
ENTER DICE NUMBERT4

YOUR DICE LOOK LIKE THIS!

DICE 1 1 BLACK
DICE 2 5 RED
DICE 3 2 RED
LDICE 4 & RILLACK
DICE 5 5 RED

HOW MANY TO REPLACE? (0 TO STOF)T3
ENTER DICE NUMEBER?T1
ENTER DIICE NUMEERT4
ENTER DICE NUMBERT4

YOUR DICE LOOK LIKE THIS?

nICE 1 3 GREEN
DICE 2 5 RED
DICE 3 2 RED
DICE 4 1 BLACK
DICE S 5 RED

YOUR DICE TOTAL 16
ENTER THE LOCATION NUMEBERTZ

TLLEGaAL LOCATION.

ENTER THE LOCATIONM NUMRERTI1
TLLEGAL LOCATION.

ENTER THE LOCATION NUMRERTI14

14—~ YARRBOROUGH FREE TURN TOTAL DICE

D0 YOU WANT A TABLE? (1 FOR YES)T1

FLLAYER 1

i - ACES 1 FOR EACH ACE
2 — DEUCES 2 FOR EACH LEUCE
3 - TREYS 3 FOR EACH TREY
4 - FOURS 4 FOR EACH FOUR
5 - FIVES 5 FOR EACH FIVE
4 —~ SIXES 6 FOR EACH SIX
TOTAL EBASIC SECTION

7 - 2 FAIR SAME COLOR  TOTAL DICE

8 - 3 OF A KIND TOTAL DICE

? -~ STRAIGHT 30 FOINTS

10~ FLUSH SAME COLOR 35 FOINTS

11— FULL HOUSE TOTAL DICE + 15
12—~ FULL HOUSE SAME COLOR TOTAL DICE + 20
13- 4 OF A KIND TOTAL DICE + 25
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14~ YARRBOROUGH FREE TURN TOTAL DRICE ié
18- KISMET 5 0OF A KIND TOTAL DICE + 50 0

TOTAL GAME TOTAL 57

FLAYER 1 78 TURN.

DICE 1 IS A 1 BLACK

RICE 2 I8 A 5 RED

NICE 3 IS A 3 GREEN

DICE 4 I8 A 2 RED

LDICE 5 I8 A 1 RBLACK

HOW MANY TO REPLACET (0 TO STOF7®

- -

Program listing

KISHMET

188 DIM R(Z, 172, X(E}, D5

11@ CLS

128 PRINT "THIS IS5 THE GAME DOF KISMET. ":PRINT

130 PRINT "HOW MANY WISH TO PLAY“3:INPUT P9

140 IF P91 THEN 15@ ELSE IF P9<4 THEN 1E0

1580 PRINT "NO MORE THAN T ALLOWED. ":G0TO 1328

16@ FOR I=1 TO Z:FOR X=1 TO 17:B(I,X0)=0:NEXT X:NEXT I

170 GOSUR 1090

180 GOTOD 70

199 IF I=1 THEN PRINT "1 - ACE".,"1 FOR ERACH ACE"3;:RETURN

@B IF I=2 THEN PRINT "2 - DEUCES".."Z2 FOR ERCH DEUCE"3:RETURN

1@ IF I=3 THEN PRINT "3 - TREYS".."3Z FOR EACH TREY"::RETURN

2@ IF I=4 THEN PRINT "4 - FDURS",,"4 FOR ERCH FOUR"::RETURN

3@ IF I=5 THEN PRINT "5 — FIVE",."S FOR EACH FIVE"3;:RETURN

4@ IF I=E THEN FRINT “& - SIX":,"§ FOR EACH SIX"3;:RETURN

5@ IF I=7 THEN PRINT "7 - 2 PAIR“, “ GAME COLOR"."TOTAL DICE"::RETURN
FE@ IF I=2 THEN PRINT "8 - 3 OF A KIND","TOTAL DICE"::RETURN

278 IF I=5 THEN PRINT "9 - STRAIGHT".."30 POINTS"3;:RETURN

~op IF I=1@ THEN PRINT “1@ - FLUSH"." GAME COLOR"."Z5 POINTS"3::RETURN
9@ IF I=11 THEN PRINT "1l - FULL HOUSE",."“TOTAL DICE + 13"3:RETURN
=@ IF I=12 THEN PRINT "13Z - FULL HOUSE®,"“ SAME COLOR","TOTAL DICE + 28"3:RETURN
Z1@ IF I=17% THEN PRINT "i3 - 4 OF A KIND"."TOTAL DICE + 25"3:RETURN

=o@ IF I=14 THEN PRINT “14 - YARBOROUGH"," FREE TURN","TOTAL DICE"3:RETURN
=50 PRINT "15 — KISMET". " 5 OF A KIND"." TOTAL DICE + 5@"::RETURN
IED FOR O=1 TO E:X(Qi=0:NEXT Q:P=0:E=8

70 FOR O=1 TO S:X(DCR =X (DCRII+1:NEXT H:l1=1

zep IF X6 THENADD ELSE IF X(X)=@ THEN 390 ELSE P=P+X(X2+X:RETURN
Z8@ E=1:P=@:RETURN

APB FOR B=1 TO E:P=P+X(RI=+QINEXT &

413 IF X=14 RETURN

470 P=1:1F X093 THEN 460

4@ IF X=1 THEN QO=0+1:IF O=E+5 THEN 4508 ELSE 4708

44@ IF E=1 THEN 3390 ELSE E=1:0=2:00T0 4308

AS@ E=@:iP=I0:RETURN

LEDB IF Xc@=S THEN 470 ELSE G=0+1:IF Q=7 THEN 510 ELSE 480

470 IF X=7 THEN 788 ELSE IF X< 1@ THEN 480 ELSE P=I5:RETURN

488 IF X=11 THEN P=P+15:RETURN
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490
bl it
51@
520
520
S4B
55
66
570
a8

350

&390
7o
718
7208
70
748
750
768
778
760
738
S08
&1

Tyl

[on e
Lo ]

240
S50
SEB
s7@
850
250
S06
31@
2@
330
348
5358
366
370
38@
998
1000
181@
1820
1030
1@4@
1858
1260
1078
1260
1230
100
1110
1115
1120
1130
1148

88

IF X=12 THEN P=P-+Z@:RETURN

IF X=15 THEN P=P+30:RETURN

IF X=15 THEN 388 ELSE @=1:IF X172 THEN S4@

IF XC@))=4 THEN S32@ ELSE O=0+1:IF =7 THEN 3908 ELSE 520

P=P+25: RETURN

IF X418 THEN 3B@ ELSE O=1

IF X(G=0 THEN @=0+1:060T0 350

IF @)% THEN 388 ELSE IF X(7-G+X<Eh OFS THEN 290

P=7G: RETURN

IF X408 THEN &R0 ELSE @=1

IF X(B2>=3 THEN 700 ELSE G=0+1:IF @=7 THEN 398 ELSE 598
Q=1:1IF X7 THEN EBE4@

IF XCQD3 =2 THEN 620 ELSE @=0+1:IF Q=7 THEN 390 ELSE 13
IF X(f=4 THEN 780 ELSE IF X(O+X(7-0)<4 THEN I90

IF X(7-Qx=1 THEN Z90 ELSE 700

IF XCEH) =2 THEN ES@ ELSE Q=0+1:IF @=7 THEN 3908 ELSE E40
IF X<EH> = THEN 288 ELSE IF X{O 12 THEN E73

IF X(ED+X(7-012 OF THEN 390 ELSE P=P+Z@:RETURN

=(}
G=R+1:IF G=7 THEN 290 ELSE IF X(&))=2 THEN ES0 ELSE E£0
IF XCED+XOY2 OS5 THEN 390 ELSE P=P+15:RETURN
E=@:RETURN

PRINT D3:IF D=1 THEN 732 ELSE IF D=& THEN 750

IF D=2z THEN 740 ELSE IF D=5 THEN 748

PRINT YGREEN":RETURN

PRINT “RED" :RETURN

PRINT "BLACK":RETURN
FOR R9=1 TO 15:FOR PE=1 TO PY
CLS:PRINT “"PLAYER"S$PE:"'S TURN, ":PRINT
FOR JZ=1 TO S:D=INTC(E+RNDC@>1+1

PRINT "DICE “s5J35"IS A"5:G0SUB 71@
DCIZ3=DINEXT J3:K4=@

PRINT:PRINT "HOW MANY TO REPLACE? <@ TO STOP) "3

INPUT A:IF A= THEN S020
FOR JZ=1 TO A:PRINT "ENTER DICE NUMBER":

INPUT UZ:D=INT(E*RND(B)»+1
DCU2y=DaNEXT J3:CLS

PRINT "YOUR DICE LOOK LIKE THIS :":PRINT
FOR J3=1 TO S:PRINT "DICE “3sJ3Z3" "3
D=D(JZ) :GOSUR 71i@:NEXT JZ
Ra=K4+1:IF Ka 2 THEN 210
D=0:FOR J3=1 TO 3:D=D+D(JZ> :NEXT JZ

PRINT:PRINT "YOUR DICE TOTAL "D
Ka=@:FDOR X=1 TO 15:P=0:IF B(PE, X) OB THEN 920 ELSE GOSUE 66
R4=K4+PINEXT X:IF K402 THEN 950

IF K4z THEN 810 ELSE PRINT “NO LOCATIONS MUST INSERT A ZERD.®
PRINT “"ENTER THE LOCATION NUMEBER"::INPUT A
IF BOPE. Q)=0 THEN 320

PRINT "ILLEGAL LOCATION.":(G0TO 3950
X=RA:GOSUR 260

IF P=@ THEN P=-1:E=@

IF E=1 THEN 3978 ELSE B(P&,A)=P

PRINT

I=A:G0SUR 19@:PRINT TAER(3@):

IF P=-1 THEN PRINT “ZERO":G0OTO 1038
PRINT P

GOsSUR 1690

NEXT P&

NEXT RS9

GOTO 1338

PRINT:PRINT "DO YOU WANT A TABLE? (Y=YES)':

INPUT As:IF As="Y" THEN 1110 ELSE RETURNMN
FOR P=1 TO P9

CLS

PRINT

PRINT "PLAYER "3P:PRINT

M=0



1150
1168
1178
11e@
1190
1200
1210
1220
1230
1240
1250
1260
12708
12280
1285
1290
1302
1385
1318
132

1330

FOR I=1 TO 15:0608UR 190

IF B(P,I)=-1 THEN PRINT TAB(SQ)3s"ZERD":GOTO 1198
PRINT TRB(S@)3:B(P, I

M=M+B(P, I}

IF I8 THEN 1290

IF M(EZ THEN 1230 ELSE B=35

IF M(71 THEN 1270 ELSE B=B+Z2

IF M(78 THEN 127@ ELSE B=B+Z@

IF B=@ THEN 1270@

PRINT

PRINT "BONUS POINTS "3TAB(S@)sB

M=M+B

PRINT:PRINT "TOTAL BASIC SECTION"3TRB(3@) M
PRINT:PRINT “HIT —ENTER- TO CONTINUE..."3;:INPUT W
CLS

NEXT I

PRINT:PRINT "TOTAL GAME TOTAL"3TRAB(IB) M
PRINT "HIT —-ENTER~ T0O CONTINUE..."3:INPUT W
PRINT:NEXT P

RETURN

END
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Description

The object of this game is to throw a pair of dice, adding the totals as
you go along. There are 10 rounds per game. The player with the most
points after 10 rounds wins the game. If at any time in a round when a
player throws the dice, the total equals the total of the first thrown
dice in that particular round, then the player loses all the accumulated
points for that round. The player can stop throwing the dice at any
time.

Note

By looking over the probability table you can see that gettinga 7 on
the first throw of a round is less advantageous than a 2 or 12. The
player can use the table strategically to try and win the game.

Variable list

C = Total points for computer in the round
C1 = Total points for computer in the game
D = Total of two dice
D1 = Quantity of die one
D2 = Quantity of die two
F = Quantity of dice in first throw
| = Round number (up to 10)
P = Total points for player in the round
P1 = Total points for player in the game

R = Roll number



S = Total points for each round

T = Total number of tries the computer should throw dice for current
round based upon the first number thrown

Z = Total number of points the computer should aim for in current

round based upon first throw

Notone probability table

Total of
dice

Combinations

Probability

%

2
3

10

11

12

1T+1

1+2
2+ 1

1+3
3+1
2+2

1+4
4+1
3+2
2+3

1+5
5+1
4+2
2+4
3+3

1+6
6+1
5+2
2+5
3+4
4+3

2+6
6+2
5+3
3+5
4+4

3+6
6+3
5+4
4+5

4+6
6+4
5+5

5+6
6+5

6+6

1/36
2/36

3/36

4/36

5/36

6/36

5/36

4/36

3/36

2/36

1/36

2.77
5.55

8.33

11.11

13.88

16.66

13.88

11.11

8.33

5.55

2.77
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Sample run

NOTONE
00 YOU WANT THE INSTRUCTIONS? (1=YES)T1

THIS IS A GAME OF NOTONE. THE ORJECT OF THE GAME IS
THROW A FAIR OF DICE, ADDING THE TOTALS AS YOU GO ALONG.
IF AT ANY TIME WHILE THROWING THE DICE, THE TOTAL

EQUALS THE TOTAL OF THE FIRST THROWN DICE, THEN YOU LUOSE
ALL THE ACCUMULATED FOINTS FOR THAT ROUND. YOU CAN STOF
THROWING THE DICE ANY TIME YOU WANT. THERE ARE 10 ROUNDS
FER GAME. Xiookk GOOD LUCK XokkkxX (I’ FRETTY GOOLD!>

YOU GO FIRST.

ROUND 1
YOUR TURN.

ROLL 1 IS A 1 AND 2
(0)STOF OR (LYROLL7TL
ROLL 2 I8 A S AND 2
(0)STOF OR (1)ROLLT1
ROLL 3 IS A 2 AND &
(0)STOF OR (1)ROLLTI
ROLL 4 IS A 5 AND &
(0)YSTOP OR (1)ROLLT1
ROLL S IS A & AND 2
(0)STOF OR (1)ROLLT?I
ROLL 6 IS A 4 AND 2
(0)STOF OR (1)ROLL7?L
ROLL 7 IS A 1 AND 4
(0XSTOF OR (1)ROLLT1
ROLL 8 IS A 4 AND 5
(O)STOFP OR (1)ROLL7?I
ROLL 9 IS A 2 AND 6
(0)STOFP DR (1)ROLLTI
ROLL 10 IS A 3 AND 4
(0)STOF OR (1)ROLLTH
ROLL 11 IS A 5 AND 4
(0)STOP OR (1)ROLL7T1
ROLL 12 IS A 2 AND 3
(0)STOF OR (1)ROLLTI1
ROLL 13 IS A 3 AND 3
(0)STOF OR (1)ROLLT?1
ROLL 14 IS A & AND 3
(0)STOF OR (1)ROLLTO

YOU RECEIVED 102 FOINTS IN THAT ROUND,

MY TURN.

ROLL 1 IS A 5 AND 6
ROLL 2 IS A 4 ANDN §
ROLL 3 IS A 6 AND 2
ROLL 4 IS A 4 AND 3
ROLL S IS A 3 AND 6
ROLL 6 IS A 2 AND 1
ROLL 7 IS A &6 AND 6
ROLL 8 IS A S AND 4
ROLL 9 IS A 4 ANIN &

ROLL 10 IS A 2 AND 3
ROLL 11 IS A 3 AND 1

ROLL 12 IS A 2 AND 6
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ROLL 13 IS A 4 AND O
ROLL 14 IS A 3 AND 2
ROLL 15 IS A & AND 4

I RECEIVED 118 FOINTS IN THAT ROUND.

SCORE AT THE END OF ROUND 1
YOu 102
COMPUTER 118

ROUND 2
YOUR TURN.

ROLL 1 IS A 3 AND 3
(0)STOP OR (1)ROLLT1
ROLL 2 IS A 4 AND 5
(0)STOF OR (1)ROLL7TI
ROLL 3 IS A 2 AND 2
(0)STOF OR (1)ROLLTI1
ROLL 4 IS A 2 AND 5
(0)8STOP OR (1)ROLLTO

YOU RECEIVED 26 POINTS IN THAT ROUND.

MY TURN.

ROLL. 1 IS A 1 AND 1
ROLL 2 IS A 4 AND 1
ROLL 3 IS A 4 AND
ROLL 4 IS A 5 AND 6
ROLL 5 IS A 4 AND 6
ROLL 6 IS A 3 AND 4
ROLL 7 IS A 4 AND 6
ROLL 8 IS A 5 AND §
ROLL 9 IS A S AND 1
ROLL 10 IS A 1 AND 6
ROLL 11 IS A & ANDN 3
ROLL 12 IS A 1 AND 4
ROLL 13 IS A 2 AND 3
ROLL 14 IS A 4 AND 4
ROLL 15 IS A 2 AND S
I RECEIVED 113 FOINTS IN THAT ROUND.

SCORE AT THE END OF ROUND 2

YOu 128
COMPUTER 231

ROUND 3
YOUR TURN.

ROLL 1 IS A 5 AND 6
(0)STOP OR (1)ROLL?1
ROLL 2 IS A 2 AND 4
(0)STOP OR (1)ROLL7T1
ROLL 3 IS A 5 AND 1
(0)STOF OR (1)ROLL?T1
ROLL 4 IS A 3 AND 4
(0)STOP OR (1)ROLL?1
ROLL 5 IS A 3 AND 6
(0)STOF OR (1)ROLL?T1
ROLL 6 IS A 1 ANDI S
(0)STOF OR (1)ROLL?T1



ROLL 7 IS A 1 AND 2
(Q)STOF OR (1)ROLL?I
ROLL 8 IS A 3 AND 3
(O)STOF OR (1)ROLLTL
ROLL 9 IS A & AND 5

YOU RECEIVED O FOINTS IN THAT ROUND.

MY TURN.

ROLL 1 IS A 4 AND 2
ROLL 2 IS A 2 AND 1
ROLL 3 IS A 3 AND 3

I RECEIVED O FOINTS IN THAT ROUND,

SCORE AT THE END OF ROUND 3
YOu 128
COMPUTER 231

ROUND 4
YOUR TURN.

ROLL 1 IS A 1 AND 6
(0)STOP OR (1)ROLLT1
ROLL 2 IS A 2 AND 1
(0)STOP OR (1)ROLL?Y
ROLL 3 IS A 2 AND 3
(O>STOF OR (1)ROLL7?1
ROLL 4 IS A 4 AND 4
(O)STOF OR (1)ROLL?1
ROLL S IS A 1 AND 5
(G)STOF OR (1)ROLL?O

YOU RECEIVED 29 FOINTS IN THAT ROUND.

MY TURN.

ROLL 1 IS A 5 AND 4
ROLL 2 IS A 5 AND S
ROLL 3 IS A 2 AND 4
ROLL 4 IS A 3 AND 1
ROLL S IS A 6 AND S
ROLL &6 IS A 5 AND 2
ROLL 7 IS A 1 AND 6
ROLL 8 I8 A 3 AND 2

I RECEIVED S9 POINTS IN THAT ROUND.

SCORE AT THE END OF ROUND 4
YOu 157
COMPUTER 290

ROUND 5
YOUR TURN.

ROLL 1 IS A 1 AND 2
(0)STOF OR (1)ROLLTL
ROLL 2 IS A 1 AND 1
(0)STOF OR (1)ROLL?1
ROLL 3 IS A 3 AND 1

(O)STOF OR (1)ROLL?1
ROLL 4 IS8 A & AND 2
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(0)STOF OR (1)ROLLT1
ROLL S5 IS5 A 2 ANDI'' S
(0)STOF OR (1)ROLL7T1
ROLL &6 IS5 A 2 AND'' S
(0I)STOF OR (1)ROLLTL
~ROLL 7 IS A 4 AND 1
(0)STOFP OR (1)ROLLT1
ROLL 8 IS A 1 AND 3
(0)STOP OR (1)ROLLTI1
ROLL 9 I5 A S AND 2
(0ISTOP OR (1)ROLL7T1
ROLL 10 IS A 4 AND 6
(0)STOF OR (1)ROLL7?1
ROLL 11 IS A 4 AND 3
(0)STOF OR (1)ROLL7?1
ROLL 12 IS A 4 AND 4
(0)STOP OR (1)ROLL7T1
ROLL 13 IS A 5 ANL 2
(0)STOF OR (1)ROLL7?I
ROLL 14 IS A 2 AND 1

YOU RECEIVED O FOINTS IN THAT ROUNID.

MY TURN.

ROLL 1 IS5 A 4 AND 4
ROLL 2 IS A 2 ANIl 3
ROLL 3 IS A 3 AND 1
ROLL 4 IS A 3 AND 6
ROLL 5 IS A 4 AND 1
ROLL &6 I8 A 1 AND 2
ROLL 7 IS A 1 AND 6
ROLL 8 IS A 3 AND &
ROLL 9 IS A 1 AND 2

I RECEIVED 57 FOINTS IN THAT ROUNLD,.

SCORE AT THE END OF ROUND 5
YOu 157

COMPUTER 347
ROUND 6
YOUR TURN,

ROLL 1 IS A 3 AND 1
(0YSTOF OR (1)ROLLT

A L L AL LA LA LA LA L

Program listing

NOTONE

10@ REM J. VICTDR NAHIGIAN--18/85/76—--VERSIDN 1
1183 CLS:PRINT TARCZD) 5 "NOTONEY

12@ PRINT
130 PRINT "D YOU WANT INSTRUCTIONS? (Y=YES)"3

148 INPUT A%



158
160
17@
ige
199
Z0e

220

238

IF A$="Y" THEN 1&8@ ELSE 240

CLS
PRINT *THIS IS A GAME OF NOTONE. THE OBJECT OF THE GAME IS"
PRINT “TO THROW A/ PAIR OF DICE, ADDING THE TOTALS RS YOU GO ALONG. ™
PRINT “IF AT ANY TIME WHILE THROWING THE DICE, THE TOTAL"
PRINT "EQUALS THE TOTAL OF THE FIRST THROWN DICE. THEN YDOU LOSE"
PRINT "ALL THE ACCUMULATED POINTS FOR THAT ROUND. YOU CAN STOP"
PRINT "THROWING THE DICE ANY TIME YOU WANT. THERE ARE 10 ROUNDS"
PRINT "PER GAME. dobopotsk GOOD LUCK #sedotek (I'M PRETTY GOOD!) "
Pi=0:Ci=0
P=0:C=0
PRINT:PRINT "YOU GO FIRST.":PRINT
FOR I=1 TO 1i@:PRINT
PRINT TAB(15)5"ROUND"I
PRINT:PRINT “YOUR TURN. ":PRINT
GOSUR E89@:F=D:D=0
S=@
=0
=R+1
PRINT "ROLL"R"IS A"D1i“"AND"Dz2
IF D=F THEN 41@
S=5+D1+D2
PRINT "(S)STOP OF C(RIROLL"j5:INPUT A%

IF A$=

"S" THEN 420

IF A$="R" THEN 4208 ELSE =70

GOSUR
S=0
P=P+5

899:60T0 330

CLS:PRINT "YOU RECEIVED"S"POINTS IN THAT ROUND.*

PRINT:

PRINT
GOSUR
F=D
S=@
R=0@
D=0

PRINT "MY TURN.*"

290

T=18/ (3~INT(ABS(F~7)/2))
Z=INTCCCCTHT I /EI-TIHEIE)

R=R+1
PRINT

FOR X=

"ROLL"R"IS A"DI"AND"DZ
1TO 25B:NEXT X

IF F=D THEN &40
S=5+D1i+D2

IF 1010 THEN £20@
IF C+SYP THEN E5D
BGOTO 620

IF R =T THEN E50
IF S)Z THEN &S50

GOsSuUe
GOTOo
S=0

292

538

CLS:PRINT "I RECEIVED"S"POINTS IN THAT ROUND.

C=C+8

PRINT:

PRINT
PRINT

NEXT 1

PRINT
PRINT

PRINT:PRINT “SCORED AT THE END OF ROUND"I
"YOUYsTABC1@) 5P
"COMPUTER"3 TRBC(1@)35C

IF OOF THEN 77@ ELSE IF C=P THEN 788

PRINT "YOU WIN!":Pi=Pi+1

GOTO 780

PRINT "IT WAS A TIE!":G60T0 780
PRINT "I WON!":C1=C1+1:G0T0 780
PRINT :PRINT TRAB(10):;"GAME SCORES"
PRINT

PRINT “YOU"3TRBC(10)3P1



810
820

2850
260

PRINT "COMPUTER":;TAB(1@):C1

PRINT:PRINT "ANOTHER GAME? (Y=YES)"3
INPUT A$:IF A$="Y" THEN Z50

PRINT

IF P1>Ci THEN 870 ELSE IF Pi=C1 THEN 280
PRINT "I WON THE GAMES BY"C1-P1:G07T0 320
PRINT "YOU WON THE GAME BY"P1-Ci1:00TO 920
PRINT "IT WARAS A TIE!'":G0TO S:20
D1=INTC(E+RND(B) ) +1

D2=INT (E+RND(@) 2 +1

D=D1+DZ: RETURN

END
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COmpUETs
crented
POEMS

Description

This program creates poems at random. The computer prints a different
poem every time you run it. A noun-verb-adjective-adverb pattern is
used in developing the poems.

Variable list

C = Group of cards to print (in multiple of fours)
C =5, then start new line
C =6, then print a semicolon (;)
C =18, then poem has ended

| = Word number to print

Sample run

THIS FROGRAM MAKES RANDOM FOEMS.,

SUNSHINE REMAINED OPENLY
GENTLE RAGE SOAREDF OUR RLOOD
STARRY REAUTY GROWS DOWN THIS
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HAFFINESS SHRANK SADLY

RAGE GROWS

ECSTASY RISES OUR

RED YOUNG REMAINED SILENTLY
BESMIRCH DIED

IN US

HOT

AGAIN? (1=YES)T1

IMAGINARY FALLS WITH US

WISE ECSTASY FLOWED: HOT LOVE
RED WONDER PLUNGED SOFTLY SILVER
BEEAUTY MARCHES DOWN

DEATH SINKS

RAGE SLEEFS EBLESSED

WISE ITS REMAINED TENDERLY

WISE FLOWED

MAGICALLY

THIS

AGAINT (1=YES)T1

LOVE SHONE OFENLY

STARRY WONDER SOAREDF RED BEAUTY
INNOCENT JOY SHRANK WITH US COOL
DEATH SHRANK TO SOON

WAR FALLS

HAFFINESS GROWS BLESSED

THIS YOUNG FLOWED WILDLY

MASKED FLOWED

BRRIGHTLY

WISE

AGAINT (1=YES)7?0

LA LA LI LA L

Program listing

FOEM

10@ PRINT:PRINT"THIS PROGRAM MAKES RANDOM POEMS. "IPRINT:PRINT
11@ REM NOUN-VERB—ADVERE PATTERN -- P. WHITE
iz2@ ReAD C

130 DATA 2@ 5 1250 2061123251 1230 2, @0 1.5, 34 2, @



148 DATA 53,2, 5% 2, 1,5:,1.1, 2, 8,5, 1. 2,5, 8,5, 1
158 DATA 18

16@ IF C=18 THEN ZEQ

170 IF COS THEN 200

180 PRINT

198 G070 120

208 IF CO6& THEN 230

2180 PRINT "3"3

220 GOTO 120

230 I=CINTCZ@+RNDC@Y+1)+4~C)
248 PRINT " "3::0G0SUB 250
250 GOTO 120

280 PRINT

278 PRINT

280 PRINT

298 PRINT “"AGAIN? (1=YES3> "3
300 INPUT C

18 IF C=1 THEN 330

315 GOTO 340

32@ PRINT

330 RESTORE:PRINT:PRINT:PRINT:PRINT:PRINT::GOTO 12@
Z40 PRINT:PRINT:PRINT:PRINT: :PRINT:STOP
5@ IF Id1 THEN 260

55 PRINT"LIFE"3:RETURN

IEB IF I>Z2 THEN 370

I3 PRINT “MARCHES® 3 :RETURN
7@ IF IYE THEN Z8@

75 PRINT “MASKED" 3 :RETURN
IB@ IF I)4 THEN =38

85 PRINT “GENTLY"3:RETURN
398 IF IDS THEN 400

395 PRINT "DEATH"3: :RETURN
408 IF I)E THEN 41@

405 PRINT “SHRANK®3 : RETURN
418 IF IX7 THEN 4=0

415 PRINT “LOOMING"j::RETURN
420 IF I)S THEN 438

425 PRINT "PERACEFULLY"3 :RETURNM
430 IF I)9 THEN 4408

435 PRINT "RAGE" 3 :RETURN
440 IF I) 18 THEN 450

445 PRINT "JUMPED" 3 :RETURN
450 IF I 11 THEN 460

455 PRINT "SWEET"3 :RETURN
48@ IF IX1Z THEN 470

465 PRINT "BRIGHTLY"3::RETURN
478 IF 1) 13 THEN 480

4735 PRINT "JOY"35:RETURN

480 IF Id 14 THEN 490

485 PRINT "LAY" 3 :RETURN

432 IF I) 15 THEN 500

435 PRINT "BESMIRCH"3 :RETURN
<@@ IF I)1& THEN S1@

5@5 PRINT -"OPENLY"3:RETURN
510 IF I)17 THEN 520

15 PRINT "FERAR"j;:RETURN
928 IF I)18 THEN 530

G235 PRINT “"RISES":s :RETURN
530 IF I>19 THEN 540

S35 PRINT "BLESSED" 3 :RETURN
540 IF I)ZB THEN 550

545 PRINT "DOWN' 3 :RETURN
930 IF I)Z1 THEN Se@

555 PRINT *JOY*"3:RETURN

S60 IF I)=Z2 THEN 578

SeS PRINT "BURNS"3; :RETURN
S7@0 IF Id 2T THEN 580
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S73
580
85
5390
595
£00
e85
&10
615
&2@
B235
SAT
&3

e4@
645
£330
£55
=120
BES
570
875
&80
£83
90
£95
708
785

70
735
740
745
750
755
768
78S
770
775
780
785
798
795
=00
2085
e10
2815
o

o an

v T34
Tralond

235
240
845
250
855
o268
8e5
878
875
8580
885
290
895
500

PRINT "HOT"3:RETURN

IF Id24 THEN 5902

PRINT “FOR US"3:RETURN
IF 1>25 THEN &80

PRINT “"ECSTASY";:RETURN
IF I)2& THEN 610

PRINT "DIED"::RETURN

IF I)>27 THEN €20

PRINT “RED" 3 :RETURN

IF I)ZB THEN &30

PRINT “SADLY™35:RETURN

IF I>23 THEN E48

PRINT "IMAGINARY'3:RETURN
IF I)3Z@ THEN ESB

PRINT "SHOME"3 sRETURN

IF IdZE1 THEN EBED

PRINT “DUR" 3:RETURN

IF I»32 THEN &70

PRINT "IN US"3:RETURN

IF I)3Z THEN EEB

PRINT "LOVE"3:RETURN

IF I)34 THEN €90

PRINT “SLEEPS"s:RETURN
IF I>3E5 THEN 700

PRINT “GENTLE"3$:RETURN
IF I>3& THEN 710

PRINT "TENDERLY"3:RETURN
IF I)3E7 THEN 720

PRINT "HATRED"3:RETURN
IF Id3B THEN 730

PRINT "SINKS"3 :RETURN

IF I>39 THEN 740

PRINT "COOL"3:RETURN

IF I)4B THEN 758

PRINT "SLOWLY"3:RETURN
IF I>41 THEN 7&@

PRINT "BLOOD"; :RETURN

IF IY42 THEN 770

PRINT "REMAINED":;:RETURN
IF I>43 THEN 788

PRINT "CAPTIVE"3;:RETURN
IF I)44 THEN 730

PRINT "WILDLY"3:RETURN
IF IY45 THEN SD@

PRINT "HAPPINESS" 3 :RETURN
IF I>4E THEN 818

PRINT "“FLOWED"3::RETURN
IF IY47 THEN 2:0

PRINT “NEW"3;:RETURN

IF I>4B THEN 23D

PRINT "SOFTLY"3:RETURN
IF I)43 THEN 240

PRINT "NIGHT"3;:RETURN

IF 1I>5@8 THEN B850

PRINT “"SWELLED"3::RETURN
IF I>51 THEN EE@

PRINT "YOUNG" 3 :RETURN

IF I)32 THEN 878

PRINT "SILENTLY"35:RETURN
IF I)33 THEN B8E0

PRINT “SUNSHINE"; :RETURN
IF IDS4 THEN 290

PRINT "RUNS"3:RETURN

IF I})SS THEN S0

PRINT "INNOCENT"3 :RETURN
I=I+4
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3180 IF IEDG THEN 920

315 PRINT “MAGICALLY"3:RETURN
920 IF Id>E1 THEN 930

325 PRINT “PEACE"::RETURN
I8 IF IYEZ THEN 3408

935 PRINT "GROWS"3; :RETURN
240 IF IDE3 THEN 350

345 PRINT "WISE"3:RETURN

8958 IF I>64 THEN 968

355 PRINT "AGAIN"3; :RETURN
6@ IF IdES THEN 370

963 PRINT "BEAUTY";:RETURN
378 IF I)eE THEN 920

375 PRINT “SOARED"3:RETURN
980 IF IYe7 THEN 390

385 PRINT "STARRY"j;:RETURN
3990 IF Id&B THEN 1000

395 PRINT "BRIEFLY"3;:RETURN
1000 IF I)E9 THEN 1210

1085 PRINT "WAR"3:RETURN
i@12 IF I)7@ THEN 1220

18015 PRINT "FALLS"3 :RETURN
1820 IF Id71 THEN 18370

1@25 PRINT "SILVER"3:RETURN
1830 IF ID72 THEN 1040

1835 PRINT "FOREVER": : RETURN
184@ IF I1X>73 THEN 1052

1845 PRINT "MOONLIGHT" 35 :RETURN
1850 IF I>74 THEN 1060

1035 PRINT "PLUNGED" 3 :RETURN
18608 IF I)75 THEN 1070

1BES PRINT “"DIZZYING" 3 :RETURN
1870 IF I)76 THEN 1080

1875 PRINT "WITH US"3:RETURN
108@ IF I)77 THEN 1092

1885 PRINT "WONDER"3 :RETURN
1@80 IF I>78 THEN 1100

1@35 PRINT "ENDED"3:RETURN
1100 IF I>79 THEN 1112

11805 PRINT “THIS" 3 :RETURN
11180 IF IDE® THEN 1120

1115 PRINT “TOO SDON"j3 :RETURN
1120 IF IDB1 THEN 1i3Q

1125 PRINT “FIRE"::RETURN
1128 IF I)82 THEN 1140

1133 PRINT “COMES"3 sRETURN
1142 IF IDB3 THEN 1150

1145 PRINT "ITS"3:RETURN
115@ PRINT "VIVIDLY"3;:RETURN
11e@ END
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Description

In this game, you and the computer play draw poker against each other.
You both have $100.00 to start the game. The cards are shuffled and
your hand and the computer’s hand are dealt. The computer deals you
5 cards, all face down. Upon completion of the deal the betting begins.
You open with your first bid, betting according to what you have to
start with in your hand. The computer and you both may discard 1or
more cards (but not more than 4) and receive new cards from the un-
dealt portion of the card pack. This is the draw. You may stand pat
and draw no cards if you wish.

After the draw there is another betting round, followed either by
you or the computer calling for the other to show his hand.

Rank of cards

A (high), K, Q, J,10,9,8,7,6,5,4,3,2,A (low). The Ace is low only
in the sequence 5-4-3-2-A.

Rank of hands

1. Royal flush—an ace-high straight flush.
2. Straight flush—5 cards in the same suit, ranking consecutively.
3. Four of a kind—4 cards of the same rank.
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4. Full house—3 cards of one rank and 2 cards of another rank.

5. Flush—5 cards of the same suit.

6. Straight—5 cards in 2 or more suits, ranking consecutively.

7. Three of g kind—3 cards of the same rank.

8. Two pairs—2 cards of one rank and 2 cards of another rank,

with an unmatched fifth card.

9. One pair—2 cards of the same rank, with 3 unmatched cards.

10. No pair—loses to hand above it.

Draw poker probability table

Number of

Hand combinations Odds (hands)
Royal flush 4 1in 649,740
Straight flush 36 1in 72,193
Four of a kind 624 Tin 4,165
Full house 3,744 1in 694
Flush 5,108 1in 509
Straight 10,200 1in 255
Three of a kind 54,912 1in 47
Two pairs 123,552 1in 21
One pair 1,098,240 1in 2
Variable list

A9 = Total amount in pool
B = Amount of money bid by player

B1 = Amount of money bid by computer

B9 = Dollar limit for computer before it decides to ‘‘go out”
C = Type of card

C1 = Rank of computer’s hand

C2 = Computer’s high card

C( ) = Type of card held by computer (by card number)
C1( ) = Suit of card held by computer (by card number)
C9( ) = Number of cards in hand of a particular suit

H8 = Number of cards computer will replace
H9 = High card in current hand
K9 = Number of cards player replaced

M( ) = Type of card held by player (by card number)
M1() = Suit of card held by player (by card number)

P1 = Rank of player’s hand

P2 = Player’s high card

P9 = Amount of money owned by player
S = Suit of card
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Sample run

FORKER

S( ) = Cards picked from deck
T = Rank of current hand
T9 = Card number picked by player to replace
T() = Number of cards in hand of a particular kind

GAME +

ON BETTINGs BET A ZERU TO CALL>»
A NEGATIVE NUMBER TO GO OUT!

CARDS ARE RESHUFFLED.

ANTE OF $ 5.00
YOU HAVE $ 100

HERE

CARD
CARD
CARD
CARLD
CARD

I7LL

OFEN
I7LL

I8 YOUR HAND?

1 I8 A 9 OF CLUES
2 I8 A 2 OF HEARTS
3 18 A 7 OF CLUBS
4 IS A ACE OF HEARTS
5 IS A JACK OF CLUES
FICK MY HAND,

WITH A BRET?10
ACCEFT.,

HOW MANY CARDS TO REFLACE?3
NUMBERT1
NUMBER?2Z
NUMBER?3

CARD
CARD
CARD

HERE

CARD
CARD
CARD
CARD
CARD

I‘LL

IS YOUR HAND:

Is
Is
IS
IS8
IS

ad o e

TAKE

9 OF HEARTS

5 OF DIAMONDS
KING OF SFADES
ACE OF HEARTS
JACK OF CLURBS

>>D>2>D

Ol

CARIDS .

HOW MUCH DO YOU RBET?S

I RAISE $ 3
HOW MUCH DO YOU BETTO

I HAD

ONE

FAIR

WITH A HIGH CARD OF 8 .

YOU HAD NOTHING
WITH A HIGH CARD OF ACE.
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I WON ¢ 23

AGAINT (1=YES)T1

CARDS ARE RESHUFFLED.

ANTE OF % 5.00
YOU HAVE 8 77

HERE I8 YOUR HAND?

CARD 1 A ACE OF SFADES
Carn 2 & 9 0OF HEARTS
Carlk 3 I8 A& JaACK OF CLUBS
CARD 4 A

CARL S & 3  OF HEARTS
IVLL FICK MY HAND.

OFEN WITH A BET?S
I‘LL ACCEFT.

3  OF DIAMONDS

HOW MANY CARDS TO REPLACE?3

CARD NUMBERTI
CARD NUMBER?Z
CARD NUMBERT3

HERE IS YOUR HANDS

CARD 1 I8 & 3 OF CLURS
CARD 2 IS8 A& © OF DIAMONDS
CarD 3 I8 4 % OF CLUBS
CARD 4 IS A 3 OF DIAMONDS
CARD S IS A 3 OF HEARTS

I‘LL TARE 3 CaRDs.
HOW MUCH DO YOU BET?10

I RAIBE % 18
HOW MUCH DO YOU BETTS

I RAISE ¢ 12
HOW MUCH DO YOU BETTI10

I RAISE $ &
HOW MUCH DO YOU BET?10

I RAIGE % ¢
HOW MUCH DO YOU BET?TS

I RAISE ¢ 4
HOW MUCH DO YOU BETTIL0

I Calll

I HAD NOTHING
WITH A HIGH CARD OF QUEEN.

YOU HaD THREE OF & KIND
WITH & HIGH CARD OF 3 .

YOU WON $ 108
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AGAIN? (1=YES)TO
YOU LEFT WINNING $ 1835

REATDIY .

(DA LA LA LA L L L L

Program listing

188 DIM TC13),C8C40, 504, 133 . M5, ML), C(5), 01 (3D
110 CLS:PRINT "POKER GAME. ":P9=100:PRINT
12@ PRINT "ON BETTING. BET A ZERD TO CALL.. ¢
130 PRINT "A NEGATIVE NUMBER TO GO OUTI":PRINT
140 FOR X=1 TO 4:FOR I=1 TO 13:8(X, I3=@B:NEXT I:NEXT X:PRINT
158 PRINT "CARDS ARE RESHUFFLED. "
16@ A9=5:PRINT:PRINT "ANTE OF 35.80":PRINT *YOU HAVE $"3iP9:PRINT
165 PRINT:PRINT "HIT —-ENTER- TO BEGIN..."35:INPUT Z$:CLS
17@ FOR X=1 TO 5:0G0SUB 9z@:M{X:=0iMLOX3=8:NEXT X:505UR 1040
180 PRINT:PRINT "I'LL PICK MY H . "IPRINT
19@ FOR X=1 TO S:00SUB 92@0:CCX1=Ci01(X3=8:NEXKT X
200 GOSUB 1080:Ci=T:10C2=H9:P1=-5
210 PRINT "OPEN WITH A BET"::INPUT Br:IF BB THEM 210 ELSE IF RNDOB) (.2 THEN 230
220 IF INTCCCT#RNDC@Id+13+COHS=RNDI@3 d+10+(T+1B5 03 (B—-(RB/18) THEN 440
230 A9=AS+B:PRINT "I’ LL ACCEPT. ":PRINT
248 PRINT:PRINT “HOW MANY CARDS TO REPLACEY"S3:INPUT K3:IF K9=0 THEN 298
250 FOR X=1 TO K9
ZE@ PRINT "CARD NUMBERY::INPUT T3:G0SUR 328
270 IF T9<¢e THEN 2B@ ELSE PRINT "ENTER CARD MUMBER FROM 1 TO 5. ":G607T0O 268
288 MT2=C:M1(T)=6:NEXT X:GOSUB 18240
290 GOSUB 1@70:FOR X=1 TO S:TMIXd3=T(M(XI2+1:CIMICXI 1=CAML(XIr+1
300 NEXT X:GOSUB &40:Pi=T:0605UEB E80:P2=H3
Z1i0 PRINT:GOSUR 1BE@:HI=0:1IF T)»3 THEN 3508
FZ20 FOR Z=1 TO 5:IF HS=I THEN Z40 ELSE IF T(CC(Z123 {1 THEN 348 ELSE HY=HS+1
ZI0 GOSUBR 920:C(Zi=CiC1{Z)=5
4@ NEXT Z
IS0 PRINT "I’LL TAKE"3;HI:"CARDS. ":HE=HSI
Ie@ GOSUB 108B0:Ci=T:G05UB 20B:C2=HI
Z78 BO=INT(C(C1+RNDCBI 3+ (C2HRNDCBI 2+ (CIA1@2 I+ INT AT/ 30+ (L (KD-HE I 23 +7
8@ Bl=@:PRINT:IF RND(D3 Cl+.35 THEN 38@ ELSE B9=99. 9%
390 PRINT "HOW MUCH DO YOU BET"3:INPUT B
408 PRINT:IF B<(@ THEN 5780 ELSE A3=A9+B1
41@ IF B=@ THEN GOSUR 480
415 GOTO 540
420 IF AS+B{(EY9 THEN 4E&Q ELSE IF AS+B{(BS+(B3/Z) THEN 4508
3@ IF EBS=939.599 THEN 458
440 PRINT "I'M OUT!":0G0S5UB 480:G0DTO S5EQ
45@ PRINT "I CALL!":A9=RA9+B:60SUR 480:60T0 S48
460 Bi=INTCCC(BI9-AD) /33+RNDCBI ) +2: A9=A9+B
478 PRINT "I RAISE $"sB1:GDTO 29@
488 PRINT:PRINT "I HAD "35:T=C1:50SUR 820
490 PRINT "WITH A HIGH CARD OF "5 :C=C2:0508UER S4B:PRINT™. "iPRINT
520 IF Pi=-5 THEN I3
51@ PRINT "YDU HRD "3:T=P1:GOSUE 828
S20 PRINT “WITH A HIGH CARD OF "5:C=P2:G0SBUEB 340@:PRINT ".":PRINT
ZZQ0 PRINT:RETURN
S4@ IF Cl=P1 THEN 252 ELSE IF C1{(P1 THEN 5E0@0 ELSE 570
IS0 IF CZ=P2 THEN 3B@ eLS8E IF Czd{PZ THEN 5B8 ELSE 378
SEB PRINT "IT WRS A TIE!!!Y:iGOTD 356
S7@ PRINT "1 WON $Y35Q3:P3=P3-A3:60T0 550
580 PRINT “YOU WON $"3R%9:P9=PI9+R5
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598 PRINT:PRINT "AGAIN? (Y=YES:“5:INPUT B$:IF B$="Y" THEN 148
&80 PRINT:IF PS(B THEN B3

E1@ IF P9 =108 THEN &0 ZLSE PRINT *YOU LEFT LOSING $":1@B-F9:0807T0 1120

£2@0 PRINT "YOU LEFT WINNING $“3P9:08070 1100

EZ@ PRINT ”YDU OWE ME $"5-P3:060T0O 1103

E48 T=@:FOR I=1 TO 4:IF C9¢I 05 THEN E3@ SLSBE T=5

30 NEXT I:l=z aH9 2

BBl I=I-1:IF I(0 THEN E78 ELSE I=13

E7@ IF T{I) {1 THEN B&@ ELSE HI9=1:IF I 1 THEN EB@ ELSE I=1a

&880 I=I-4

ESQ I=I-1:IF T(Ix (1 THEN 728

708 IF Z<{>1 THEN E38

718 T=T+4:IF I 1@ THEN 728 ELSE IF T=4 THEN 170 ELSE T=T+1

i@ IF I=13 THEN €88 ELSE IF T43 THEN 738 ELSE IF TC(i3{ 1 THEN 730 ELSE H=1
730 IF T=@ THEN 748 ELSE RETURN

748 FOR I=1 7O 1Z:IF T{Ix{4 THEN 7508 ELSE T=7

730 IF TCIDOT THEN 760 ELSE T=T+5:H3=I

JEA IF TCIX O 2 THEN 730 ELSE IF T=5 THEN 780 ELSE IF T @ THEN 770 ELSE HS=0
778 IF H9=1 THEN 780 ELSE IF H®> I THEN 780 ELSE HI=I

788 T=T+1

790 NEXT I:IF T3 THEN 218 ELSE T=T:RETURN

288 IF H5O 1 THEN 218 ELSE HS=14

818 RETURN

Z2@ IF T=@ THEN PRINT “NOTHING":RETURN

838 IF T=1 THEN PRINT “ONE PAIR":RETURN

240 IF T=Z THEN PRINT “TWO PAIR":RETURN

230 IF T=3 THEN PRINT “THREE OF A KIND":RETURN

26@ IF T=4 THEN PRINT “STRAIGHT":RETURN

27@ IF T=5 THEN PRINT “FLUSH":RETURN

8@ IF T=& THEN PRINT “FULL HOUSE":RETURN

888 IF T=7 THEN PRINT "FOUR OF A KIND":RETURN
888 IF T=9 THEN PRINT "STRAIGHT FLUSH":RETURN

818 PRINT "ROYAL FLUSH!!*:RETURN

S0 S=INT(4+RNDC@) »+1:C=INT(1T#RND (@) 1+1

2@ IF S(8.Ci=1 THEN 928 ELSE S(S,Cr=1:RETURN

348 IF C=1 THEN PRINT “ACEY::RETURN

9580 IF C=11 THEN PRINT “JACK"::RETURN

368 IF C=1% THEN PRINT "QUEEN"3 :RETURN

5780 IF C=13 THEN PRINT “KING“3i:RETURN

388 IF C=14 THEN PRINT “ACE"3:RETURN

338 PRINT C3:RETURN

1002 IF S=1 THEN PRINT “ OF HEAQRTS":RETURN

1013 IF §=2 THEN PRINT " OF SPADES":RETURN

18:@ IF S=7 THEN PRINT ©® OF DIAMONDS" :RETLIRN

1828 PRINT " OF CLUBS":RETURN

1040 CLS:PRINT “"HERE IS YOUR HAND:“:PRINT:FOR X=1 TO 5

1850 C=M{X)28=M1 (X3 :PRINT "CARD":X3"IS A ";:GDSUR 24B:GOSUE 1000
1BE@ NEXT X:RETURN

1070 FOR X=1 TO 4:08(X)=@:NEXT X:FOR X=1 TO 1Z:T{X)=B:NEXT X:RETURN
1250 GOSUE 1@7@:F0OR X=1 TO S:T(COXa=T(O(XId+1

1858 C”'"*<X)}=CSCC1(X))+1=NEXT X:GOSUE B4@:RETURN

1188 END
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Description

In this psychological game you take 5 tests. In each test the computer
will draw a design. You are to take that design and draw a picture using
the design in your picture. After you have drawn your picture, you
will answer a question about what you drew. After the 5 patterns have
been drawn, the computer will make a psychoanalysis of your per-
sonality.

The computer uses the technique commonly known in psychology
as projective analysis. This testing technique is one method for describ-
ing inner personality characteristics such as levels of anxiety, tension,
creativity, and self-confidence. The results of the test are based on pre-
determined constructs (statements) that were created through experi-
mental testing of large samples of personalities.

Note

You should draw the picture before reading the question because the
question may influence what you draw. In the enclosed sample run, an-
swers were not entered so that your responses might not be influenced.

Variable list

A = Answer to Test #1
B = Answer to Test #2
C = Answer to Test #3
D = Answer to Test #4
E = Answer to Test #5
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Sample run

THIS I8 A FSYCHOLOGY TEST.

THERE ARE FIVE SHORT TESTS. EACH TEST WILL BE SOME
DESIGN. YOU ARE TO MAKE A FICTURE OUT OF THE DESIGN.
AFTER YOU DRAW THE FICTUREs YOU WILL ANSWER A QUESTION
ON WHAT YOU DREW. AFTER THE FIVE TESTS ARE OVERy

THE COMPUTER WILL MAKE AN ANALYSIS OF YOU.

TEST #1

XXX
XXX

THE DOT IN THE MIDDLE OF THE TEST BLOCK
REFRESENTS IN YOUR FICTURE...

(1) THE CENTRAL SUBRJECT.

(2) THE RIGHT OR LEFT OF THE SUBJECT.
70

TEST #2

KKK KK KKK KK 30K KK KK K K0KOK KKK $OK K K 0K KK K0k %

X X
X X
X X
X X
X X

AORIOK KK K K K K KKK KKK KK KKK KK K KKK KKK Kk
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IN YOUR FICTURE ARE THE FOUR CORNER LINES CONNECTED?
TYFE A 1 FOR YESy OR A 0 FOR NO7O

TEST #3

LR NN

IN YOUR PICTURE DOES THE DESIGN REFPRESENT STAIRS?
TYFE A 1 FOR YESs OR A 0 FOR NO7?O

TEST #4

D N RS
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THE SUBJECT OF YOUR PICTURE IS8...
AN ANIMAL OR FERSON (2) SOMETHING MECHANICAL

(1
TO

TEST &5

O T T S N O N G N
D e . T A I T T

HOW MANY TIMES IN YDUR FICTURE DID YOU DRAW A LINE WHICH
CROSSED BOTH FARALLEL LINES?TO

L D Coh b Db Do b Lok L [

Program listing

FSYCHO

186
118
128
1738
148
158
168
178
175
188
1598
el
218
=3
248
23

2E8
278

]
e
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cLs

PRINT
PRINT
PRINT
PRINT
PRINT
PRINT
PRINT
CLS

PRINT
PRINT
PRINT
PRINT
PRINT =
PRINT
PRINT
PRINT
INPUT
PRINT

"THIS IS A PSYCHOLOGY TEET. ":iPRINT

“THERE ARE FIVE SHORT TESTS. ERCH TEST WILL BE SOmME"
“DESIGN. YOU ARE TO MAKE A PICTURE OUT OF THE DESIGN,
"OFTER YOU DRAW THE PICTURE. YOU WILL ANSWER A QUESTION®
PON WHAT YOU DREW. AFTER THE FIVE TEGTE ARE OVER, ™

YTHE COMPUTER WILL MOWE AN ANALYSIS OF YOU. ":PRINT:PRINT
"HIT —ENTER- TO BEGIN..."35:INPUT 7%

PTEST #1":iPRINT
TABCIS) “X s PRINT TRBC14)"XXX"IPRINT TABRC14)"XXX"
TARCIS)Y “X" s PRINT: PRINT:PRINT

PRINT "THE DOT IN THE MIDDLE OF THE TEST BLOCK"
"REPRESENTS IN YOUR PICTURE...

"1y THE CENTRAL SURJECT®

"eEy THE RIGHT OR LEFT OF THE SURJECTY
A:CLS:PRINT “TEST #2":PRINY

" FETSTEDIRPONPYTSC FRYFEVEPUREH ROV TPY CRYRES STYRPY RP) LES RPSRE LS RPR AR E3% FP S SRS S5+ IELSpu s v 23120 il



290 PRINT TABCSY"X"3TABCIS) "X
IZO0 PRINT TREC4)"X"3TABCIEY "X
1@ PRINT TRAB(II"X"iTABCI7H"XY
20 PRINT TRBCZ)"X"sTRB(ISI "X
40 PRINT:PRINT
ZE@ PRINT TAE(Z)"X"3;TAB(IE) X"
270 PRINT TAECIIUX";TAB(I7) X"
T80 PRINT TABC4)“X"3TAB(IE) "X"
398 PRINT TAB(S)"X"3;TABCIS) "X"
488 PRINT ¢ [EPRYEPTRICER £33 SRR RPURD T3S IPIRPY I SV RELREL KT SRk R b SE R SE 2 S L oy o 2 o o o X #
41@ PRINT
42@ PRINT "IN YOUR PICTURE ARE THE FOUR CORNERS CONNECTED?®
470 PRINT “Y OR N"s:INPUT B$:IF B$="Y" THEN B=1 ELSE B=0
44@ CLS:PRINT “"TEST #3"
450 PRINT
4EB FOR I=1 TO Z:PRINT TQB‘&JJ'"’"‘NEXT I
478 PRINT TAB(IZ)§ !
480 FOR I=1 TO 2:PRINT TQB(J?1§"’"'NEXT I
490 PRINT TRAB(Z3) 5"———————-
500 FOR I=1 TO 2:PRINT TQB( 9)?"’"'NEXT I
51i@ PRINT TARB(ZZ) 3 "————————
520 FOR I=1 TO Z:PRINT TABCZ1)3"" ":NEXT I:PRINT
54@ PRINT "IN YOUR PICTURE DOES THE DESIGN REPRESENT STAIRS?™
550 PRINT "Y OR N"s:INPUT C#:IF Cs="Y" THEN C=1 ELEBE C=0
SE@ CLS:PRINT "TEST #4":PRINT
580 FOR I=1 TO S5:PRINT TQBK&Q);"’"'NEXT I
598 PRINT TAR(I7);"———————-
EQ@ FOR I=1 TO S:PRINT TARCI7) 3" "iNEXT I:PRINT
£20 PRINT “THE SURJECT OF YDUR PICTURE IS..."
E30 PRINT "¢1) AN ANIMAL OR PERSON"TARC3IS5)"(2) SOMETHING MECHANICAL™:
£40 INPUT D:CLS:PRINT "TEST #3*"
ES@ PRINT
EE@ FDR I=1 TO 1@:PRINT TAB(1Z):"’ THEINEXT I
E7@ PRINT
£80 PRINT "HOW MANY TIMES IN YOUR PICTURE DID YOU DRAW A LINE WHICH®
£3@ PRINT “CROSSED BOTH PARALLEL LINES"::INPUT E:CLE
700 PRINT "TESTS COMPLETE."
71@ FOR I=1 TO S@@:NEXT I:CLS:PRINT TAR(ZE):"PSYCHO ANALYSIS" :PRINT
720 IF A=1 THEN 738
@ PRINT "YOU ARE NOT SELF-CENTERED, AND HAVE A ¢
74@ PRINT "GOOD SENMSE OF DESIGN. ":60T0O 760
75@ PRINT "YOU ARE SELF-CENTERED, AND HAVE SELFISH TEMDENCIES. ™
76@ IF B=@ THEN 790
770 PRINT "YOU ENJOY PEOPLE'S COMPANY, AND ARE SOCIAL-MINDED. ™
788 GOTO 220

79@ PRINT "Y0OU PREFER TO BE ALONE AT TIMES. AND ARE NOT A PARTY TYPE.™

g2@ IF C=1 THEN &2

830 PRINT “YOU ARE A NON-CONFORMIST. AND ENJOY DODING THINGS®

S4@ PRINT “BECAUSE YOU LIKE THEM, NOT BECAUSE YOU ARE"

25@ PRINT "“INFLUENCED EBY OTHERS. ":G0T0 &78

260 PRINT “YOU ORE A CONFORMIST. AND YOU FOLLOW THE CROWD.™

878 PRINT

880 IF D= THEN 310

o9p PRINT "YOU ARE NOT MECHANICAL-MINDED. BUT YDOU ARE"

9@@ PRINT “"CONCERNED FOR OTHER LIVING THINGS. ":GOTO 330

9@ PRINT “YOU ARE MECHANICAL MINDED. AND ENJOY WORKING®

97@ PRINT "WITH INANIMATE OBJECTS.”

3308 PRINT

94 IF E(=% THEN 970 ELSE IF E<(=E THEN 18880 ELEE IF E(=18 THEN 1038
g5@ PRINT “"WOW!'! YOUR SEX DRIVE IS VERY.VERY, STRONGI!!!I®

ggp PRINT "THEY'D BETTER KEEP YOU IN A CAGE!":GOTO 1058

g7@ PRINT "YOU HAVE & VERY WEAK SEX DRIVE. AND YOU PROBRELY™

9o@ PRINT “DON'T ENJOY THE COMPANY OF MEMBERS DF THE OPPOSITE SEX."
99 GOT0O 1852

18B@ PRINT "YDUR SEX DRIVE IS5 MEDIUM LOW. YOU DONTT

1P1@ PRINT "MIND BEING WITH MEMBERS OF THE DPPOSITE SEX. "
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1220
igze
1040
1252
1860
1872
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PRINT
PRINT
PRINT
PRINT
PRINT
END

“BUT YOU DON'T PREFER IT EITHER. ":G0OTO

1858

“YOU HAVE A MEDIUM HIGH SEX DRIVE, AND vDu®

"ENJOY BEING

YTHIE I8 THE

WITH MEMBERS 0OF THE OPPOSITE

END OF YOUR PSYCHO-ANALYGIE. "V

SEX. "
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Sample run

ROIINON

(]
\&&\\\\\ A
N g

Rg

Description

A different type of dice game is simulated in this program. The object
of the game is to knock off the following numbers: 1234567 89.

This is done by rolling a pair of dice and totaling them. You then take
that total and knock off as many numbers as you can until your total
reaches zero. You then throw the dice again. If you knock off all the

numbers exactly, then you win. If you roll a number that has been al-
ready knocked off, you automatically lose!

Variable list

A() = Flag to see if number has been picked
A() =0 Then number hasn’t been picked
A()=1 Then number has been picked

C = Number of locations left to knock off
E = Error flag to determine if any moves are left
I = Roll number
L = Number to knock off
W = Games won
W1 = Games lost

THIS 1S THE GAME OF ROLL ON.

0O YOU WANT THE INSTRUCTIONS? (1 FOR YES)T1
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THE ORJECT OF THE GAME IS5 TO KNOCK OF THE FOLLOWING NUMBERS!

1234567 882¢

THIS IS DONE RY ROLLING A PAIR OF DICE AND ADDING THE

TOTALS. YOU THEN TAKE THAT TOTaL AND KNOCK OFF AS MANY
NUMBERS AS YOU CAN UNTIL YOUR TOTAL REACHES ZERO.

YOU THEN THROW THE DICE AGAIN. IF YOU KNOCK OFF

AlLL. THE NUMBERS THEN YOU WIN. IF YOU DON’T KNOCK OFF

ALL THE NUMEERS EXACTLY» THEN YOU LOSE!

HERE IS ROLL 1

YOUR ROLL TOTALS 6

HERE IS THE ROARL: 1 2 3 4 5 & 7 8 9
WHAT NUMBER DO YOU WANT TO KNOCK OFF?S

YOUR ROLL TOTALS 1

HERE IS THE BOARD: 1 2 3 4 4 7 8 9
WHAT NUMBER DO YOU WANT TO KNOCK OFFT1

HERE IS ROLL 2

YOUR ROLL TOTALS 7

HERE IS THE BOARD: 2 3 4 6 7 8 9
WHAT NUMBER D0 YOU WANT TO KNOCK OFF74
YOUR ROLL TOTALS 3

HERE IS THE BOARD: 2 3 & 7 8 9
WHAT NUMBER IO YOU WANT TO KNOCK OFF?3

HERE IS ROLL 3

YOUR ROLL TOTALS 8

HERE IS THE BOARD: 2 6 7 8 9

WHAT NUMBER [0 YOU WANT TO KNOCK OFF7Té
YOUR ROLL TOTALS 2

HERE IS THE BOARD! 2 7 8 ¢
WHAT NUMEBER DO YOU WANT TO KNOCK OFF?2

HERE IS ROLL 4

YOUR ROLL TOTALS 3

HERE IS THE ROARDII? 7 8 9
TOO BAD, YOU LOSE 1t !

ANOTHER TRY? (1 FOR YES)?0

GAMES WON: O
GAMES LOST: 1

(LA LI LA LI LA LI LI I
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Program listing

ROLLON

10@ DIM 5032

118 CLS

128 PRINT "THIS IS THE GAME OF ROLL ON. ":PRINT

173@ PRINT "DO YDU WANT INSTRUCTION?  (Y=YES)"S

148 INPUT A$:CLS:IF A$="Y" THEN i5@ ELSE 25@

150 PRINT "THE DOBJECT OF THIS GAME IS TO KNOCK OFF THE FOLLOWING NUMBERS:®
16@ PRINT

170 PRINT "1 2 2 4 5 & 7 8 3":PRINT

12@ PRINT “THIS IS DONE EY RDLLING A PAIR OF DICE AND ADDING THE®
19 PRINT “TOTALS. YOU THEN TAKE THAT TOTAL AND KNOCK OFF AS MANY®
@@ PRINT “NUMBERS AS YDU CAN UNTIL YDUR TOTAL REACHES ZERO. ™
i@ PRINT "YOU THEN THROW THE DICE AGAIN. IF YOU KNDCK OFF®

=2@ PRINT "ALL THE NUMBERS THEN YOU WIN. IF YOU DON'T KNOCK OFF"
=7@ PRINT "ALL THE NUMBERS EXACTLY. THEN YOU LDOSE!

248 PRINT

250 PRINT "HIT —ENTER- TO BEGIN..."s:INPUT A

ZE@ FOR I=1 TO S:ACII=@:NEXT I:[=0

7@ CLS:I=I+1:PRINT "HERE IS ROLL"I:PRINT

OB X=INT (E+#RND (@) 1+1 s X=X+INT (E+RND(BII+1

9@ PRINT *YDUR ROLL TOTALS"X

IPB PRINT “YHERE IS THE BOARD: "3

71@ FOR L=1 TO S:IF @Adly=1 THEN ZZB ELSE PRINT L3

2@ NEXT L:PRINT:IF X)3 THEN 330 ELBE IF ACX)=@ THEN Z40@

II0 GOSUR SE@:IF E=1 THEN 4358

Al PRINT:PRINT “WHAT NUMBER DO YOU WANT TO KNOCK DFF"3; s INPUT L
IS@ OIF ACLY {31 THEN 7@

TEQ PRINT “THAT NUMBERS BEEN USED. ":G07T0 348

I7B OIF Xy =L THEN 20

=e@ PRINT "THAT NUMBER IS LESS THAN YOUR TOTAL.":G0TO 240

9@ C=P:X=X-L:Aili=1

40 FOR L=1 TO 9:IF AL)Y=0 THEN 418 ELSE C=C+1

410 NEXT L:IF C=2 THEN 420 ELSE IF X=0 THEN Z78 ELSE 230

420 PRINT:PRINT

AZH PRINT "sassiok CONGRATULATIONS, YOU WON sokksest

440 PRINT:PRINT:W=W+1:G0T0 4E8Q

45@ PRINT:PRINT

4E@ PRINT "TO0 BAD. YOU LOSE!!!":PRINT

478 PRINT:Wi=Wi+1

45F PRINT "ANOTHER TRY? (Y=YES)";:INPUT A%

499 IF Ag="vy" THEN 258

Sp@ CLS:PRINT “GAMES WON: s

510 PRINT "GAMES LOSBT: "sWi

S2p GOTO 1228

s5Zp E=@:IF X2 THEN 558

S4@ E=1:RETURN

550 IF XOT THEN 570

se@ IF Dozy=1 THEN S48 ELSE IF Adl)=1 THEN S4Q ELBE RETURN
570 IF X4 THEN 590

=op IF QCIr=1 THEN S4B ELSE IF ACli=1 THEN 540 ELSE RETURN
=9@ IF X3 THEN £:8

EEB IF ACTy=1 THEN E1® ELBE IF A(Z)=1 THEN E1@ ELBE RETURN
£1@ IF Ad4r=1 THEN Z4@ ELSE IF ACid=1 THEN 548 ELBE RETURN
E2@ IF XOE THEN BEQ

oI@ IF BCRy=1 THEN B5® ELSE IF Ad4)=1 THEN £4B ELGE RETURN
E4@ IF ACSHY=1 THEN BS@ ELSE IF Adil=1 THEN ESB ELSE RETURN
E5E IF O¢Si=1 THEN S4B ELSE IF Adld=1 THEN S4B ELSE RETURN
EE@ IF X7 THEN 720

E70 IF Ac4r=1 THEN 708 ELSE IF A(Zr=1 THEN &30

Eep IF ACir)=1 THEN E398 ELSE RETURN

3P IF A(3r=1 THEN 780 ELS5E RETURN

7B@ IF Acir=1 THEN 7i@ ELSE IF A(E)=1 THEN 7i@ ELBE RETURN
7i@ IF ACSi=1 THEN S4@ ELSE IF AdZr=1 THEN 348 ELBE RETURNM
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20
7@
748

1206
1210
1220
1030
1040
1050
1060
1@7@
12E0
1290
1100
1110
1128
11328
1140
1150
1160
1170
1180
1196
1208
121@
1220
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X8 THEN 7358
fCly=1 THEN 778
A{SI=1 THEN 758
AC4)=1 THEN 7E@
AC73=1 THEN 778
ARCZy=1 THEN 780
f(Si=1 THEN 540
X9 THEN 858
ACli=1 THEN BZ0
fAcBI=1 THEN 828
ACZ)=1 THEN 830
A{5)=1 THEN 848
ACZ)=1 THEN 85@
ACZi=1 THEN S48
X310 THEN 358
Adlr=1 THEN 918
ACE)=1 THEN E£3S8
AC3rI=1 THEN S@8
Ac4=1 THEN 910
ACE)=1 THEN 9320
A(SI=1 THEN 938
AC4r=1 THEN 948
AC)=1 THEN 548
X1t THEN 1878

ELSE
ELSE
ELSE
ELSE
ELSE
ELSE

ELSE
ELSE
ELSE
ELSE
ELSE
ELSE

ELSE
ELSE
ELSE
ELSE
ELSE
ELSE
ELSE
ELSE

IF
RE
IF

IF
IF

ACy=1
TURN
ACZi=1

RETURN

AlEr=1
ACIH=1

THEN

THENM

THEN
THEN

7

@

76@ ELSE RETURN

788 ELSE RETURN
S48 ELSE RETURN

ACE)=11 THEN 518 ELSE RETURN

AC2i=1
ACEr=1
Qdar=1
AcCEI=1
RC7)=1

R(T)=1
AC7i=1
Rier=1
ACSI=1
R(7)=1
AlL=1
AlEI=1
ACEI=1

THEN
THEN
THEN
THEN
THEN

THEN
THEN
THEN
THEN
THEN
THEN
THEN
THEN

8z
848
848
858
sS4l

oEd
296
o6
318
328
93
940
S48

%]

ELSE
ELSE
ELSE
ELSE
ELSE

RETURRN
RETURN
RETURN
RETURN
RETURN

RETURN
RETURN
RETURN
RETURN
RETURN
RETURN
RETURN
RETURN

ELSE
ELSE
ELSE
ELSE
ELSE
ELGE
ELSE
ELSE

ACZy=1 THEN 1820 ELSE IF A(9)=1 THEN 9780 ELSE RETURN
ACE)=1 THEN 988 ELSE IF A(l)=1 THEN 9B0 ELSE RETURN
ACEI=1 THEN 998 ELSE RETURN

ACEI=1 THEN 99@ ELSE IF
AC1y=1 THEN 1B10@ ELSE IF A(I)=1 THEN 1010

1810
1020
1050
184G
i858
180

A(Sy=1
A(S)=1
AC7r=1
Acli=1
Ac4r=1
ACZy=1
ACS)=1
ACZr=1
Acgr=1
AC2r=1
AEI=1
ACly=1
ACEI=1

THEN
THEN
THEN
THEN
THEN
THEN
THEN
THEN
THEN
THEN
THEN
THEN
THEN

1150
1090
1120
11208
1120
1141

ELSE
ELSE
ELSE
ELSE
ELSE
ELSE

ELSE
ELSE
ELSE
ELSE
ELSE
ELSE

ACLI=1
Ac4r=1
AS)=1
AC4r=1
AdLy=1
REY=1
RC9r=1
ACZ2r=1
RCLy=1

THEN
THEN
THEN
THEN
THEN
THEN
THEN
THEN
THEN

1140
1158
1190
1ie@
1180
119@
1219
1210

ELSE
ELSE
ELSE
ELSE
ELSE
ELSE
ELSE
ELSE

RETURN

IF Ac4y=1 THEN 18280 ELSE RETURN

IF
RETURN
RETURN

ACZo=1 THEN 10848

IF AdBr=1 THEN 1068 ELSE RETURN

IF AE) =1
IF Adli=1
IF AC7)=1
IF AC2)=1
RETURN

IF AC2r=1
RETURN

IF ACSY=1
IF AC7i=1
IF Aczr=i1
RETURN

IF ACly=1
IF Aclr=1
RETURN

THEN
THEN
THEN
THEN

THEN

540 ELSE IF ACE)=1 THEN 548 ELSE RETURN

1050
1238
1100
1120

ELSE RETURM
ELSE RETURN
ELSE RETURN

1140

THEN
THEN
THEN

THEN
THEN

1158
1160
1150

1198
1210

S4@ ELSE IF ACB)=1 THEN 548 ELSE RETURN

ELSE RETURN
ELSE RETURN

ELSE RETURN
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gl2=4

Description

This is a fast and challenging game of numbers. To play, we select a
single-digit scoring number between 2 and 9. Let’s use 4 as an example.
Then any number with a 4 in it (for example, 14, 24) would score a
point. So would 31 and 28 because 3 + 1 =4, and &/2 =4, and so on.

To begin the game you pick any number that is not a scoring num-
ber. The computer then obtains a new number by taking your old
number and adding, subtracting, multiplying, or dividing the digits in
any order. The computer can also double, square, square root, or halve
the number.

The number 1 is wild, and when it appears as a move the next per-
son may pick any number he wishes, even a scoring number. Entering
a zero on your move gives the computer a point, and the computer then
will tell you a move to make.

A number must be an integer never used before in the game you're
playing. It also must be less than 10 times the scoring number. The last
person to move gets a point.

Here is an explanation of how to play a sample game. The scoring
number is nine.

6/2=3

34 2=9 one point for scoring number 9

94 2=81 two pointsfor1+8=9[+/81=09]
8 X 1=8 multiplied by digits

81 2=64 squared it

64/2 =32 halved it
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3+2=5 add digits

5 X 2=10doubled it

10X 2=20 doubled it

20 X 2=40 doubled it

40 X 2=80 doubled it

No moves left. Last person to move gets the final point.

Variable list

A = Number of the computation to perform
C() = A list of numbers picked

E = Error flag
E=0 Noerror
E=1 Error

L = Counter for numbers picked
N = Number picked
NT = Previous move
N3 = Move for player
O =Ones position of current number
01 = Ones position of previous number
P = Points for number by player
P1 = Points for number by computer
S = Scoring number
T = Tenth position of current number
T1 = Tenth position of previous number
X = Points for player
Y = Points for computer

Sample run

THIS IS A GAME OF SKEEDOQODLE.
DO YOU WANT THE INSTRUCTIONS? (1 FOR YES)71

TO FPLAYs WE SELECT A SINGLE-DIGIT SCORING NUMBER. LET’S
USE 4 AS AN EXAMPLE. THEN ANY NUMBER WITH A 4 IN IT
(IE. 14,24) WOULD SCORE A POINT. S0 WOULD 31 AND 28
BECAUSE 3+1=4, AND 8/2=4, AND S0 ON,.

TO BEGIN THE GAME YOU FPICK ANY NUMEER THAT IS NOT A SCORING
NUMBER. I THEN GET A NEW NUMEER RY TAKING YOUR OLD ONE

AND ADDINGs SUBTRACTING» MULTIFLYINGs, OR LDIVIDING THE DLIGITS
IN ANY ORDER. I CAN ALSD DOURLE. SQUARE, SQUARE ROOT» OR

HALVE THE NUMBER.

THE NUMBER 1 IS WILD' AND THE NEXT FERSON MAY PICK ANY NUMBER
HE WISHES, EVEN A SCORING NUMBER., ENTERING A ZERO ON YOUR
MOVE GIVES THE COMFUTER A FOINT AND IT WILL TELL YOU A MOUVE

TO MAKE.
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A NUMBRER MUST BE AN INTEGER NEVER USED BEFORE IT THE GAME
YOUR PLAYING. IT MUST ALSO BE LESS THAN TEN TIMES THE
SCORING NUMRER. THE LAST FERSON TO MOVE GETS A POINT.

GIVE ME A SINGLE-DIGIT SCORING NUMBER?T?

START OFF WITH THE FIRST NUMBER?T13
MY MOVE 1S 26
YOUR MOVE?3
MY MOVE IS 4
YOUR MOVE?TILZ
MY MOVE IS 24
YOUR MOVE?T2
MY MOVE IS 1
YOUR MOVET49
1 POINT(S) FOR YOU.
MY MOVE IS 7
1 POINT(S) FOR ME.
YOUR MOVE?L14
1 FOINT(S) FOR YOU,
MY MOVE 18 28
YOUR MOVE?4
MY MOVE IS 16
1 POINT(S) FOR ME.
YOUR MOVE?S
MY MOVE IS 64
YOUR MOVE?10
MY MOVE IS §
YOUR MOVE?25
1 FOINT(S) FOR YOU.
MY MOVE IS S0
NO MOVES LEFT.
A FINAL FOINT FOR ME

A TIE!? 3 3

ANOTHER GAME? (1 FOR YES)TO

N N I -

Program listing

SKEEDO

188 DIM (OB
11@ CLS:PRINT “"THIS I5 A GAME OF SKEEDOODDLE. ":PRINT

120 PRINT DO YOU WANT INSTRUCTIDONS? (Y=YES)":;:INPUT A%
170 CLS:IF As="Y" THEN 1270

148 PRINT “GIVE ME A SINGLE-DIGIT SCORING NUMBER"3:INPUT &
15@ L=1:FOR I=1 TO S@:CCi)=0B:NEXT I

160 X=0:Y=0

IF INT(5» (o5 THEN 1E8@ ELSE IF S(I THEN 1288 ELSE IF 5(1@ THEN 200
PRINT "THE SCORING NUMBER MUST BE FROM I 70 3.
PRINT:GOTO 148

PRINTsPRINT “START OFF WITH THE FIRST NUMEER":

INPUT N:GOSUR 1228:IF E=1 THEN 228

GOSUER 1280:1IF P=B THEN 250

PRINT "STARTING NUMBER CAN'T BE SCORING POINT ANDT
PRINT "MUST BE AN INTEGER BEWEEN 1 OND"iS+1@0:0307T0 200
230 Clor=NalL=L+1
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260 Ni=N:Q=B:Pl=0
270 IF N1¢O1 THEN 310 ELSE N=N+1:IF N)S+#1@ THEN 230 ELSE GOSUB 1220
8@ IF E=1 THEN 27@ ELSE GOSUR 1@80@:IF P=@ THEN 270 ELSE PI=P:NI=N:GOTO &28
290 N=N-1:IF N=1 THEN E0@ ELSE GOSUB 1220:IF E=1 THEN =90
300 GOSUEB 1080:P1=0:NZ=N:G0OTO 20
F10 TI=INT(N/1@):01=N-(T1i+1@)

20 N=T1+01:G0SUB 1220:IF E=1 THEN 350
330 GOSUEB 10BB@:IF P(P1 THEN 358 ELSE A=1:Pi=P
Z40 Nz=
50 N=ABS(T1-01):60SUB 122@0:IF E=1 THEN 380
360 GDSUE 1080:IF P(P1 THEN 380 ELSE A=Z:Pli=P
I7@0 Nz=N
T80 N=Ti+01:60SUB 122@:IF E=1 THEN 410
I90 GOSUER 1@8@:IF P(P1 THEN 41@ ELSE A=3I:Pl=P

408 N&=
41@ IF Di=0 THEN 440 ELSE IF N=Ti/01:G0OSUB 122@:IF E=1 THEN 440
420 GOSUB 1@E@:IF P(P1 THEN 440 ELSE A=4:P1i=P

3@ Ni=N
44@ IF Ti=0 THEN 470 ELSE N=01/T1:G0SUB 1220:IF E=1 THEN 47@
450 GOSUB 1@8@:IF P(P1 THEN 470 ELSE A=DI:Pl=P
468 NI=N
470 N=N1+2:0608UB 12z@:IF E=1 THEN 500

488 GOSUB 1088:1IF P{(P1i THEN SB0 ELSE RA=E:Pi=P

498 Nz=

508 N=2%N1:G0SUB 1220:IF E=1 THEN 530

510 GOSUR 1@8@:IF P{(P1 THEN 538 ELSE QA=7:Pl=P

520 Nz=

530 N=SERC(N1>:GOSUB 122@:IF E=1 THEN 5&0

9S40 GOSUE 1@88:IF P{(P1 THEN SE@ ELSE A=B:Pli=P

558 Nz2=N

SE@ N=N1/2:G0SUB 122@:IF E=1 THEN 530

570 GOSUE 1@8@:IF P{(P1 THEN 598 ELSE A=3:P1l=P

580 Nz=

S98 IF AO DB THEN 20

E@@ PRINT "NO MOVES LEFT."
E10 PRINT "A FINAL POINT FOR YOU!":X=X+1:G0TO 3E0@
£20 N=Nz2:CLi=NilL=L+1

@ PRINT "MY MOVE IS"3iN

648 IF Pi=0 THEN BEQ ELSE Y=Y+P1

£5@0 PRINT P13"POINT(S) FOR ME."

BE@ NI=N:T1=INT(N/1@>:01=N-(T1%1@)

E70 N=T1+01:G0SUR 122@0:IF EO1 THEN 790

£80 N=ABS(T1-01>:G0OSUB 122@:IF EO 1 THEN 790
£9@ N=T1+01:605UB 122@:IF EO 1 THEN 730
700 IF 01=0 THEN 710 ELSE N=T1/01:G0SUB 1Zz@:IF E{()1 THEN 790
710 IF Ti=0 THEN 720 ELSE N=01/T1:G0SUB 122@:IF E{O1 THEN 798
720 N=N1+2:00SUB 122@:IF E 1 THEN 790

730 N=2#N1:GOSUR 1220:IF EO 1 THEN 798

748 N=GRR(N1):GOSUB 122@:IF EO 1 THEN 790

75@ N=N1/2:GOSUB 122@:IF EQ1 THEN 798
768 IF Ni=1 THEN 7398
770 PRINT "NO MOVES LEFT.":PRINT "R FINAL POINT FOR ME":Y=Y+l1
780 GOTO 980
798 NI=N
200 PRINT "YOUR MOVE"3;:INPUT N:IF NOB@ THEN 20
21@ PRINT "YOUR MOVE" 3NI:N=NI:VY=Y+1
220 GOSUB 122@:IF E=1 THEN 3938 ELSE IF Nz=1 THEN 340
B30 T=INT(NZ/10):0=N2—-(T+1@>
B84@ IF T+0=N THEN 9408
258 IF ABS(T-D)=N THEN 940
260 IF 0=0 THEN 87@ ELSE IF T/0=N THEN 940
870 IF T=0 THEN 880 ELSE IF O/T=N THEN 3940
8E8@ IF T+0=N THEN 348
890 IF NZ+2=N THEN 948
308 IF 2xN2=N THEN 940
318 IF SERCNZ=N THEN 340
2@ IF NIZ/2=N THEN 940
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0
348
358
2E2
9370

S0
350
1002
1210
1020
1830
1048
1858
12e8@
1870
1260
1290
1100
1118
1120
1120
1148
115@
1160
117@
1160
1150
1200
1210
1220
1230
1240
1250
1260
1270

280
1290
13208
1310
13208
1338
1348
1350
1360
1378
1360
1398
1420
141@
1428
1420
1440

PRINT "ILLEGAL MOVE. ":0G0T7T0O 200
GOSUER 188@:IF P=0 THEN 3578

PRINT
X=X+P

Ccli=nNz

s "POINT (S FOR YOU. "

L=L+1:G07T0 268

PRINT:IF Y>X THEN 1218

IF X=Y
PRINT
PRINT

THEN 12282
CYOU WON", X3Y:X1=X1+1:607T0 1040
"I WON", Y35X

Yi=Yi+1:G0TO 1042

PRINT

PRINT:

INPUT
PRINT
PRINT

T=INTC

"B TIE!'". X3Y

PRINT "ANDTHER GAME? (Y=YEG)":
AE:CLS:IF As="Y" THEN 148

"TOTAL GAMES":PRINT

"YOU"3X1, "ME"SYL:PRINT:GOTO 1440
N/1@3 s 0=N-(T*18) : P=0

IF T=0 THEN 11320

IF T+0 S THEN 1110 ELSE P=P+1

IF ABS(T-0 0SS THEN 1120 ELSE P=P+1

IF T+0(8 THEN 1138 ELSE P=P+1

IF 0=0 THEN 114@ ELSE IF T/0085 THEN 1148 ELSE P=P+}
IF T=@ THEN 1158 ELSE IF 0/TOS THEN 11530 ELSE P=P+i}
IF NeNS THEN 1160 ELSE P=P+1

IF 2#N(OS THEN 1170 ELSE P=P+1

IF SER(NX O35 THEN 1180 ELSE P=P+1

IF N/2OS THEN 11390 ELSE P=P+1

IF TS THEN 1200 ELSE P=P+1

IF OO

RETURN

8§ THEN 1218 ELSE P=P+1

E=@:FOR I=1 TO L:IF CCI3 N THEN 1230 ELSE E=1
NEXT I:IF N=INTCN) THEN 1248 ELSE E=1

IF MY@ THEN 13250 ELSE E=1

IF N{=5+10 THEN 1288 ELSE E=1

RETURN

PRINT
PRINT
PRINT
PRINT
PRINT
PRINT
PRINT
PRINT
PRINT
PRINT:
PRINT
PRINT
PRINT
PRINT
PRINT
PRINT
PRINT
END

"TO PLAY, WE SELECT A SINGLE-DIGIT SCORING NUMBER. LET'GY

"USE 4 AS AN EXAMPLE. THEN ANY NUMBER WITH A 4 IN IT™

“CIE. 14,240 WOULD SCORE A POINT. 50 WOULD I1 AND Zg*

“BECAUSE Z+1=4, AND 8/Z=4, AND 50 ON. ":PRINT

"TO BEGIN THE GAME YOU PICK ANY NUMBER THAT IS NOT A SCORING"
"NUMBER. I THEN GET A NEW NUMBER BY TAKING YOUR OLD OMEY

“OND ADDING , SUBTRACTING, MULTIPLYING, OR DIVIDING THE DIGITE"
"IN ANY ORDER. I CAN ALSD DOUBLE. SQUARE, SEUARE RODT,. OR"
"HALVE THE MNUMBER. ™

PRINT "HIT —-ENTER- TO CONTINUE..."3s:INPUT A:CLS

“THE NUMBER 1 IS WILD ANMD THE NEXT PERSON MAY PICK ANY NUMEBER"
"HE WISHES. EVEN A SCORING NUMBER. ENTERING A ZERO ON YOUR™
"MOVE GIVES THE COMPUTER A POINT AND IT WILL TELL YOU A& MOveE®
“TO MRAKE. ":PRINT

"A NUMBER MUST BE AN INTEGER NEVER USED BEFORE IN THE GAME"
"YOU'RE PLAYING. IT MUST ALS0O BE LESE THAN TENM TIMES THE!

"SCORING NUMBER. THE LAST PERSON TO MOVE GETS A POINT. ":G0TO 148
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Description

Imagine yourself on the S.S. Enterprise as Captain Kirk! This game
simulates in striking detail a space battle using the characters from Gene
Roddenberry’s TV series. An attack by the Klingons on the Enterprise
begins the action in the game. You are given 5 options to use during
the battle. One of these options (3) is a status report. This report deter-
mines new angles to use when firing your weaponry.

To figure out the angle of attack use these formulas along with the

status report:

Enterprise angle + Enterprise turn = new Enterprise angle
Klingon angle + Klingon turn = new Klingon angle

To determine the angle to shoot at, you take your angle (Enter-
prise) plus the Klingon’s angle. It is important to determine new angles
before every firing so that you can shoot the enemy down.

At every option, a new angle of movement is calculated. If either of
you changes direction, you should get a status report to find out new
angles of attack. Obviously, a turn of zero degrees will never change
your current angle.

Distance is important only if you blow yourself up. Warps make no
difference except that it affects the distance apart from the Klingons.
Of course, when your life support reaches zero, you lose! Good hunting!
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Variable list

AT = Angle of Enterprise

A2 = Angle of Klingons

A3 =Turn of Enterprise
A4 = Turn of Klingons

C = Random number generator variable

D = Distance of Enterprise to Klingons

HT = Amount of damage done to shields of Klingons after a hit

H2 = Amount of damage done to shields of Enterprise after a hit

1T = Impulse of Enterprise

12 = Impulse of Klingons

L1 = Life support of Enterprise

L2 = Life support of Klingons
P1 = Warp drive of Enterprise

P2 = Warp drive of Klingons

Q1 = Warp speed of Enterprise

Q2 = Warp speed of Klingons
S1 = Shields of Enterprise
S2 = Shields of Klingons

W1 = Weaponry of Enterprise

W2 = Weaponry of Klingons
X = Distance being traveled by Klingons

Y = Distance being traveled by Enterprise

Sample run

THIS IS A STAR TREK GAME

- FIRE FHASERS

- FIRE PHOTON TORFEDOS
STATUS REFORT

- CHANGE MOVEMENT

- SELF DESTRUCT

[ R TR % B
i

WHAT IS YOUR OFTIONT?3

XXXSTATUS REPORTXkX
ENTERFRISE

SFEED (WARFS) 3

ANGLE 37
TURN 0

LIFE SUPFORT 100
WARF DRIVE 100
IMPULSE 100
SHIELDS 100
WEAFONRY 100

NN N NN

KLINGONS

3

~143
0
100
100
100
100
100

RN NN

MR, SCOTT REFORTS KLINGONS AT 100000 K.M.

CHECKOV REPORTS KLINGONS HAVE CHANGED DIRECTION.
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WHAT IS YOUR OFTION?Z
WHAT ANGLE DO YOU WANT TO SHOOT AT?-106
SULU REFORT A MISS!

HEKWARNINGRKKKL INGONS HAVE FIRED FHOTON TORFEDOS
SFOCK REFORTS YOU SUFFER FROM A DIRECT HIT!

WHAT IS YOUR OPTIONT3
¥XkXSTATUS REFORTHREX

ENTERFRISE KLINGONS
SPEED (WARFPE) 3 3
ANGLE 17 3
TURN 4] -10
LIFE SUPFORT 100 % 100 %
WARF DRIVE o % 100 %
IMPULSE 100 % 100 %
SHIELDS ?1 Z 100 ¥
WEAFPONRY 97 Z 100 %

MR. SCOTT REFORTS KLINGONS AT 100048 K.M.

KERKWARNINGKRKKLINGONS HAVE FIRED FHOTON TORFEDROS
SPOCK REFORTS YOU SUFFER FROM A DIRECT HIT!

WHAT IS YOUR OFTIONT2
WHAT ANGLE DO YOU WANT TO SHOOT AT7?24
MR. SULU REFORTS DIRECT HIT!!

KXKWARNINGXRXXKLINGONS HAVE FIRED PHASERS,
SENSORS SHOW KLINGONS SHOT WIDE!

WHAT IS YOUR OFTION?T2
WHAT ANGLE D0 YOU WANT TO SHOOT ATTO
¥RkADIRECT HITXXX

CHECKOV REFORTS KLINGONS HAVE CHANGED DIRECTION.

WHAT IS YOUR OFTION?3
XXXSTATUS REPORTXXx¥

ENTERPRISE KLINGONS
SFEED (WARFS) 3 2
ANGLE i1 2
TURN 0 14
LIFE SUPPORT 100 % 100 %
WARF DRIVE o % 100 %
IMFPULSE 100 % 100 %
SHIELDS 82 X% 82 %
WEAFPONRY ?4 Z 94 %

MR. SCOTT REPORTS KLINGONS AT 102604 K.M.

XXKWARNINGRXKKLINGONS HAVE FIRED PHOTON TORFEDOS
X¥kDIRECT HITXX

WHAT IS YOUR OFTIONTZ
WHAT ANGLE DO YOU WANT TO SHOOT AT?T29
KXXDIRECT HITXXx

CHECKOV REFORTS KLINGONS HAVE CHANGED DIRECTION.

WHAT IS5 YOUR OFTIONT2
WHAT ANGLE DO YOU WANT TO SHOOT AT?61

SULU REFORT A MISS!

FIOKWARNINGKAKKL INGONS HAVE FIRED FHOTON TORFEDOS
SULLL REFORTS A HIT ON THE ENTERFRISE!
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WHAT IS YOUR OFTIUNT3
XkKSTATUS REFORTRXX

ENTERFRISE KLINGONS
SFEED (WARFS) 3 2
ANGIE 15 2
TURN 0 -5
LIFE SUFFORT 100 % 100 %
WARF DRIVE o 100 %
IMFULSE 100 % 100 %
SHIELDS 64 Z 73 %
WEAFONRY 88 % 91 %

MR. SCOTT REFORTS KLINGONS AT 110128 K.M.

KERXWARNINGKRKKKL INGONS HAVE FIRED FHOTON TORPEDOS
SULU REFORTS A HIT ON THE ENTERFRISE!

WHAT 1S YOUR OFTION?S

KLINGONS TOO FAR AWAY!!

YOU LOSE. MR. SCOTTy SULU» CHECKOVy SPOCKy AND
UHURA REFORT THAT YOU ARE AN IDIOT!!

REALDY .

[ o O O L O O L L D

Program listing

STARTREK v

)

189 Ki=3I.14169/180

110 0i=3:02=7:D=100000:P1=100:P2=100:11=100

170 Al=INT(1E@+RND (@) >-3@:AZ=-(1E80~A1]

120 [2=1@@:L1=100:L:=100:51=100:52=100: W1=100: W2=100

140 CLS:PRINT "THIS IS A STAR TREK GAME":PRINT

15@ PRINT "1 - FIRE PHASERS":PRINT "I - FIRE PHOTON TORPEDOES®
1E@ PRINT "% - STATUS REPCGRT":PRINT "4 - CHANGE MOVEMENT"

170 PRINT "S5 - SELF DESTRULT®

20 PRINT:PRINT "WHAT IS YOUR OPTION"::INPUT 03

199 ON 09 GOTO 220,310,460, 570. 600

PRINT "WHAT?":G0OTO 12@

TF A<l THEN 1B@ ELSE ON A GOTO 2z@,Z1@..480

GOSUE 1@6@:IF ABRS(A-A13) 10 THEN 3I&B ELSE IF D) 1500008 THEN 428
C=INT (T=RND (@) 3+1 tH1=2+INT ({150288-D) /000>

ON C GDTO 250, 26@. 270

PRINT "PHASERS SCORE A DIRECT HIT!!! GOOD SHOOTING!":GOTO &2
PRINT "CHECKOV REPORTS A DIRECT HIT BY PHASERS!":GOTO &20
C=INT(I+=INT(@>3+1:0N C GOTO 288,298,500

PRINT "MR. SULU REPORTS DIRECT HIT!!!":GOTO &20

PRINT “ssok DIRECT HIT %" :1G0TO 820

PRINT "SPOCK REPORTS DIRECT HIT ON KLINGON SHIP!":GOTO &:0
GOSUE 1@E@: IF ABS(A-A13)Z25 THEN 448 ELSE IF D) Z00000 THEN 4730
C=INT (Z+RNDCD) 2 +1 iH1I=INT ¢ (300020-D) /S2008)

ON C GOTD =408, 358,270

PRINT "PHOTON TORPEDDES SCORE DIRECT HIT!":G0OTO 620

_PRINT "SULU REPORTS DIRECT HIT BY PHOTON TORPEDOES":GOTO EZ0
C=INT CE#RNDC@) 3+1:HI=0:ON C GOTO 278, 380

PRINT “CHECKOV REPORTS CLEAN MISS BY PHASERS!":G0TO &0
C=INT C4+=RNDC(B>)+1:0N C GOTO 38@.418, 400

PRINT “YOUR SHOT IS WIDE!":G0TC £20

PRINT “SPOCK REPORTS A CLEAN MISS":G0TO &20@

41@ PRINT "SULU REPDRTS A MISE":G0T0O &:20

47@ PRINT "YOU ARE OUT OF PHASER RANGE":GOTO &Z@
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658
&e0

820
240
850
ZED
870
230
= 1714
31@
= |
b= A
340
950
360
278
320
990
1082
1013
18023
1838
13248
1252
12Ed
1070
128a
1853

118

128

PRINT "YDU ARE OUT OF PHOTON TORPEDC RANGEY:G0OTO &20
C=INT(Z#RND @ 3 +1:H1I=B:IF C=1 THEN 458 ELSE =80

PRINT "CHECKOV REPORTS A MISS RBRY PHOTON TORPEDOES!":G0OTO &208
CLSIPRINT TARRBCS) " STATUS REPORT !

PRINT TARCLS) "ENTERPRISE" TAR(ZD> "KL INGONS"

PRINT "SPEED (WARPSI"TARCZAIQITARBCISIEZ

PRINT "ONGLE"TARC(ZOIAITABCISIAZ

PRINT "TURN"TABC(Z@IAZTABCIS AL

PRINT "LIFE SUPPORT“TRERCZ@ILIVA"TARCISILZ"AY

PRINT "WARP DRIVE"TARCZAIPL"A"TAB(IS) PRYAY

PRINT “"IMPULSEY"TABCZOIII"®"TABCISIIZ" "

PRINT "SHIELDS"TAR(ZOISIMATAR(ISIGZ LY
PRINT "WEAPONRY"TAB(ZBIWIVL"TARCIS W2 L"

PRINT "MR. SPOCK REPORTS KLINGONS AT'D"K.M. ":060TO £20

PRINT "WHAT ANGLE DO YOU WANT TO TURN"3;:INPUT AZ:IF WZ{(ABS(AZ) THEN 570
PRINT "WHAT WARP FACTOR DO YOU WANT TO MOVE TOY3;:INPUT @1

IF @1 INT CWi/Z1i8) THEN 588 ELSE 620

IF D(GOBOe THEN E10 ELSE PRINT "KLINGONS TOO FAR AWAY!!!":G0T0O 990
PRINT "KLINGONS ARE DESTROYED BUT SO0 ARE YDU!":GOTO 1100
PRINT:C=INT (4+RNDC(@22+1:0N C GOTO &48.740, 780, 200

PRINT "asor WARNING #sek KLINGONS HAVE FIRED PHASERS!™

IF D) 20000 THEN 718 ELSE IF RNDCB)).E& THEN 710
C=INT (1@@+RNDC@2 3 +1:IF Y W2 THEN 710 ELSE HZ=INT(Z+(150000-D)/I0000)
C=INT(Z+RND (B3 3+1:0N C GOTD &80.E98. 702

PRINT "#=: DIRECT HIT #+":G0T0 22z@

PRINT "SPOCK REPORTS YOU SUFFER FRDM A DIRECT HIT!":G0TO 220
PRINT “SULU REPORTS A HIT ON THE ENTERPRISE!":GOTO 220
C=INT (2+RNDCDI 3+1:HZ2=0:0N C GOTO 728,730

PRINT "CHECKOV REPORTS A MISS, ":G0OT0 220

PRINT "SENSORS SHOW KLINGONS SHOT WIDE!'":G0OTO 220

PRINT "ssox WARNING ¢ KLINGOMS HAVE FIRED PHDTON TORPEDOES®

IF D) Z00008 THEN 71@ ELSE IF RND(BX).85% THEN 710
C=INTC1@2+RNDC@2 33 IF OYWE THEN 718 ELSE Hz=INT ((ZDD00@-D)/SB000)
GOTO &70

AL=INT CCP2/2)+#RND(B) ~P2/43 :QE=INTC(PZ/181+RND(B) 2

PRINT “"CHECKOV REPORTS KLINGONS HAVE CHANGED DIRECTION. ":G0OTO £20
IF P30 THEN 2B ELSE PRINT "KLINGONS HAVE SELF DESTRUCTED!®

IF D)E02BB THEN 1@10 ELSE PRINT "YOU ARE ALS0 DESTROYED! ! 1":G0TO 1100
Al=A1+AZ+A4:G0=A1 :GOSUE 1070:A1=0:AZ=AZ+AT+A41B=02:C0SUB 1070
AZ=0: X=80R(Dr2+ (QZ+:S0BQ ) + 2 (IwxD+RQI+500B+COS (ABS (AZ1+K1) 1)

Y=8RR (D+2+ (Q1+3500013 +2— (2+D+R1+5000+COS (ARS CAZI4K11 1)
D=INT{(X+Y2 /22 +1300B: HlI=H1+Z: HE=H243: 81 =81 ~HI 1 §2=82~H1
Pl=Pl-HZ/Z2:PE=P2—~HL /20 Wl=Wl-HZ/ Tt W2=Wa-H1 /2

IF S1<@ THEN 880 ELSE IF SZ{(@ THEN 200 ELSE 320

PRINT “MR. SCOTT REPORTS SHIELDS ARE OuT!*®
Ka=11Wi=Wi+51:P1=P1+81:11=11+81:L1=L1+81:81=0:60T0 9350

Pa=Pa+82 i Wa=W2+82: LE=L 2482 I =1 2+82:82=0

PRINT "CHECKOV REPORTE RKLINGDOM SHIELDS ARE OUT!":G0TO 350

IF 51425 THEN 928 ELSE IF S52(25 THEN 24@ ELSE 950

PRINT "SCOTTY REPORTS NUMBER 4 & & SHIELDS HAVE BUCKLED!":G0TO 958
PRINT "SENSORS SHOW THAT KLINGONS SHIELDS ARE WEAK!"
Hi=@:Hz=0:IF L1{10® THEN 968 ELSE IF LZ{10 THEN 101@ ELSE 1030
C=INTC(Z+RNDC@I 2+1:0ON C GOTO 370, 988, 390

PRINT "YOU HAVE BEEN DESTROYED. KLINGONS TAKE OVER!":GOTO 11900
PRINT "YOU HAVE BLOWN UP! YDBU LOSE!*": GOTO 1120

FRINT "YOU LOSE. MR. SCOTT, SULU, CHECKOY. SPOCK. ANDY

PRINT Y"UHURA REPORT THAT YDOU ARE AN IDIOT!!":G0TC 1100

PRINT "KLINGONS ARE DERD, YOU'VE SAVED THE GALAXY!":G0TD 1100
PRINT "SULU REPORTS KLINGONS ARE DEAD! YOU WIN!":30TO 1100

IF L1<(3@ THEN 140 ELSE IF LIZ<(S@ THEN 1050 ELSE 120

PRINT "LT. UHURA REPORTS LIFE SUPPORT IS FRAILING!'“:G0TC 182
PRINT "SENSQORE SHOW KLINGONS ARE ALMOST OUT OF POWER!":G0OTO 18@
PRINT "WHAT ANGLE DC YOU WANT 7O SHDOCT AT":: INPUT OIRETURN

IF A{-188 THEN 1082 ELSE IF ) 1B® THEN 1830 ELSE RETURN
A=_+IEG 1 G0TO 1870

Q=0-ZE2:060T0 1278

END
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Description

A game of playing the stock market is simulated by the computer in
this program. A group of corporations are listed in a table or tabula-
tion board and the player buys and sells stocks for a profit (or loss)
from the corporations on the board. The object of the game is to make
more money than your opponent.

Corporations are created every day to assure continuance of a busi-
ness beyond the usually shorter period of time that a single proprietor
or members of a partnership exist. A corporation can gather together
and obtain far greater amounts of working capital than any single indi-
vidual or a partnership.

A corporation is permitted to produce negotiable certificates allow-
ing ready transfer of ownership and management. These certificates are
commonly called shares of stock. Most shares of a corporation are cre-
ated to provide funds for companies (corporations) to maintain contin-
ued expansion and production growth.

The method of buying and selling stock in this game is as follows.
The player rolls 2 dice, die “A” and die “B.” The player can either
buy “A’ shares of stock in company “‘B” or buy “B" shares of stock
in company “A.” The player can sell “A” and “B” company stocks the
same way. Obviously, the player can’t sell more shares of stock than he
has. There is also a 5% brokerage fee on all money transactions.

In order to make the price of a stock go up or down the player
must use his turn not to buy or sell, but to raise or lower the price of
any stock. This is done by raising stock “A” by “B” dollars or by drop-
ping stock “A” by “B’” dollars. The player can also raise or Jower stock
“B” by “A” dollars.

Everyone starts the game with $50, and the game ends when a per-
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son has $100 cash on hand. The computer is very “bullish,” so all

“bears” beware!

Note

Option 1 is used to buy or sell stocks and Option 2 is used to raise or
lower the price of a stock. A negative number for shares is typed in for

selling or lowering a particular stock.

Variable list

A( ) = Assets owned by each player
A9 = Average cost per share
C( ) = Dollars per share for each stock
C1 = Company number chosen by player
M( ) = Cash on hand for each player
O1 = Option number chosen by player
Q = Number of players in game
S( ) = Number of shares of each stock owned by the players
ST = Number of shares chosen by player
T = Number of dollars each player begins the game with
T1 = Number of dollars needed to win game

Sample run

STOCK MARKET GAME

HOW MANY PLAYERS?2

0 YOU WISH FOR THE INSTRUCTIONS? (1 FOR YES)?1

THIS IS A GAME OF STOCK MARKET. THE ORJECT OF THIS
GAME IS TO MAKE MORE MONEY THAN YOUR OFFONENT.
THIS IS DONE BY BUYING AND SELLING STOCKS FOR A FROFIT.

THE WAY YOU BUY AND SELL STOCK IS AS FOLLOWS. YOU ROLL TWO

DICEs SAY DICE A AND DICE EB. YOU CAN EITHER BUY ‘A’ SHARES

OF STOCK IN COMPANY ‘E‘ OR EUY ‘B’ SHARES OF STOCK IN COMFANY “A7.
THE SAME GOES FOR SELLING EXCEFT, OBVIOUSLY: YOU CAN‘T SELL MORE
SHARES OF STOCK THAN YOU HAVE., THERE IS ALSO A 5% BROKERAGE

FEE ON ALL MONEY TRANSACTIONS.

TO MARKE THE PRICE OF A STOCK GO UF OR DOWN REQUIRES THAT

YOU USE YOUR TURNs NOT TO BUY OR SELLs BUT TO RAISE OR LOWER
THE FRICE OF ANY STOCK. THIS IS DONE BY RAISING ‘A’ STOCK
BY ‘B’ DOLLARS OR RBY DROFFING ‘A’ STOCK RY ‘B’ DOLLARS., IT
ALSO WORKS IN REVERSEF THAT IS YOU RAISE OR LOWER ‘E’ STOCK
BY ‘A’ DOLLARS.
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OPTION 1 IS USED TO EUY OR SELL STOCKS WHILE
OFTION 2 IS USED TO RAISE OR LOWER THE FRICE OF A STOCK,
TO SELL OR LOWER & STOCK, TYFE IN A NEGATIVE NUMBER FOR SHARES.

EVERYONE STARTS THE GAME WITH 50 DOLLARSs AND THE GAME
ENDS WHEN A& FERSON HAS 100 DOLLARS, CASH ON HANDH,

GOOD LUcK ¢ 1

STOCK MARKET TABLE

e GTOCK G mm === KKFLAYER 1%  JkFLAYER 2%  XkFLAYER 3X

NM STOCK NAME $/SHARE SHR  WORTH  SHR  WORTH  6HR  WORTH
1 DIAMONDS INC. 1 o 0 0 0
2 MINI-COMF 4 o 0 o 0
3 MUTUAL MOTORS 3 o 0 o 0
4 MEANCHILD ELEC. 6 o 0 o 0
5 GRANDFA BELL 5 o o0 0o 0
4 BROKE FINANCE 5 o 0 o 0
TOTALS o 0 o o0
CASH ON HANI 50 50
TOTAL ASSETS TO DATE 50 50

AVERAGE COST FER SHARE $ 4 UF 4 DOLLARS FER SHARE.,

IT IS PLAYER 1 'S TURN.

YOU ROLLED A 2 AND AN 4
ENTER OFTION, COMFANYs SHARES71,2-4

IT IS FLAYER 2 8 TURN,

YOU ROLLED A & AND AN 6
ENTER OFTIONs COMFANYs SHAREST1s656

STOCK MARKET TAELE

~~~~~~~~~~ STOLKG-~— === K¥PLAYER 1X XAFLAYER 2% XXkFLAYER 3%
NM STOCK NAME $/SHARE  SHR WORTH SHR WORTH HHR WORTH
1 DIAMONDS INC, 1 0 0 0 0
2 MINI-COMF 4 4 16 0 0
3 MUTUAL MOTORS 3 0 0 0 0
4 MEANCHILD ELEC. & 0 0 0 0
5 GRANIFPA RELL ] 0 0 O 0
6 BROKE FINANCE S 0 0 é 30
TOTALS 4 ié é 30
CASH ON HAND 33.2 18.5
TOTAL ASSETS TO DATE 49.2 48,5

AVERAGE COST FER SHARE $ 4 NO CHANGE.

00 YOU WISH TO CONTINUE?T (1 FOR YES)7?1
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IT IS FLAYER 1 ‘S TURN,

YOU ROLLEDN A & AND AN 4

ENTER OPTION» COMFPANYs SHAREST2r6y~4
THE STOCK FOR COMFANY & NOW COSTS $ 1
IT I8 PLAYER 2 ’S TURN,

YOU ROLLED A 1 AND AN 4
ENTER OPTIONy COMFANY, SHARES?1s1s4

STOCK MARKET TARLE

~~~~~~~~~ STOCKS-—————m——  X¥FLAYER 1X XXkFLAYER 2%
NM STOCK NAME $/8HARE GHR WORTH SHE WORTH
1 DIAMONDS INC. 1 0 0 4 4
2 MINI-COMF 4 4 146 0 0
3 MUTUAL MOTORS 3 0 0 0 0
4 MEANCHILD ELEC, 6 0 0 0 0
S GRANDPA RELL 3 0 0 0 0
é BROKE FINANCE 1 0 0 6 é
TOTALS 4 16 10 10
CASH ON HAND 33.19 14.3
TOTAL ASSETS TO DATE 49,19 24,3

*XFLAYER 3%
SHR WORTH

AVERAGE COST FER SHARE ¢ 3.33 DOWN .67 DOLLARS FER SHARE,

00 YOU WISH TO CONTINUE? (1 FOR YES)%1

IT IS FLAYER 1 ‘S TURN.

YOU ROLLED A 4 AND AN 2
ENTER OFTIONy COMFANYs SHARES?1,2+4

IT IS FLAYER 2 8§ TURN.
YOU ROLLED A S  AND AN 6

ENTER OFTIONy COMFANYy SHARESP2s6535
THE STOCK FOR COMFANY 6 NOW COSTS $ 6

STOCK MARKET TARBLE

********** STOCKG~———mmmem ¥KFPLAYER 1X X¥FLAYER 2%
NM STOCK NAME $/5HARE SHR WORTH SHR WORTH
1 DIAMONDS INC. 1 0 0 4 4
2 MINI-COMF 4 g 2 0 0
3 MUTUAL MOTORS 3 0 0 0 0
4 MEANCHILD ELEC. 6 0 0 0 0
5 GRANDFA RELL 5 0 0 0 0
6 BROKE FINANCE 6 0 0 é 36
TOTALS 8 32 10 40
CASH ON HAND 16,39 14.3
TOTAL ASSETS TO DATE 48.39 4.3
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AVERAGE COST FER SHARE $ 4.146 UF .83 DOLLARS FER SHARE.

0o YOU WISH TO CONTINUE? (1 FOR YES)70

READY .

- - -

Program listing

100 DIiM (B3, 5(3, B, MUY, RCE)

i1B T=S@:REM DOLLARS T0 STRRT GAME WITH

128 Ti=100:REM DOLLARS FOR END OF GAME

178 CLS

140 PRINT TABCEDI"STOCK MARKET GAME":PRINT

16R FOR I=1 TO Z:M(Id=T:NEXT I

17@ PRINT “HOW MANY PLAYERS"::INPUT G:PRINT

18@ IF <1 THEN 170 ELSE IF )3 THEN 17@

19@ FOR I=1 TO &:C(I)=INTC(E#RNDCII)I+1:NEXT I

2@ PRINT "DO YDU WISH FOR THE INSTRUCTIONS? (Y=YES)"3:INPUT A%$

1@ IF As="Y" THEN GOSUE 1220

220 GOSUBR EOR

ZI@ PRINT

4@ PRINT:PRINT:FOR I=1 TO @ .

5@ PRINT "IT IS PLAYER"I"'S TURN.":PRINT

ZEB C=INT(E+RND(@?)+1:18=INT (E+RND(@))+1

=7@ PRINT "Y0OU ROLLED A"CU"AND AN"S

—a@ PRINT "ENTER OPTION. COMPANY, SHARESY::INPUT 01.C1.51

=~g@ IF Cil=0C THEN 380 ELSE IF COABS (81 THEN 2BQ

Tp@ IF S=ABS(S1) THEN 32@ ELSE IF S(OC1 THEN 280

1@ IF ARS(S1)X6 THEN 2B@

2@ IF D1 (O 1 THEN 4ZQ ELSE IF S1<(@ THEN ZEQ

I30 Ca=(Si#C(C100+(, BSH(G1CC13 02

Za@ IF MCI»yC2 THEN ZE@

=5@ PRINT "PERSON“IYDOESN' T HAVE ENOUGH MONEY. ":G0OTO 220

TE@ SCI,01=8¢I,C1lr+81:MCIx=MCI-C2

I70 GOTO 450

IE@ OIF SCI,C12»+51>=0 THEN 400

Tg@ PRINT "YOU DON'T HAVE THAT MANY SHARES -— TRY AGAIN. ":50T0 Rl

400 Co=(Si+C(C1»2— (. @5+(S1+CI(C1I 27

41@ MOId=MCIy+RBE(CE)

428 SCI.C11=8(I,Cli+51

430 IF C(C1»+81>0 THEN AEQ

440 PRINT "YDU CANT DO THAT, STOCK DROPS BELOW ZERO.™
458 PRINT:GOTO 280

4@ CiCiiy=C(Cix+51

A7@ PRINT "THE STOCK FOR COMPANY"CL1"NOW COSTS s L0123

480 FOR F=1 TO 73@:NEXT F

490 PRINT:IF MCI»y=T1 THEN 5S40

5080 NEXT I:PRINTIPRINT

5i@ GOSUR €02

so@ PRINT “DO YOU WISH TO CONTINUE? (Y=YES)"3:INPUT A%
@ IF As="Y" THEN 230 ELSE 1I58

sS40 PRINT:GOSUE EBB:PRINT:PRINT

SEB PRINT  adoiorsubdodsdiohgdobon GEME 185 DOVER FERPORIRX Y PRSP ER PR NRUAE TP TR B0 1 S

=@ PRINT "PERSON"I-1"HAS WON WITH"M(I-13"DOLLARBY

578 PRINT:PRINT

=00 PRINT "s+ CONGRATULATIONS TO PERSON®I-1

598 GOTO 1358
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&20
510

&0
&4
&S
EE
&78
£E20
&30
70
7i@
720
g
74l
750
TEl
770
7E0
790
2508
oll

Lo 0
[l

248
=58
268
250
523
=]
328
AT
341
g bt
==
370
280
858
1200
1ala
12202
18Z@
1848
1050
12ED
1870
1280
1298
112
1118
1120
1128
iia@
1130
1160
1178
1150
120@
121@
1220

CLS

PRINT TAR(S)"STOCK MARKET TABLE":PRINT

PRINT e STOCKE —————mm "3

PRINT TARCZ7)" PLAYER 1 PLAYER = PLAYER Z¢

PRINT "NM STOCK NMAME"TABCL17)"%/SHARE"™:

PRINT TABC2B3I"GHR  WORTH SHR WORTH SHR  WORTH"
A9=G:F0OR I=1 TO E:PRINT IsTABC4):

IF I=1 THEN PRINT “DIAMONDE INC."3;:0607T0 730

2 THEN PRINT "MINI-COMPY3:G0T0O 7302

IF I=zZ
IF I=2% THEN PRINT “MUTUAL MOTORS";:GOTO 730
IF I=4 THEN PRINT “MEANCHILD ELEC.":;:GOTO 730
IF I=5 THEN PRINT “GRANDPA BELL"3;:GOTO 730
PRINT "BROKE FINANCE"::GOTO 730

AZ=A9+CCII:PRINT TABCIZ) ;001
FOR K=1 TO @

PRINT TRABOCIK—-13#140+2723580K, 135

PRINT TRBCCCK—13#143+332 38K, I2+CCI3
NEXT KiPRINT:NEXT I

PRINT:PRINT "HIT ~-ENTER- TG CONTINUE..."5:INPUT Fi(lLS
PRINT TABCAI"TOTALE"S
FOR I=1 TO Z:ACI=0:NEXT I
FOR I=1 TO G:E9=0:C9=0
FOR X=1 TG &
B9=RY+6CI, X
CO=03+ (5L, X0 X2
RO I=ACIY+(80L, X¥=xD (X2
NEXT X

PRINT TABCCCI-13w140+27)3B9

PRINT TABCCCI-10%140+3103C9s
NEXT I:PRINT
PRINT TREC(4)$"CASH ON HAND";
FOR I=1 TO G:MCId=INT(M(II+108)/1008

PRINT TABCCC(I-L0#140+230 sMCI0 s s ACI =R I1+MC T
NEXT I:PRINT
PRINT TREC4)3"TOTAL ABSETS TO DATE":
FOR I=1 TO Q:PRINT TABCCOI-1¥+142+28) 3R
NEXT I:tPRINT:PRINT
PRINT "AVERAGE COST PER SHARE $'3
AS=A9/E:09=INT (A9+100) /1008
PRINT A93

IF A9-AB OB THEN 1820

PRINT * NO CHANGE. ":G0TO 10882

IF A9-AB(B THEN 10508

PRINT " UP"3;AS-AB:"DOLLARS PER SHARE. "
G070 1262

PRINT " DOWN"3:AE-A9:;"DOLLARS PER SHARE. M
o=A%

PRINT:PRINTtRETURN

CLS

PRINT "THIB IS A GAME 0OF STOCK MARKET. THE OBJECT OF THISH

PRINT "OGAME IS TO MAKE MORE MONEY THAM YOUR OPPONENT. ™

PRINT "THIS IS5 DONE RY BUYING AND SELLING STOCKS FOR A PROFIT.™

PRINT

PRINT "THE WAY YOU BUY AND SELL STOCK IS AS FOLLDOWS. YOU ROLL TWO"
PRINT “DICEs SAY DICE A AND DICE B. YOU CAN EITHER BUY 'A" SHAREZ"
PRINT "0OF STOCK IN COMPANY "R’ OR BUY "B’ SHARES OF STOCK IN COMPANY™
PRINT "*Q’., THE GAME GOES FOR SELLING EXCEPT. OBVIOUSLY, YOU CANTT®
PRINT "GQELL MORE SHARES OF STOCK THAN YOU HAVE. THERE IS ALSD A 5%t
PRINT "BROKERAGE FEE ON ALL MDNEY TRANSACTIONS.

PRINT:PRINT "HIT —ENTER- TO CONTINUE..."s:INPUT Z:CLS

PRINT "TO MAKE THE PRICE OF A STOCK GD UP OR DOWN REQUIRES THAT®
PRINT "Y0O4J USE YOUR TURN, NOT TO BUY OR SELL. BUT TO RAISE OR LOWER®
PRINT "THE PRICE OF ANY STOCK. THIS IS DONE BY RAISING *R® STOCK®
PRINT “"BY "B’ DOLLARS OR BY DROPPING "R’ STOCK BY B’ DOLLARS. IT®
PRINT "ALSD WORKS IN REVERSE: THAT IS5 YOU RAISE OR LLOWER "B® STOCK®
PRINT "EY "0Q° DOLLARS.: PRINT



1278 PRINT
1280 PRINT
1288 PRINT
1708 PRINT
131@ PRINT
1328 PRINT
1748 PRINT
S:RETURN

1Z5@ END

"OPTION 1 IS USED TO BUY OR SELL STOUKS WHILEY

"OPTICN 2 I85 USED TO RAISE CR LOWER THE PRICE OF & STOCOK. ™

“TO SELL OR LOWER A STOCK, TYPE IN A NEGATIVE NUMBER FOR®
"SHARES. " PRINT

SEYERYONE STARTS THE GAME WITH*TYDOLLARS. AND THE GAME"

"ENDS WHEMN A PERSON HAS"T1"DOLLARS. CABH ON HAND. "

“GOOD LUCK ¢ v 1 1O sPRINTIPRINT "HIT —-ENTER- TO BEGIN..."3:iINPUT
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Description

Enter any alphanumeric phrase into the computer, and it will make a
readable paper tape of that phrase through your teletype punch.

Variable list

C = Position in data table for information
C1 = First of 5 lines punched to created character
C2 = Second of 5 lines punched to create character
C3 = Third of 5 lines punched to create character
C4 = Fourth of 5 lines punched to create character
C5 = Fifth of 5 lines punched to create character
K = Character count when entering phrase
L() = Phrase entered to be punched
S = Option number



Sample run

THIS FROGRAM WILL MAKE READABLE FAFER TAFE.

DO YOU WANT THE INSTRUCTIONST (1 FOR YES)71

OFTION EXFLLANATION
1 PRINTS A BLANK LEADER.
2 ACCEPTS UF TO 40 ALFHANUMERIC CHARACTERS
TO BE PUNCHED INTO READARLE TAFE,
3 EXITS FROM THE FROGRAM.

FUT ON TAPE FUNCH AFTER HEARING RELLS. THERE IS

A 5 SECOND DELAY AFTER THE EBELLS. WHEN THE FROGRAM
1S DONE PUNCHINGy THERE IS ANOTHER DELAY AROUT 10
SECONDS LONG. BE SURE TO SHUT OFF FUNCH

DURING THAT INTERVAL,

IF YOU HAVE A FHRASE LONGER THAN 60 CHARACTERS
SIMFLY USE OFTION 2 AS MANY TIMES AS NECESSARY,
BUT BE SURE TO SHUT OFF THE PUNCH WHEN IT‘S DONE
FUNCHING OUT EACH 60 CHARACTERS.

ANY CHARACTER ON THE KEYBOARD MAY BE USED. SFACES
TYFE QUT AS S BLANKS,

OFTIONTZ2

INFUT THE FHRASEs NO MORE THAN 60 CHARACTERS.
HIT RUBOUT TO DELETE THE LAST CHARACTER AND
HIT RETURN WHEN DONE WITH THE FHRASE.

COMFUTERS ARE FUN ! !

OFTION?3

3

98008 08330 e4se0 90680 @ seecs 0ecoce
° ® ° ® e o

® © oces0 & ®

®

.............................................................................................

° I3 @
sesa0 o ® eveee

see
L1 1Y
see

READY .

(o O O O O O b L Db Do
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Program listing

TAFLAE

180 DIM L(603

11@ CLs

120 PRINT "THIS PROGRAM WILL MAKE READABLE PAPER TAPE. "
130 PRINT

148 PRINT "DO YOU WANT THE INSTRUCTIONG? (Y=YES)"i;:INPUT L%
150 CLS

168 IF L$="Y" THEN 180 ELSE 4208

180 PRINT "OPTION", "EXPLANATION®

13980 PRINT

200 PRINT " 1", "PRINTS A/ BLANK LEADER."

538

540

&70

760
778
780
730
coe

138

PRINT " ", "TO BE PUNCHED INTO READABLE TAPE. "

PRINT " 3", "EXITS FROM THE PROGRAM. "

PRINT

PRINT "PUT ON TAPE PUNCH ARFTER HEARING THE BUZZIER. THERE"
PRINT "IS A 5 SECOND DELAY AFTER THAT. WHEN THE PROGRAM"
PRINT "IS DONE PUNCHING, THERE IS ANOTHER DELAY AEBOUT 1@"
PRINT "SECONDS LONG. BE SURE TO SHUT OFF PUNCH®

PRINT “DURING THIS INTERVAL."

PRINT:PRINT "HIT —-ENTER- TO CONTINUE..."3::INPUT Z:CLS
PRINT "IF YOU HAVE A PHRASE LONGER THAN &8 CHARACTERS"
PRINT “SIMPLY USE OPTION 2 AS MANY TIMESAS NECESSARY, "
PRINT "RBUT BE SURE TO SHUT OFF THE PUNCH WHEN IT’S DONE"
PRINT "PUNCHING THE &0 CHARACTERS."

PRINT

PRINT "ANY CHARACTER ON THE KEYBOARD MAY BE USED. SPACESY
PRINT "TYPE OUT AS 5 BLANKS."

PRINT * 2","QACCEPTS UP TO EB@ ALPHANUMERIC CHARACTERS"

PRINT

PRINT "HIT -ENTER- TO BEGIN..."s2INPUT Z

K=@

CLS:PRINT "OPTION"3:zINPUT S

PRINT:ON S GOTO 490,.52@, 740

PRINT "INCORRECT OPTION, TRY AGAIN. ":G0TO 430
GOSUR 750

FOR I=1 TO 4@:PRINT CHR$(@3 :NEXT I

GOTO &&d

PRINT "INPUT THE PHRASE, NO MORE THAN &@ CHARACTERSG. “
PRINT "HIT ~ENTER~ WHEN DONE WITH PHRASE. " :PRINT
INPUT K%

GOSUER 758

Z=LENCK$) :IF Z)>E@0 THEN 430

FOR N=1TOZ:X=ASC(MID® (K$: N, 13)
C=X-22+1:RESTORE

IF C=1 THEN &108

FOR I=1 TO C-1:READ C1,CZ,CE,C4,CSNEXT I
READ Ci1.C&.CE.C4.CS

PRINT CHR$<C1)

PRINT CHR$CC2)

PRINT CHR$CCZ)

PRINT CHR&(C4>

PRINT CHR$(CS>

NEXT N

FOR F=1 TO 1SB@:NEXT F

GOTO 430

GOTO i@se

FOR I=1 TO 1@0:0UTZ255,6:0UT25S, @:NEXT I:REM BUZIER
FOR I=1 TD ZE5@@:NEXT I:RETURN

DATA @.0.06.0.08.8,0,95,08,8

bDATA @, 36, @, 36, @, 20, 62, 20, &2, 20
DATA 58, 73, 127,73, 48, 96, 99, €8, 83, 399
DATA 2Z,41,21.2,5.8,0,96.0@.0



DATA
DATA
paTA
DATA
DATAH
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
pATA
DATA
DATAH
DATA
END

2,0, 28, 34, 65,65, 34,28, 0, 0

42,28, 127,28, 42. 8. 8,64, 6,8

2.1.7.2.0.8.8,.8,8.0

2.2,1.2.@, 3, 4,8, 16, 36

127,687, 73,987,127, 1,1, 35 835 1
iRE,79,7%.89, 121,73, 75, 75,75, 119
120,8,8, 8,127, 123,73, 73, 75,79
127,75, 7%, 753,79, 84,684,711, 72, 96
Sl 732 73575, 50, 128, 72,72, 72, 127

2. 2,20,0.8.8, 2, 20, 0.8,

@, 2+ 20, 34, 65, 20, 20, 28, 20, 20

£5, 34, 28,8, 0, 112. 64, 77,72, 1208

2.8.0.0, 0

15, 56, 72, 56, 15, 127,73, 75,75, 54
127,685, €85, 85, 65, 127, £5, 65, 65, 62
127,75, 73, 73,65, 127,72, 72, 72, 64

£2. 65, 69,69, 183, 127,8, 86,8, 127

ES, €5, 127,65, 85, 71,85, 127, 64, B4
127.8, 20, 36,65, 127, 1. 15 1, 1
127,48, 24, 48, 127, 127,48, 8,6, 127
127,65, €5, 85, 127, 127, 72,72, 72, 120@
127,65, 69,67, 127, 127,88, 84,82, 113
12175, 75, 73, 79, 64, 64, 127, B4, B4
127, 1,1, 1. 127,112, 12, 1, 12,112
1277 51 27 61 1:71 991 5‘(—? 201 547 99
12@,9, 18, 12, 128,75, 77,73, 89, 1803
127.65, £5, 65,8, 96, 16,8, 4, %

®. 65, €5, 85, 127, 16, 32, 127, 35, 1&

139



gume

of

fenni

140

S

T~

Description

Tennis anyone? This program simulates a tennis singles (2 players)
match. You play against the computer.

A singles tennis match is the best 2 out of 3 sets. A set is a series of
games wherein 1 player has won at least 6 games and in every case has
won 2 more than his opponent. The player must win by a 2-game mar-
gin. Normally a set is won by the scores: 6-0, 6-1, 6-2, 6-3, or 6-4.
However, a set may be won by scores: 7-5, 8-6, 9-7, etc.

A game of tennis is won when the first player wins 4 exchanges of
shots (hitting the ball in a position on the court away from the oppo-
nent). Again the player must win by a margin of 2 exchanges.

The scoring of tennis is as follows:

The first point (exchange) won is referred to as “15.”

The second point won is “30."”

The third point won is “40.”

The fourth point and final point won is simply “Game.”

“Deuce’ is when the players are tied at 40 each.

“Advantage’’ refers to the first point scored after deuce by either
piayer. It is either your or your opponent’s advantage.



“Love’” means zero in tennis.
The server’s score is always referred to first (i.e., 15-40).

In the computer game there are several options open to you, such as
your position on the court, placement of the ball on the court, and the
speed of the ball. Your option is specified by a number given to you by
the computer. You will always be allowed to serve first and backhand
and forehands will be assumed. Good luck! The computer has been
taught its game by a very famous tennis pro!

Variable list

A9 = Type of serve (first serve)
B = Way in which computer’s shot went bad
B9 = Type of serve (second serve)
C = Probability of serving a let serve (first serve)
C9 = Type of shot attempted by player
D = Probability of making the serve (first serve)
G = Probability of serving a let serve (second serve)
H = Probability of making the serve (second serve)
| = Probability of serve not being returned (first shot)
N = Probability of serve not being returned (second shot)
Q = Positioning of player for return of shot
R = Area of court shot aimed for
S = Probability of return being good
U = Way in which player’s shot went bad
W = Probability of computer’s return being good
Y = Points scored by player
Y1 = Games won by player
Z = Points scored by computer
Z1 = Games won by computer

Sample run

TENNIS GAME!

THIS PROGRAM WILL SIMULATE A TENNIS SINGLES MATCH.
THERE ARE SEVERAL OFTIONS AVAILARLE TO YOU AS TO FOSITIONY
FLACEMENTs AND SFEED (TYPE) OF SHOT. THE KEY THAT YOU
UsSge I8

FOSITIONS (FLACEMENTS TOO):

LEFT BACKCOURT
RIGHT BACKCOURT
LEFT FORECOURT
RIGHT FORECOURT

P TS

141



SFEED (TYFE) OF SHOTS:

1 FAST SLaAM
2 S1.0W LOB

ALWAYS SFECIFY YOUR OFTION BY NUMRER, YOU WILL BE ALLOWED
TO SERVE FIRST IN ALL GAMES.

BACKHANDS AND FOREHANDS WILL BE ASSUMED.
GOOD LUCK!

SERVE! TYFE?1
SERVE IS BAD
SERVE AGAIN! TYPET1
SERVE IS RAD..,.DOUBRLE FAULT!

SCORE-FOINTS YOU, .. ME
0 1

SERVE! TYFE?L
SERVE HAS EEEN RETURNEID. ..

WHAT IS YOUR FOSITION?4

WHAT TYFE OF SHOT ARE YOU MAKINGT?Z

WHAT FART OF THE COURT ARE YOU AIMING FORTI1
YOUR RETURN IS GOOD!
COMPUTER’S RETURN IS GOOD!

WHAT IS YOUR POSITIONT2
WHAT TYFE OF SHOT ARE YOU MAKINGTI
WHAT FART OF THE COURT ARE YOU AIMING FORT3

YOUR RETURN IS GOOIV!
COMPUTER’S RETURN IS Goom!

WHAT I8 YOUR FOSITIONT1
WHAT TYFE OF SHOT ARE YOU MAKING?Z
WHAT FPART OF THE COURT ARE YOU AIMING FORTZ2

YOUR RETURN IS GOOD!
NICE SHOT-THE COMFPUTER COULDN’T REACH IT
SCORE-FOINTS YOU. . .ME
1 i
SERVE! TYPE?L
SERVE HAS REEN RETURNED ...
WHAT I8 YOUR FOSITIONTI
WHAT TYPE OF SHOT ARE YOU MARING7?I
WHAT FART OF THE COURT ARE YOU AIMING FORT4
YOUR RETURN IS5 GOOD!
NICE SHOT-THE COMFUTER COULDIN'T REACH IT

SCORE-FOINTS YOU. .. ME
2 1
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SERVE! TYFET1
SERVE IS ERALD

SERVE AGAIN! TYFET1
LET SERVE...TAKE 1
SERVE AGAIN! TYFE?L

SERVE IS GOOD...ACE!

SCORE~-FOINTS YOU. . + ME

3 1
SERVE! TYFET1
SERVE IS RAD
SERVE AGAIN! TYFET1

SERVE IS EADL...DOURLE FAULTI

SCORE-FOINTS YOU. .. .ME

3 2
SERVE! TYFET1
SERVE IS RAD
SERVE AGAIN! TYFETL

SERVE IS BRAD...DOURLE FAULT!

SCORE~-FOINTS YOU. . .ME
3 3

SERVE! TYFET]
SERVE IS GOOD...CAN‘T BE RETURNED!

SCORE-FOINTS YOU. . ME
4 3

SCORE-GAMES YOU. . ME

i 0

SERVE! TYFE?

I R - -

Program listing

100 CLS:PRINT "TENNIS GAME!":iPRINT

11@ PRINT " THIS PROGRAM WILL SIMULATE A TENNIS SINGLES MATCH. "

17@ PRINT "THERE ARE SEVERAL OPTIONS AVAILABLE TO YOU AS TO POSITION,
1Z@ PRINT "PLACEMENT. AND SPEED (TYPE) OF SHOT. THE KEY THAT YOU*®

148 PRINT "USE IS:":PRINT:PRINT “POSITIONS (PLACEMENTS TOO):"

15@ PRINT

1E@ PRINT "1":3TABCS) s "LEFT BRACKCOURT™

17@ PRINT "Z2"sTRABC(S) 3 "RIGHT BRACKCDURT®

180 PRINT "Z"3TABCS) s "LEFT FORECOURTY

1980 PRINT "4"3TABC(S) $"RIGHT FORECOURT®

195 PRINT:PRINT "HIT —ENTER- TO CONTINUE..."s:INPUT F:CLS

PP PRINT:PRINT “SPEED (TYPE) DF SHOTS:":PRINT

1@ PRINT "1"3TABRCS) $“FAST SLAM":PRINT “"Z"3TAB(S) $"SLOW LOB":PRINT
2@ PRINT "ALWAYS SPECIFY YOUR OPTION BY NUMBER. YOU WILL BE RLLOWED"
Z3@ PRINT "TD SERVE FIRST IN ALL GAMES. ":PRINT '

=4@ PRINT "BACKHANDS AND FOREHANDS WILLL BE ASSUMED. ":PRINT

25@ PRINT "GO0OD LUCK!®
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Y=0:7=0

PRINT

PRINT

PRINT * SERVE! TYPE"S

INPUT A3

A=180+RNDB

IF A9=2 THEN 410

C=&

D=51

IF AC THEN 258

IF A<D THEN =58

PRINT TARC1@33"SERVE IS BADY

GOTD 440

PRINT TAB(1@)3"LET SERVE..TAKE TWO.
GOTO =298

C=4

D=E&

GOTO =58

PRINT TARC1@) 5 "SERVE AGRAIN! TYPE" 3
INPUT B3

E=108+RND (@)

IF BS9=2 THEN GED

G=5

H=41

IF EXG THEN 35408

IF E<H THEN 590

PRINT TARAB(1®) :“SERVE IS5 BAD...DOUBLE FAULT'!"
GOTO 1ic@

PRINT TABC1@)3"LET SERVE...TAKE 1"
GOTOD 440

G=2

H=7&

GOTO SBB

I=100+RND (@)

IF I)& THEN £2@

PRINT TAE(1@»3"SERVE IS5 GOOD...ACE!'"
GOTO 1140

K=100+RND (@

IF AS=2 THEN 700

IF B9=Z THEN 708

N=E1

IF K(N THEN 720

PRINT TARC1@>:"SERVE IS GOOD...CAN'T BE RETURNED!'!"
GOTO 114@

N=76&

GOTO &70@

PRINT TAEB(1@);"SERVE HAS BEEN RETURNED..."
PRINT

O=INT C4+RNDC@)Y 2 +1

PRINT “WHAT IS YDUR POSITION";
INPUT-.Q

IF 0+2=5 THEN 1110

PRINT "WHAT TYPE OF SHOT ARE YOU MAKING"S
INPUT CS

PRINT "WHAT PART OF THE COURT ARE YDU AIMING FOR"j3
INPUT R:EPRINT

5=188+RND (@)

IF C9=X THEN B2t

IF 8(81 THEN 340D

GOTO 878

IF 8<(31 THEN 9248

U=44RND (@)

PRINT TRE(Z@»s;"YOUR RETURN IS BRD..."
IF U2 THEN 928

PRINT TABCIZIs"HIT OUT-OF-BOUNDS®
GOTO 11e8

PRINT TABCIZZ)s"HIT INTO NET®

GOTO 11&0

PRINT TABCZ@»3"YDOUR RETURN IS GOOD!Y




550

960

270

980

390

1000
1010
19020
1070
1040
1050
1060
1070
1280
1290
i10e
1110
1128
1170
1140
1150
1160
117@
1160
1196
1200
1210
1220
1270
1248
1250
1260
1270
1280
1290
1700
1710
1320
1330
1240
1356
1260
1378
1380
1390
1400

PRINT:A1=INT (4:RNDCB )

IF R+A1=5 THEN 1138
W=18@+RND(@)

IF C9=2 THEN 390

IF W<B4 THEN 1290

GOTO 1220

IF W(84 THEN 1090

B=4+RND (2}

PRINT TAR(Z@);"COMPUTER'S RETURN IS BAD..."

IF B{(Z THEN 1070

PRINT TARCIZZ)S"HIT OQUT-OF-BOUNDS"

GOTO 1140

PRINT TARC3IZ3s"HIT INTO NET"

GOTO 1148

PRINT TAB(Z@);"COMPUTER'S RETURN IS GOOD'Y

GOTD 7i@

PRINT " MICE TRY YOU WERE UNMABLE TO REACH THAT SHOT-COURT
GOTO 11ie@

PRINT * NICE SHOT-THE COMPUTER COULDN'T REACH IT"
Y=Y+1

GOTO 117@

Z=7+1

PRINT

PRINT TAEB(S) ;"SCORE-POINTS YOU. .. ME™

PRINT TABCZ1d5Ys" "3Z

IF Y=4 THEN 1230
IF Z=4 THEN 1250

GOTO =70

Yi=Yi+1

GOTO 1260

Z1=71+1

FOR F=1 TO E@:PRINT “-"3;:NEXT F:PRINT
PRINT TAB(1S):"SCORE GAMES YOU. . . ME™
PRINT TAR(ZZ)3Y1:"  "3Z1

IF Yi=E& THEN 1320

IF Zi=& THEN 1350

GOTO 260

PRINT

PRINT "seb#: CONGRATULATIONS. .. YOU WON #okaer®

GOTO 1270

PRINT

PRINT "s##s#k AS PREDICTED, THE COMPUTER IS AGAIN TRIUMPHANT #ubebak”
PRINT

PRINT “"LET’S PLAY AGAIN SOME TIME. RIGHT NOW I NEED SOMEY
PRINT "COOLING FROM MY FANG!! Byg! 1"

END

#'0
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Sample run

THIS IS A GAME OF

I'M ‘0’y YOUR

146

X

[ CEIAGEIUE

Xlo XloX
olaly oldlx
XX X1Q|0
81010~ f|o|X
O X X -o10+to
Kol ol XX
oY |0

01 -3H518
Pro Xt Xx|o

Description

An old favorite is created in this program. The game of tic-tac-toe is
printed out and you play against the computer. Remember, the com-
puter has a memory and won’t lose twice the same way!

Variable list

C = Number of moves made in game
C1 = Number of moves made by player
C( ) = Positioning of board (1 for computer, 2 for player)
E = Error flag to determine if test made is valid (O means no error)
G = Game number
M = Moves of players
W( ) = Winning moves of player for each game
X1 = Number of games won by player
X2 = Number of ties

Y1 = Number of games won by computer

TIC~-TAC-TOE,



FOSITIONS ARE:R

3
é
@

el a1 o]

1
4
7

I71.L. GO FIRST.

MY MOVE IS: 3

WHAT IS YOUR MOVE?1
MY MOVE I8: 3

WHAT IS YOUR MOVETY
MY MOVE IS5:! 4

X
0
X

0

[

WHAT IS YOUR MOVETé
MY MOVE 1IS: 8

0
X

X
0
X

o a

WHAT IS YOUR MOVE?T2
MY MOVE I8 @

X X 0
o 0 X
X 0 0
IT’S A TIE!!

ANOTHER GAME? (1=YES) 71

FOSITIONS ARE:

3
6
?

scJR&: I N}

1
4
7

T/LL 60 FIRST.

MY MOVE I8% 3

14



WHAT IS YOUR MOVET?
MY MOVE 1I8: 3

[ B =
X i Q

WHAT IS YOUR MOVET?
MY MOVE IS: 8

SO
x 1o

X

WHAT IS YOUR MOVET2
MY MOVE IS: 4

X QO
Q0O X
oS B =

WHAT IS YOUR MOVET6S
MY MOVE I8! 1

0 X 0
0 0 X
X 0 X
IT’S A TIE!!

ANOTHER GAMET (1=YES) 70

FINAL SCORE?

YOU © ME O TIE(S) 2

READY .

I Y - - - -

Program listing

7

TICTACV/x

12@ DIM G031, WIT72,5)

110 CLS:PRINT "THIS IS A GAME OF TIC-TAC-TOE. ":PRINT
120 PRINT:PRINT "I'M 707, YOU'RE®X'.":PRINT

130 PRINT:PRINT “THE POSTIONS ARE ":PRINT

14@ PRINT "1 =& 3Z¢

6“

158 PRINT "4 O
18@ PRINTY "7 & 9"
1ES PRINT:PRINT "HIT -ENTER~ TO BEGIN..."s:INPUT Z:CLS

170 G=G+1
180 IF B<)>72 THEN 19@ ELSE G=1

148



510
520
S0

eEd
E70

220

oo
[ R}

FOR I=1 TO 9:C(I=0:NEXT I:C=8:Ci=0
RESTORE: IF RND(@» (.5 THEN 220

PRINT “I’LL GO FIRST.":PRINT:GOTO 00
PRINT "YQOU GO FIRST.":PRINT

FOR Z=1 TO 1@@@:NEXT 2

PRINT:PRINT "WHAT IS YDUR MOVE"::INPUT M:CLS
GOSUR 650

IF E=@ THEN 270

PRINT "ILLEGAL MOVE. ":GOTO 2@
CiMiI=2:G0SURB 780:C=C+1

Cl=Cl+1:W(G, C1i=M

IF E=1 THEN S48 ELSE IF C=9 THEN 540

M=1

IF CCMY )P THEN 338 ELSE C(Miy=1:G0SUB 7E8
IF E=1 THEN S@0@ ELSE C(M)=0

M=M+1:IF MO 10 THEN 310

M=1

IF CcMy ()@ THEN 370 ELSE C(M)=Zz:GDSUB 780
IF E=1 THEN 490 ELSE C(M)=0

M=M+1:IF MO 18 THEN 250

IF G=1 THEN 45@ ELSE I=1

E=@:FOR M=1 TO Ci

IF WCI,My=W(G, M) THEN 410 ELSE E=1

NEXT M:IF E=1 THEN 440

M=W(I.M+1):IF M=0 THEN 440

IF C(MI)=@ THEN 430

I=I+1:IF IOG THEN 330

IF RND(@3 (.4 THEN 480

READ M:IF C(M> (@ THEN 450 ELSE 450

pATA 5,7,3,9 1,E.8,4, 2
M=INT(D+RND(@2)+1:IF C(M)=0 THEN 450 ELSE 4EQ
CiMy=1

PRINT "MY MOVE IS:"35M

PRINT:GOSUB E90:GOSUB 780

IF E=1 THEN 558

C=C+1:IF C=9 THEN 550 ELSE 270

PRINT :GOSUB &30

PRINT:IF =0 THEN 580 ELSE IF @1 THEN 570

PRINT "I WON!!'!":Y1=Y1+1:G0T0 550
PRINT "YOU WON!!!":Xi=X1+1:G0T0D €00
PRINT "IT'S A TIE!! ":X2=XZ+1

FOR I=1 TO S:W(G, I2=B:NEXT I:G=0G-1
PRINT:PRINT "ANOTHER GAME? (Y=YES)"::INPUT A%
CLS:IF As="Y" THEN 130

PRINT:PRINT "FINAL SCORE:":PRINT

PRINT “YDU"X1" ME"YL" TIE(S)"XZ
PRINT:PRINT:GOTO 9106

E=@:IF M{(1 THEN E7@ ELSE IF M2 THEN E7DQ

IF CcM>=@8 THEN &80

E=1

RETURN

FOR I=1 70 3

PRINT " "3;:IF CCI3O0@ THEN 720

PRINT "-"3:G60T0 740

IF CCId ¢y THEN 732 ELSE PRINT "0"s:GOTO 740

PRINT "X"3

IF I/7ZO INTCI/Z) THEN 780

PRINT:GOTO 770Q

PRINT ™ "3

NEXT I:RETURN

E=0:0=C(5):IF @=8 THEN 2408

IF Cciy) )@ THEN B1@ ELSE IF C(3)OR THEN £1@
E=1:RETURN

IF CC3 R THEN 828 ELSE IF C(7)=0 THEN E00
IF CC2) 0 THEN 238 ELSE IF CdB)=0 THEN B0
IF Cca) i THEN 248 ELSE IF C(E6)=k THEN S0
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Q=Ccir:IF B=8 THEN 878
IF Coz) OB THEN 2@ ELSE
IF Ccax s THEN 870 ELSE
B=C03):IF O=0 THEN 300
IF CcZ) OB THENM B398 ELSE
IF CC72 OR THEN 30@ ELSE
Q=@ RETURN

END

IF COZr=0 THEN
IF Co73=0 THEN

IF Ciei=0R THEN
IF CC8i=0 THEN

S0d
a1t

o008
ool



All About Stocks, Ira U. Cobleigh, Weybright and Talley, New York,
1970.

BASIC CAPS-11 Documentation Kit—Getting Started with BASIC/
CAPS 11 Document, Digital Equipment Corporation, Maynard,
Massachusetts, 1972.

Basketball Rules in Pictures, edited by A.G. Jacobs, Grosset & Dunlap
Publishers, New York, 1966.

Biorhythm: A Personal Science, Bernard Gittelson, Arco Publishing
Company, Inc., New York, 1975.

Casino Gambling, Virginia L. Graham and C. lonescu Tulcea, Van
Nostrand Reinhold Company, New York, 1976.

Computers and Man, Richard C. Dorg, Boyd & Fraser Publishing Co.,
1974.

Creative Computing, Creative Computing Press, Morristown, New
Jersey, 1977.

Ed Faulkner’s Tennis, Edwin J. Faulkner and Frederik Weysmuller, The
Dial Press, New York, 1970.

Games, Games Publications, Inc., New York, 1977.

Introduction to Probability Theory with Computing, |. Lauria Snell,
Prentice-Hall, Inc., Englewood Cliffs, New Jersey, 1975.

Measurement and Evaluation in Psychology and Education, Robert L.
Thorndike and Elizabeth Hagen, John Wiley & Sons, Inc., New York,
1969.

The Official Rules of Card Games, the United States Playing Card Com-
pany, 1974,

PDP-8 BASIC BOOKS—8K BASIC Document, Digital Equipment
Corporation, Maynard, Massachusetts, 1968.

Sports llustrated Book of Golf, by the editors of Sports /llustrated
and Charles Price, ]. B. Lippincott Company, Philadelphia and New
York, 1970.
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Computer
Games

By J. Victor Nahigian
& William S. Hodges -

An exciting and challenging collection of games designed
especially for your TRS-80 microcomputer! Nahigian and Hodges
have provided complete programs for a wide variety of highly
entertaining games, from the traditional to the new and unusual,
including:

Basket Escape Poker
Biorhythm Fish Psycho
Blackjack Golf Roll On
Boggle Gunner Skeedoodle
Bullet Horse Star Trek
Compat Jackpot Stocks
Date Kismet Taplab
Dogs Notone - Tennis
Easter Poem - Tic-Tac-Toe

Each game is written in BASIC programming language for use with
your Level II TRS-80 computer. Complete programming notes,
probability tables and amusing illustrations add to the fun and
instructional value of Computer Games.

Radio Shack E A Division of Tandy Corporation
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